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Q1) a) What is Management Accounting? State the advantages of Management
Accounting?  [15]

OR
b) The following information is obtained from Godrej Ltd., Gulbarga for

the year ended 31st March, 2019.
Sales (1,00,000 Units) Rs. 1,00,000
Marginal Cost Rs. 60,000
Fixed Cost Rs. 30,000
Calculate:
i) P/V Ratio
ii) BEP (Sales- Value)
iii) Margin of Safety
iv) Profit when Sales are Rs. 15,000
v) Sales When Profits are Rs. 1,40,000

Q2) a) What is Budgetary Control? Explain Advantages and Limitation of
Budgetary Control. [15]

OR
b) Prepare a Flexible Budget for Overhead expenses on the basis of the

following data relating to Aspro Ltd. Ajmer and determine the overhead
rates at 70%, 80% and 90% capacity level.

P.T.O.
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Overhead Expenses At 70% Capacity
A) Fixed Overheads:

i) Plant Depreciation 52,000
ii) Buildings Insurance 23,000
iii) Premises Rent 1,65,000

B) Variable Overheads:
i) Stores and Spares 91,000
ii) Unproductive Labour 35,000
iii) Indirect Expenses 14,000

C) Semi-variable Overheads
i) Power and Fuel (Variable-70%) 1,00,000
ii) Repairs and Maintenance 20,000

(Fixed-30%)
Total 5,00,000

The estimated direct labour hours at different capacity levels are as under:

Capacity Level Direct Labour Hours
70% 62,500 Hrs.
80% 76,000 Hrs.
90% 94,000 Hrs.

Q3) a) What is Mean by Marginal Costing? Explain Cost-Volume-Profit (CVP)
Analysis. [15]

OR
b) Find out Re-order Level, Maximum Level, Minimum Level and Average

Stock Level from the following particulars: [15]
Normal Consumption 300 units per day
Maximum Consumption 420 units per day
Minimum Consumption 240 units per day
Re-order Quantity 3,600 units

Minimum Period for receiving the goods –10 days
Maximum Period for receiving the goods –15 days
Normal Period for receiving the goods –12 days

Q4) Write Short Notes on (Any Three): [15]
a) Limitations of Financial Accounting
b) Break-Even-Point
c) Make or Buy Decision
d) Working Capital Management
e) Factors affecting Pricing of a Product


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Q1) Multiple choice questions (Any Six) : [6]
a) Which is not the R&D approach for implementing strategy?

i) Market new technological product
ii) Innovator imitator of successful products
iii) To be a low cost provider
iv) Production planning

b) Which is the issue to be considered in strategy implementation?
i) Project Implementation ii) Procedure Implementation
iii) Resource Allocation iv) All the above

c) A company will be successful only when the strategy ________ is sound
& ________ is excellent.
i) Implementation, Formulation ii) Formulation, Implementation
iii) Both (i) & (ii) iv) None of these

d) The task of strategy choice involves:
i) developing plans and activities which will improve the organisation’s

performance and competitive position
ii) determining how the organisation can be more market and efficiency

oriented
iii) monitoring whether the organisation is achieving good financial

performance
iv) keeping the organisation free of debt

e) Strategic mission ________.
i) is a statement of a firm’s unique purpose and scope of operations,
ii) is an internally-focused affirmation of the organisation’s societal

and ethical goals,
iii) does not limit the firm by specifying the industry in which the firm

intends to compete,
iv) is developed by a firm before the firm develops its strategic intent

P.T.O.
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f) _______ means starting all over, starting from scratch.
i) Benchmarking
ii) Strategic Change
iii) Business Process Re-Engineering
iv) Strategic Leadership

g) What are the means by which long term objectives will be achieved?
i) Strategies ii) Policies
iii) Strength iv) Opportunities

h) Marketing strategy is a ________ type of strategy.
i) Business Level ii) Growth strategy
iii) corporate strategy iv) Functional strategy

Q2) What is Strategy Implementation? Explain Social and Ethical issues in Strategy
Implementation. [14]

Q3) What is Strategic Planning? Explain various Advantages and Limitations of
Strategic Planning. [14]

Q4) Explain the Concept of Mission Statement and Social Responsibility. [14]

Q5) What is Strategic Performance Evaluation? State its Problems in detail. [14]

Q6) Write short notes on (Any Two): [12]
a) Environmental Sustainability Strategy
b) CSR Strategy
c) Six Sigma
d) SWOT Analysis


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à.à.à.à.à.1) ~hþn`m©̀ r àíZ. (H$moUË`mhr 6) [6]
A) aUZrVr am~{dÊ`mH$[aVm g§emoYZ Am{U {dH$mgmMm Ñï>rH$moZ H$moUVm Zmhr?

i) ZdrZ Vm§{ÌH$ CËnmXZ ~mOmamV AmUUo
ii) `eñdr CËnmXZm§Mo ZdH$ënZm AZwH$aU H$aUo
iii) H$_r qH$_VrMo àXmVm hmoUo
iv) CËnmXZ {Z`moOZ

~) ì ẁìhaMZm A§_b~OmdUr_Ü ò H$moUË`m _wÔçmMm {dMma Ho$bm OmVmo?
i) àH$ën A§_b~OmdUr ii) à{H«$`m A§_b~OmdUr
iii) g§gmYZm§Mo dmQ>n iv) darbn¡H$s gd©

H$) Oo§ìhm H§$nZrMo ................. YmoaU `mo½` Agob Am{U ................. CËH¥$ï> Agob V§oìhmM
H§$nZr `eñdr hmoB©b.
i) A§_b~OmdUr, V`mar ii) ì ẁìhaMZm V`mar, A§_b~OmdUr
iii) XmoÝhr (i) Am{U (ii) iv) darbn¡H$s H$mhrhr Zmhr

S>) ì ẁìhaMZm {ZdS>rÀ`m H$m`m©_Ü ò ho g_m{dï> Amho.
i) `moOZm Am{U CnH«$_ {dH${gV H$aUo Á`m_wio g§ñWoMr H$m ©̀j_Vm Am{U ñnYm©Ë_H$ pñWVr

gwYmaob
ii) g§ñWoMr ~mOmanoR> d H$m ©̀j_Vm A{YH$ H$er hmoD$ eH$Vo ho R>adUo
iii) g§ñWm Mm§Jbr Am{W©H$ H$m_{Jar H$aV Amho H$s Zmhr `mMo {ZarjU H$arV Amho
iv) g§ñWm H$O©_wŠV R>odUo

B) ì`whaMZm Yoæ` åhUOo ....................
i) H§$nÝ`m§Mo A{ÛVr` CÔoe Am{U {H«$`mMo ì`már ho {dYmZ Amho
ii) g§ñWoÀ`m gm_m{OH$ Am{U Z¡{VH$ CÔrï>m§Mr A§VJ©V - H|${ÐV à{VkmnÌ Amho
iii) Á`m CÚmoJmV ñnYm© H$am`Mr Amho Agm CÚmoJ {Z{X©ï> H$éZ _`m©{XV H$aV Zmhr
iv) Amnbm YmoaUmË_H$ hoVy {dH${gV H$aÊ`mnydu H§$nZrÛmao {dH${gV Ho$bo OmVo
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’$) .................... åhUOo gwadmVrnmgyZ  gwédmV H$aUo, gwadmVrnmgyZ gwé hmoUo.
i) _mZH$ ii) YmoaUmË_H$ ~Xb
iii) ì`dgm` à{H«$`m nwZ: A{^`m§{ÌH$s iv) ì ỳhaMZmË_H$ ZoV¥Ëd

¶) H$moUË`m àH$mao XrK©H$mbrZ CÔrï>o gmÜ` Ho$br OmVmV.
i) ì`yhaMZm ii) YmoaUo
iii) gm_Ï ©̀ iv) g§Yr

a) {dnUZ ì ỳhaMZm .................... àH$maMr ì ỳhaMZm Amho.
i) ì`dgm` nmVir ii) dmT> nmVir
iii) ì`mdgm{`H$ YmoaU iv) H$m`m©Ë_H$ ì ỳhaMZm

à.à.à.à.à.2) ì ẁhaMZm A§_b~OmdUr åhUOo H$m`? ì ỳhaMZm A§_b~OmdUrVrb gm_m{OH$ Am{U Z¡{VH$ g_ñ`m
ñnï> H$am. [14]

à.à.à.à.à.3) ì ẁhaMZm {Z`moOZ åhUOo H$m`? ì ẁhaMZm {Z`moOZmMo {d{dY \$m`Xo Am{U _`m©Xm ñnï> H$am. [14]

à.à.à.à.à.4) Ü ò̀  dmŠ` Am{U gm_m{OH$ O~m~Xmar g§H$ënZm ñnï> H$am. [14]

à.à.à.à.à.5) ì ẁhaMZm H$m_{Jar _yë`_mnZ åhUOo H$m`? Ë`mÀ`m g_ñ`m Vnerbdma gm§Jm. [14]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUVohr XmoZ) [12]

A) n`m©daUr` emœV ì ẁhaMZm

~) CSR ì`whaMZm

H$) {gŠg {g½_m

S>) SWOT {díbofU


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Q.1) What do you mean by Accounting Theory? Explain the various Approaches
to Accounting Theory. [15]

OR
Write Short Notes. (Any 3)
i) Voluntary Winding up
ii) Accounting Environment
iii) Intrinsic Value of Shares
iv) IFRS and Indian Accounting Standards
v) Value of Goodwill or Cost of Control

Q2) A Co. Ltd. purchased shares of B Co. Ltd. and C Co. Ltd. on 1st January and
1st July, 2023. The Balance Sheets of all the companies on 31/12/2023 are
given below: [15]

Balance sheet as on 31st December 2023
Liabilities A Co. Ltd. B Co. Ltd. C Co. Ltd.

      Rs.      Rs.     Rs.
Share Capital: 2,00,000 80,000 1,20,000
Equity shares of Rs.100 each
8% Preference Shares
of Rs. 100 each - 30,000 -
General Reserve 10,000 - 4,000
Profit & Loss Account
01/01/2023 20,000 10,000 -
Current Year Profit 15,000 8,000 16,000

P.T.O.
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Trade Creditors 40,000 10,000 6,000
Loan from A Co. Ltd. - 4,000 -
Bills Payable - - 4,000

Total 2,85,000 1,42,000 1,50,000
Assets A Co.Ltd. B Co.Ltd. C Co.Ltd.

Rs. Rs. Rs.
Fixed Assets 40,000 42,000 65,000
Investments in Subsidiaries:
500 Equity Shares in
B Co. Ltd. 70,000 - -
200 Preference Shares
in B Co. Ltd. 25,000 - -
800 Equity Shares
 in C Co. Ltd. 84,000 - -
Loan to B Co. Ltd. 4,000 - -
Current Assets:
Stock 30,000 25,000 28,000
Debtors 21,000 30,000 20,000
Bills receivable from
C Co. Ltd. 2,000 - -
Bank 9,000 45,000 37,000

Total 2,85,000 1,42,000 1,50,000

The following particulars are available:
a) Dividend for the year 2022 in respect of Preference Shares in B Co. Ltd.

was accrued to the date of acquisition of shares by A Co. Ltd., the same
being paid in 2023.

b) The fixed assets of C Co. Ltd. include plant purchased in September,
2023 from A Co. Ltd. for Rs. 2,600. The cost of the same to A Co., Ltd.
who are plant manufacturers, was Rs. 2,000 and credit for the profit was
taken by the company.

c) B Co. Ltd. held at 31st December, 2023 stocks of Rs. 5,000 purchased
from A Co. Ltd. who invoiced the goods at cost plus 25 percent.

d) The loan to B CO. Ltd. was made on April, 2023 and it carried interest
@ 6%. Neither was any interest paid nor any provision made for the
same. Taxation to be ignored.

You are required to prepare consolidated balance sheet of the group as on
31st December 2023.
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Q3) A winding up order has been issued against M/s Madan Ltd. The following
information is obtained with regard to the assets and liabilities as on 31st

March, 2024. [15]
Particulars Rs.

Freehold Premises (Book-value Rs. 4,50,000) valued at 3,75,000
First Mortgage of Freehold Premises 3,00,000
Second Mortgage of Freehold Premises 1,12,500
8% Debentures carrying a floating charge on
the undertaking. interest due
1st June and 1st January and paid on due dates 1,50,000
Managing Director’s emoluments (6 months)  22,500
Staff Salary unpaid (one month) 16,000
Trade Debtors -
Good 31,500
Doubtful (Estimated to realize 50 per cent) 12,900
Bad 72,750
Plant and Machinery (Book value Rs. 2,47,500)
Estimated to realize 1,74,000
Bank Overdraft unsecured 58,125
Stock (at cost Rs. 50,850) estimated to realize 33,900
Cash on hand 825
Issued Capital:

Equity Shares of Rs. 10 each fully called up 1,50,000
Calls in Arrears Rs. 3,000 estimated to realize 1,500
Unsecured Creditors 2,96,250
Contingent Liability in respect of a claim for damages
Rs. 37,500 estimated to be settled for 18,000

Income Tax Liability:
For 31st March, 2022 5,250
For 31st March, 2023 1,275
For 31st March, 2024 2,700 9,225

The Reserves of the company on 31st June, 2023 7,500
You are required to prepare Statement of Affairs in the books of M/s Madan
company Limited as on 31st March 2023.
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Q4) Following is the summarized Balance Sheet of M/s Vijay Company Ltd.,
Pune as at 31st March, 2024. [15]

Balance Sheet as on 31st March 2024

Liabilities Rs. Assets Rs.

5,000 Equity Shares of  Machinery 2,40,000

100 each 5,00,000 Furniture 1,00,000

Share Premium 1,00,000 Stock 6,20,000

General Reserve 2,39,400 Debtors 2,06,000

Profit and Loss A/c 1,57,600 Cash in Hand 3,400

Sundry Creditors 4,09,400 Cash at Bank 4,34,000

Provision for taxation 1,97,000

Total 16,03,400 Total 16,03,400

Additional Information:
a) The company transfers 20% of its profits (after tax) to General Reserve.
b) Net profits before taxation of the last three years have been as follows:

Year ended 31st March 2022 Rs. 3,35,000
Year ended 31st March 2023 Rs. 3,66,000
Year ended 31st March 2024 Rs. 3,94,000.

c) Machinery is valued at Rs. 3,20,000.
d) Average yield in this type of business is 20%.
e) The rate of tax is 50%.
Calculate the value of one equity share on the basis of:

i) Net Assets Method / Intrinsic value
ii) Yield Basis / Market Value
iii) Fair Value.

… … …



Q1) Fill in the blanks selecting suitable choice (Any six). [6]

i) Income Tax is imposed by ________.

a) State Government b) Central Government

c) Both of the above d) Constitution of India

ii) Highest Administrative Authority for Income Tax in India is ________.

a) Finance Minister b) CBDT

c) President of India d) Director of Income Tax

iii) Income-tax Act, 1961 applies to ________.

a) Whole of India b) Whole of India excluding J&K

c) Maharashtra d) All of the above

iv) ‘Income’ includes ____________

a) Legal b) Illegal

c) Both d) None

v) Assessment Year is the period of 12 month commencing on 1st day of
_______.

a) April every year b) December every year

c) July every year d) January every year

Total No. of Questions : 6]
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vi) Gross Total Income means Aggregate of Incomes under all heads of
Income _________.

a) After claiming deduction u/c VI-A

b) Before claiming deduction u/c VI-A

c) Income for which no deduction u/c VI-A

d) None of the above

vii) Share of the profits from the firm by the partner is ________.

a) Fully taxable b) Fully Exempt u/s 10(2A)

c) Fully taxable u/h “Salary” d) Exempt upto Rs. 2.5 lacs

viii) Interest on Gold Deposit Bonds and bonds issued by LA is _____.

a) Exempt b) Taxable

c) Partly Exempt d) None of the above

Q2) Mr. Ram working as ‘Manager’ in a Gurukrupa Pvt. Ltd. Nashik has submitted
the following data regarding his Income. [14]
1. Basic Salary Rs. 37,500 p.m.
2. D.A. 30% of Basic Salary (Consider for Calculation of Provident Fund)
3. City Compensatory Allowance Rs. 2,250 p.m.
4. H.R.A. Rs. 4,500 p.m.
5. He stays in rental house at Nashik by paying rent Rs. 9,000 p.m.
6. Children Education Allowance Rs. 900 p.m. (having one son and two

daughters)
7. He contributed Rs. 6,000 p.m. towards his Recognized Provident Fund

and an equal amount is contributed by employer.
8. Interest on Recognized Provident Fund @ 12% p.a. is Rs. 43,200.
9. He received Rs. 15,000 by way reimbursement of the hospital bill.
10. He paid Rs. 2,500 as a Professional Tax.
11. He has paid Rs. 10, 000 for annual premium of Life Insurance Policy.
You are required to compute taxable income from salary of Mr. Ram for the
A. Y. 2024-25 as per old regime.
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Q3) Mr. Bharat owns two houses. He furnished the following particulars in respect
of the houses for the financial year 2023-24. [14]
Particulars House I House II
Municipal Valuation 1,25,000 3,50,000
Fair Rent 1,00,000 2,25,000
Standard Rent 85,000 2,00,000
Rent Received 80,000 1,75,000
Municipal Tax paid 5,000 10,000
Repairs 10,000 22,000
Insurance 5,000 20,000
Interest on borrowed capital 6,000 3,000
Date of completion of houses 15th June 1988 31st March 2020
You are required to determine the taxable income from house property of
Mr. Bharat for A.Y. 2024-25.

Q4) The following is the Profit and Loss account of Mr. Salman for the financial
year ending on 31st March 2024. [14]

Proft and Loss Account
Particulars Amount Particulars Amount

(Rs) (Rs)
To Salary 2,50,000 By Gross Profit 6,30,000
To General Expenses 23,000 By Commission 30,000
To Conveyance 4,000 By Sundry Receipts 5,000
To Advertisement 750 By Interest on Fixed

Deposits 47,150
To Depreciation 50,000 By Gift from Friend 24,000
To Stationary 5,000 By Bad Debts

Recovered 20,000
To Construction of
Canteen 31,400
To Donation 21,000
To GST 50,000
To RDD 5,000
To Net Profit 3,16,000
Total 7,56,150 Total 7,56,150
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Additional Information :
1. Salary includes Rs. 25,000 paid to Mr. Salman.
2. General expenses include Rs. 11,700 as the gift to a friend.
3. Depreciation allowed as per income tax rule is amounted to Rs. 44,000
4. GST include Rs. 5,000 as penalty.
You are required to determine the taxable income from Business for A.Y.
2024-25.

Q5) Mr. Rohit working in Logical Co. Ltd. Delhi. The following emoluments are
received from his employer during the financial year ended on 31st March
2024. [14]
1. Salary Rs. 1,20,000 p.a.
2. D.A. Rs. 2,500 p.m. (admissible for retirement benefit)
3. Project allowance Rs.7,500.
4. He has been provided 2400cc motor car for official and private purpose.
5. Personal medical bill of Rs. 10,500 were reimbursed by the employer.
6. Free refreshment in the office Rs. 6,000.
7. He has been provided with rent free accommodation at Delhi by the

company. The cost of furniture is Rs.60,000.
8. He owned a flat at Pune. During the year he has paid interest Rs. 18,500

and repaid principal amount Rs. 24,000 of this home loan.
9. Income from Business Rs. 1,75,000.
10. He received:

I. Interest on Bank (Fixed) Deposit Rs. 10,000.
II. Interest on Government Securities Rs. 10,000.
III. Interest on Deposit with TATA Company Rs. 2,500.

11. He made following payments:
I. Own Life Insurance Premium paid Rs. 10,000.
II. Tuition fee paid Rs. 35,000 for his son.
III. Mediclaim insurance premium paid Rs. 4,500.
IV. Donation to charitable trust Rs. 15,000
V. Professional tax paid P.s. 2,500.

You are required to compute his total income for the A.Y. 2024-25 as per old
regime.
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Q6) Write Short Notes (Any two) : [12]

a) Rebate u/s 87 A

b) Rates of taxes

c) Allowances and Taxability

d) Capital gains Types and Exemptions


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Q1) Multiple choice questions. (Attempt any six) [6]
a) The basic components of a system include input, output, processing,

and ________.
i) Feedback ii) Communication
iii) Memory iv) Control

b) An example of G2B of E-Commerce is _________
i) Amazon ii) IRS e-file
iii) eBay iv) Alibaba

c) Electronic Data Interchange (EDI) is the ________ exchange of business
documents between companies using computers.
i) Electronic ii) Physical
iii) Manual iv) Virtual

d) Security mechanisms used in e-commerce include ________ Digital
Signature, E-Certificate, and Secure Electronic Transaction protocol.
i) Encryption ii) Authentication
iii) Familiarity iv) None of the Above

e) _______ are designed to support the day-to-day activities of an
organization and help in effective and efficient business operations.
i) Transaction Processing Systems
ii) Management Information Systems
iii) Decision Support Systems
iv) Operational Support Systems

P.T.O.
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f) The main drivers of E-Commerce include _________, improved internet
infrastructure, and increased mobile usage.
i) Social Media ii) Globalization
iii) Digital Marketing iv) None of the Above

g) An ____________ is a private network that is accessible only to an
organization’s employees, providing them with tools for communication,
collaboration, and information sharing.
i) Extranet ii) Intranet
iii) Internet iv) All of the Above

h) Authentication of payment in e-commerce ensures that the person making
the payment is the ___________.
i) Seller ii) Bank
iii) Buyer iv) Government

Q2) Define Information System. Explain the role of Information System in supporting
major business functions with examples.  [14]

Q3) Define E-Commerce. Describe the major categories of E- Commerce with
examples. [14]

Q4) What is Intranet? Explain in detail the Advantages and Disadvantages of Intranet.
[14]

Q5) What is the meaning of Electronic Payment Systems? Discuss the different
modes of payments in E-Commerce. [14]

Q6) Write short notes on: (Any two)  [12]
a) General Model of System
b) Limitations of E-Commerce
c) Electronic Data Interchange
d) Digital Signature


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à.à.à.à.à.1) ~hþn¶m©¶r àíZ. (H$moUË¶mhr ghm) [6]
A) àUmbrÀ¶m ‘wb ŷV KQ>H$m§‘Ü¶o BZnwQ>, AmCQ>nwQ>, à{H«$¶m Am{U ........... ¶m§Mm g‘mdoe hmoVmo.

i) A{^àm¶ ii) g§dmX

iii) ñ‘¥Vr iv) {Z¶§ÌU

~) B©-H$m°‘g©À¶m Or 2 ~r (G2B) Mo CXmhaU ............. ho Amho.

i) E°‘oPm°Z ii) Am¶ Ama Eg B©-’$mBb

iii) B~o iv) Abr~m~m

H$) Bbo³Q´>m°{ZH$ S>oQ>m B§Q>aM|O (EDI) åhUOo g§JUH$ dmnaUmè¶m H§$nÝ¶m§‘Yrb ì¶mdgm{¶H$
XñVEodOm§Mr ............ XodmUKodmU.

i) Bbo³Q´>m°{ZH$ ii) ^m¡{VH$

iii) ‘°Ý¶wAb iv) Am^mgr

S>) B©-H$m°‘g©‘Ü¶o dmnaë¶m OmUmè¶m gwajm ¶§ÌUo‘Ü¶o ............ {S>{OQ>b ñdmjar, B©-à‘mUnÌ
Am{U gwa{jV Bbo³Q´>m°{ZH$ ì¶dhma àmoQ>moH$m°b ¶m§Mm g‘mdoe hmoVmo.

i) EZ{H«$ßeZ ii) à‘mUrH$aU

iii) AmoiI iv) darbn¡H$s H$mhrhr Zmhr

B) ............ ho g§ñWoÀ¶m X¡Z§{XZ {H«$¶mH$bmnm§Zm g‘W©Z XoÊ¶mgmR>r Am{U à^mdr Am{U H$m¶©j‘
ì¶dgm¶ Am°naoeÝg‘Ü¶o ‘XV H$aÊ¶mgmR>r {S>PmBZ Ho$bobo Amho.

i) ì¶dhma à{H«$¶m àUmbr ii) ì¶dñWmnZ ‘m{hVr àUmbr

iii) {ZU©¶ g‘W©Z àUmbr iv) Am°naoeZb gnmoQ>© {gñQ>åg
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’$) B©-H$m°‘g©À¶m ‘w»¶ MmbH$m§‘Ü¶o ............, gwYm[aV B§Q>aZoQ> nm¶m ŷV gw{dYm Am{U dmT>bobm
‘mo~mBb dmna ¶m§Mm g‘mdoe hmoVmo.

i) gm‘m{OH$ ‘mÜ¶‘o ii) OmJ{VH$sH$aU

iii) {S>{OQ>b ‘mH}$qQ>J iv) darbn¡H$s H$mhrhr Zmhr

¶) ............ ho ImOJr ZoQ>dH©$ Amho Oo Ho$di g§ñWoÀ¶m H$‘©Mmè¶m§gmR>r àdoe¶mo½¶ Amho, Ë¶m§Zm
g§àofU, gh¶moJ Am{U ‘m{hVr gm‘m{¶H$aUmgmR>r gmYZo àXmZ H$aVmV.

i) E³ñQ´>mZoQ> ii) B§Q´>mZoQ>

iii) B§Q>aZoQ> iv) darb gd©

a) B©-H$m°‘g©‘Yrb no‘|Q>Mo à‘mUrH$aU ho gw{Z{üV H$aVo H$s no‘|Q> H$aUmar ì¶º$s hr ......... Amho.

i) {dH«o$Vm ii) ~±H$

iii) IaoXrXma iv) gaH$ma

à.à.à.à.à.2) ‘m{hVr àUmbr n[a^m{fV H$am. CXmhaUm§gh à‘wI ì¶mdgm{¶H$ H$m¶mªZm g‘W©Z XoÊ¶mgmR>r ‘m{hVr
àUmbrMr ŷ{‘H$m ñnï> H$am. [14]

à.à.à.à.à.3) B©-H$m°‘g©Mr ì¶m»¶m H$am. CXmhaUm§gh B©-H$m°‘g©À¶m à‘wI loUtMo dU©Z H$am. [14]

à.à.à.à.à.4) B§Q´>mZoQ> åhUOo H$m¶? B§Q´>mZoQ>Mo ’$m¶Xo Am{U VmoQ>o Vnerbdma gm§Jm. [14]

à.à.à.à.à.5) Bbo³Q´>m°{ZH$ no‘|Q> {gñQ>‘Mm AW© H$m¶ Amho? B©-H$m°‘g©‘Yrb no‘|Q>À¶m {d{dY nÕVtda MMm© H$am.[14]

à.à.à.à.à.6) Q>rnm {bhm. (H$moUË¶mhr XmoZ) [12]

A) {gñQ>‘Mo gm‘mÝ¶ ‘m°S>ob

~) B©-H$m°‘g©À¶m ‘¶m©Xm

H$) Bbo³Q´>m°{ZH$ S>mQ>m B§Q>aM|O

S>) {S>{OQ>b ñdmjar


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M.Com. (Part - I)

INTELLECTUAL PROPERTY LAWS
106 : Business Law

(2019 Pattern) (Credit System) (Semester - I) (Group - B)
Time : 3 Hours] [Max. Marks : 60
Instructions to the candidates:

1) Question No. 1 and question No. 6 are compulsory.
2) Solve any 3 questions from the question No. 2 to question no. 5.
3) Figures to the right indicate full marks.
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Q1) Multiple choice questions. (Any 6) [6]
a) Which of the following is not an Intellectual Property Law?

i) Copyright Act 1957
ii) Trade Mark Act 1999
iii) Customs Act 1962

b) The General Agreement on Tariffs and Trade came into force on ______.
i) 1st January 1948
ii) 15th January 2020
iii) 15th January 1950

c) The Patent infringer is not liable to be prosecuted in an ________.
i) High Court
ii) District Court
iii) Civil Court

d) Which of the following principle is applicable to Trademarks?
i) A Trademark should be distincitve
ii) A Trademark should be capable of distinguishing goods or services
iii) All of the above

e) The rights of a Patentee are ________.
i) Sell or Distribute
ii) License
iii) All of the above

P.T.O.
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f) The Berne convention was first established in _______.
i) 1885
ii) 1886
iii) 1896

g) Intellectual Property Rights protect the use of information and ideas that
are of _______.
i) Ethical value
ii) Social value
iii) Commercial value

h) The Trademarks protects _______.
i) An invention
ii) A work of Art
iii) Logos, names and brand

Q2) What is the meaning of Intellectual Property? Explain various types of Intellectual
Property Rights.  [14]

Q3) What is Patent? Discuss the various reliefs available against infringement of
Patent. [14]

Q4) Examine the concept of Trade Mark. Explain in details the different kinds of
Trade Mark.  [14]

Q5) What is mean by Bio - Diversity? Explain in detail functions and powers of
state Bio - Diversity Board. [14]

Q6) Write short notes. (any 2)  [12]
a) Paris Convention
b) Applications for Patents
c) Assignments and Transmission of Trade marks
d) Biological Resources


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Total No. of Questions : 6]

[6319]-6
M.Com. (Part - I)

INTELLECTUAL PROPERTY LAWS
106 : Business Law

(2019 Pattern) (Credit System) (Semester - I) (Group - B)

(‘amR>r ê$nm§Va)
doi : 3 Vmg] [ EHy$U JwU : 60
gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H«$. 6 gmoS>{dUo A{Zdm¶© AmhoV.

2) àíZ H«$. 2 Vo àíZ H«$. 5 n¡H$s H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) ¶mo½¶ n¶m©¶ {ZdSy>Z [aH$må¶m OmJm ^am. (H$moUVohr 6) [6]
A) Imbrbn¡H$s H$moUVm ~m¡pÜXH$ g§nXm H$m¶Xm Zmhr?

i) H$m°nramBQ> H$m¶Xm 1957
ii) ì¶mnma {MÝh H$m¶Xm 1999
iii) gr‘mewëH$ H$m¶Xm 1962

~) Q>°ar’$ Am{U ì¶mnmamdarb gm‘mÝ¶ H$ama .............. nmgwZ bmJw Pmbm.
i) 1 OmZodmar 1948
ii) 15 OmZodmar 2020
iii) 15 OmZodmar 1950

H$) noQ>§Q>Mo C„§KZ H$aUmè¶m§da ............ ‘Ü¶o IQ>bm Mmbdbm OmV Zmhr.
i) Cƒ Ý¶m¶mb¶
ii) {Oëhm Ý¶m¶mb¶
iii) {XdmUr Ý¶m¶mb¶

S>) Imbrbn¡H$s H$moUVo VËd Q´>oS>‘mH©$bm bmJw Amho?
i) Q´>oS>‘mH©$ {d{eï> Agbo nmhrOoV
ii) Q´>oS>‘mH©$ dñVw Am{U godm‘Ü¶o ’$aH$ H$aÊ¶mg gj‘ Agmdm
iii) darbn¡H$s gd©

B) noQ>§Q> YmaH$mMo ............. ho h¸$ AmhoV.
i) {dH«$s qH$dm {dVaU
ii) nadmZm
iii) darb n¡H$s gd©

PC4453
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’$) ~Z© n[afXoMr ñWmnZm àW‘ ............. ‘Ü¶o Pmbr.

i) 1885
ii) 1886
iii) 1896

¶) ~m¡pÜXH$ g§nXm A{YH$ma ............ Agboë¶m ‘m{hVr Am{U H$ënZm§À¶m dmnamMo g§ajU H$aVmV.

i) Z¡{VH$ ‘wë¶

ii) gm‘m{OH$ ‘wë¶

iii) ì¶dgm¶rH$ ‘wë¶

a) Q´>oS>‘mH©$ .............. ‘YwZ EImXçm H$m‘mMo g§ajU H$aVmo.

i) EH$ emoY

ii) H$bmH¥$Vr

iii) bmoJmo, Zmd AmUr ~«±S>

à.à.à.à.à.2) ~m¡pÜXH$ g§nXoMm AW© H$m¶ Amho? {d{dY àH$maMo ~m¡pÜXH$ g§nXm h¸$ ñnï> H$am. [14]

à.à.à.à.à.3) noQ>§Q> åhUOo H$m¶? noQ>§Q²>gÀ¶m C„§KZm{dê$ÜX CnbãY Agboë¶m {d{dY gdbVtda MMm© H$am. [14]

à.à.à.à.à.4) Q´>oS>‘mH©$Mr g§H$ënZm ñnï> H$am. {d{dY àH$maÀ¶m Q´>oS>‘mH©$Mo Vnerbdma dU©Z H$am. [14]

à.à.à.à.à.5) O¡d{d{dYVoMm AW© H$m¶ Amho? amÁ¶ O¡d{d{dYVm ‘§S>imMo H$m¶© Am{U A{YH$ma Vnerbdma gm§Jm.[14]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUVohr 2) [12]
A) n°arg A{YdoeZ

~) noQ>§Q>gmR>r AO©

H$) AgmBZ‘|Q> Am{U Q´>oS>‘mH©$Mo àgmaU

S>) O¡{dH$ g§gmYZo


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M.Com - I

107 : ADVANCED COST ACCOUNTING
(2019 Pattern) (Semester - I) (Credit System) (Group-C)

Time : 3  Hours] [Max. Marks : 60
Instructions to the candidates:

1) All questions are complusory.
2) Figures to the right indicate full marks.

PC4454 [Total No. of Pages : 3
SEAT No. :

Q1) Define Cost Accounting. Explain in details the Objectives of Cost
Accounting. [15]

 OR
From the following information prepare a Cost Sheet showing cost of meterial
consumed, Prime cost, Works cost, Cost of Production, Total cost, Profit.
The information has been obtained from Sarthak Ltd. Ahmedabad for a
quarter ending 31st March, 2022. [15]
Stock of Raw Material on 1st January,2022 1,00,000
Stock of Raw Material on 31st March,2023 74,000
Purchase of Raw Material 6,00,000
Travelling expenses 5,000
Carriage Inward 10,000
Carriage Outward 15,000
Depreciation on Plant 18,000
Factory Rent 12,000
Office Rent 10,000
Bad Debt 7,000
Productive Wages 20,000
Travelers’ Commission 4,000
Expenses regarding Purchase of Material 4,000
Gas, Fuel and Water 8,000
Manager’s Salaries (Manager devotes 2/3rd of his time to factory) 9,000
Sales 10,48,000

P.T.O.
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Q2) What is Piece Rate System? Explain the advantages and disadvantages of
Piece Rate System? [15]

OR
In an Engineering Factory, the following particulars have been extracted for
the quarter ended 31st December,2015 Compute the departmental overhead
rate for each of the production departments, assuming that overhead are re-
covered as a percentage of direct wages. [15]

Particulars Production Depts. Service Depts.
A B C X Y

Direct Wages 30,000 45,000 60,000 15,000 30,000
Direct Material 15,000 30,000 30,000 22,500 22,500
No. of workers 1,500 2,250 2,250 750 750
Electricity KWH 6,000 4,500 3,000 1,500 1,500
Assets Value 60,000 40,000 30,000 10,000 10,000
No.of Light points 10 16 4 6 4
Area Sq.Yards 150 250 50 50 50

The expenses for the period were:
Rs.

Power 1,100
Lighting                                    200
Stores Overhead                          800
Welfare of Staff 3,000
Depreciation 30,000
Repairs 6,000
General Overheads 12,000
Rent and Taxes 550
Apportion the expenses of Service Dept. Y according to direct wages and
those of Service Department X in the ratio of 5: 3: 2 to the production depart-
ments.
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Q3) What is ‘Overheads’. Explain the importance and Classification of Overhead.
[15]

OR

During October 2022, the following information is obtained from the  Personnel
Department of a manufacturing company. Labour force at the beginning of
the month 1900 and at the end of the month 2100. During the month, 25
people left while 40 persons were discharged. 280 workers were engaged out
of which only 30 were appointed in the vacancy created by the number of
workers separated and the rest on account of expansion scheme.

Calculate the Labour Turnover by Replacement, Separation and Flux Method.
[15]

Q4) Write a short notes on. (Any three) [15]

a) Just in Time (JIT).

b) Overhead Absorption.

c) Job Costing.

d) Idle Time.

e) CAS-7.


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First Year M.Com.

ADVANCED COST ACCOUNTING AND COST SYSTEM
108 : Costing Techniques and Responsibility Accounting
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Time : 3 Hours] [Max. Marks : 60
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicates full marks.
3) Use of simple calculator is allowed.
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SEAT No. :

Q1) What do you mean by Budget? Explain the types of Budget. [15]
OR

The standard mix to one unit of product is as follows:
Material Quantity (Units) Price Rs. Cost Rs.
P 120 15 1,800
Q 160 20 3,200
R 200 25 5,000
Total 10,000
During the month of April, 10 units were actually produced and consumption
was as follows:
Material Quantity (Units) Price Rs. Cost Rs.
P 1280 17.50 22,400
Q 1900 18.00 34,200
R 1740 27.50 47,850
Total 4920 1,04,450
Calculate:
a) Material Cost Variance
b) Material Price Variance
c) Material Usage Variance
d) Material Mix Variance. And verify the results.

P.T.O.
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Q2) What is meant by standard costing? Explain its advantages and limitations.[15]
OR

The expenses to produce 5,000 units at 50% capacity in Ram Ltd. given as
follows:
Particulars Per Unit Rs.
Materials 100
Labour 40
Variable Overheads 30
Fixed Overheads (Rs.1,00,000) 20
Administrative Overheads (5% Variable) 20
Selling Expenses (20% Fixed) 12
Distribution Expenses (10% Fixed) 10
Total Cost of Sales per unit 232
You are required to prepare a Flexible Budget for 70% and 90% production
capacity. At 90% capacity cost of materials will increase by 10% whereas
labour cost will decrease by 5%.

Q3) Explain inter-firm comparison? Discuss its essentials. [15]
OR

A production department of large manufacturing organization has furnished
the following data for March 2024.
Particulars Budget Rs. Actual Rs.
Direct Materials 8,00,000 10,20,000
Direct Wages 5,00,000 6,50,000
Repairs and maintenance (Rs.2,00,000 Fixed) 4,00,000 4,40,000
Supervision (Fixed) 2,00,000 2,20,000
Consumption stores (Fixed) 1,50,000 1,90,000
Factory Rent 1,00,000 1,00,000
Depreciation (Fixed) 2,00,000 2,00,000
Tools (Variable) 50,000 60,000
Power and Fuel (Variable) 3,00,000 3,60,000

Administration (Fixed) 5,00,000 5,30,000
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The department has 50 identical machines. During March 2024, the budgeted
and actual production of the department is 20,000 and 25,000 units respectively.
However, if the department was closed and the machine production services
were hired form outside, the cost of hiring the services of similar machine
would be Rs. 150 per unit.

You are required to present report showing the evaluation of the performance
of the department based on the concept of:

a) Cost Centre

b) Profit Centre and

c) Responsibility Centre.

Q4) Write Short notes (any 3) [15]

a) Performance Budget

b) Need of Standard Cost

c) Uniform Costing

d) Responsibility Centre

e) Labour Variance.

eeee
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1) Question No.1 and 6 are compulsory.
2) Attempt any 3 questions from question No. 2 to 5.
3) Figures to the right indicate full marks.

PC4456 [Total No. of Pages : 4
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Q1) Multiple Choice Questions. (any 6) : [6]
a) “The Co-operative Credit Societies Act” was passed in India on the

recommendation of the ________ Committee.
i) Frederick Nicholson ii) Sir Edward Law
iii) Frederick Taylor iv) Maslow

b) A movement in which many individuals join voluntarily to meet common
economic, social and cultural needs is called a ________ movement.
i) Social ii) Cooperation
iii) Coordination iv) Capital

c) In a co-operative society _______ principle is followed.
i) Dictatorship ii) One- Person, One Vote
iii) One- Share, One Vote iv) One- Person, Many Votes

d) In the year 1925, the Government of Bombay passed _______
i) Bombay Co-operative Societies Act
ii) Maharashtra Cooperative Societies Act
iii) Indian Co-operative Societies Act
iv) International Cooperative Societies Act

e) Power to register Co-operative Societies under the Co-operative Societies
Act is _______
i) Cooperative Commissioner and Registrar
ii) Divisional Joint Registrar
iii) District Deputy Registrar
iv) Assistant Registrar

P.T.O.
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f) As per the structure of the cooperative departments, at the divisional
level ________ is the chief officer.
i) Cooperative Commissioner and Registrar
ii) Divisional Joint Registrar
iii) District Deputy Registrar

iv) Assistant Registrar
g) NABARD was established in the year _______

i) 1992 ii) 1972
iii) 1982 iv) 1962

h) The full form of NCDC is ________
i) National Credit Development Corporation
ii) National Credit Department Cell
iii) National Co-operation Development Cell

iv) National Co-operative Development Corporation

Q2) Explain the recent scenario of co-operative movement in India.  [14]

Q3) Explain the amendments made in the Maharashtra State Co-operative Societies
Act. [14]

Q4) Explain the powers, duties and responsibilities of the Registrar. [14]

Q5) Explain the important points of the Vaidyanathan Committee Report. [14]

Q6) Write a short notes on (any two) :  [12]
a) Challenges before the Cooperative Movement in India.
b) Background of Maharashtra State Co-operative Societies Act 1960.
c) District Level Structure of Cooperative Department.
d) All India Rural Credit Survey Committee.


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Total No. of Questions : 6]
[6319]-9

M.Com. (Part - I)
CO-OPERATION AND RURAL DEVELOPMENT

109 : Co-operative Movement in India
(2019 Pattern) (Credit System) (Semester - I) (Group - D) (Special Paper - I)

(‘amR>r ê$nm§Va)
doi : 3 Vmg] [ EHy$U JwU : 60
gyMZm …- 1) àíZ H«$‘m§H$ 1 Am{U àíZ H«$‘m§H$ 6 A{Zdm¶© AmhoV.

2) àíZ H«$‘m§H$ 2 nmgyZ àíZ H«$‘m§H$ 5 n¶ªV H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.
4) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) ~hþn¶m©¶r àíZ. (H$moUË¶mhr ghm) [6]

A) ............ H${‘Q>rÀ¶m {e’$maerZwgma ""H$mo- Am°naoQ>rìh H«o$S>rQ> gmogm¶Q>r A°³Q>'' ^maVm‘Ü¶o
g§‘V H$aÊ¶mV Ambm.

i) ’«o$S>[aH$ {ZH$moëgZ ii) ga ES>dS>© bm°

iii) ’«o$S>[aH$ Q>oba iv) ‘°ñbmo

~) g‘mZ Am{W©H$, gm‘m{OH$ d gm§ñH¥${VH$ JaOm nyU© H$aÊ¶mgmR>r AZoH$ ì¶º$s ñdoÀN>oZo Á¶m
MidirV gm‘rb hmoVmV Ë¶mg ............. Midi Ago åhUVmV.

i) gm‘m{OH$ ii) ghH$ma

iii) g‘Ýd¶ iv) ^m§S>dbr

H$) ghH$mar g§ñWo‘Ü¶o ................ ¶m VËdmMo nmbZ Ho$bo OmVo.

i) hþHw$‘emhr ii) EH$-ì¶º$s, EH$ ‘V

iii) EH$-^mJ, EH$ ‘V iv) EH$-ì¶º$s, AZoH$ ‘Vo

S>) gZ 1925 ‘Ü¶o ‘w§~B© gaH$maZo ............. g§‘V Ho$bm.

i) ‘w§~B© ghH$mar g§ñWm H$m¶Xm ii) ‘hmamï´> ghH$mar g§ñWm H$m¶Xm

iii) ^maVr¶ ghH$mar g§ñWm H$m¶Xm iv) OmJ{VH$ ghH$mar g§ñWm H$m¶Xm

B) ghH$mar g§ñWm H$m¶ÚmA§VJ©V ghH$mar g§ñWm§Mr Zm|XUr H$aÊ¶mMm A{YH$ma .......... ¶m§Zm Amho.

i) ghH$ma Am¶wº$ d {Z~§YH$ ii) {d^mJr¶ gh{Z~§YH$

iii) {Oëhm Cn{Z~§YH$ iv) ghmæ¶H$ {Z~§YH$

PC4456



4[6319]-9

’$) ghH$mar {d^mJm§À¶m aMZoZwgma {d^mJr¶ ñVamda ............. hm à‘wI A{YH$mar AgVmo.

i) ghH$ma Am¶wº$ d {Z~§YH$ ii) {d^mJr¶ gh{Z~§YH$

iii) {Oëhm Cn{Z~§YH$ iv) ghmæ¶H$ {Z~§YH$

¶) Zm~mS>©Mr ñWmnZm gZ ............. ¶mdfu Pmbr.

i) 1992 ii) 1972
iii) 1982 iv) 1962

a) NCDC Mo nyU©ê$n ............. ho Amho.

i) National Credit Development Corporation
ii) National Credit Department Cell
iii) National Co-operation Development Cell
iv) National Co-operative Development Corporation

à.à.à.à.à.2) ^maVmVrb gÚpñWVrVrb ghH$mar Midi g{dñVa ñnï> H$am. [14]

à.à.à.à.à.3) ‘hmamï´> amÁ¶ ghH$mar g§ñWm H$m¶ÚmVrb gwYm[aV Xþê$ñË¶m g{dñVa ñnï> H$am. [14]

à.à.à.à.à.4) {Z~§YH$mMo A{YH$ma, H$V©ì¶o d O~m~Xmè¶m g{dñVa ñnï> H$am. [14]

à.à.à.à.à.5) d¡ÚZmWZ g{‘VrÀ¶m AhdmbmVrb ‘hËdmÀ¶m ~m~r ñnï> H$am. [14]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]
A) ^maVmVrb ghH$ma Midirg‘moarb AmìhmZo

~) ‘hmamï´> amÁ¶ ghH$mar g§ñWm H$m¶Xm 1960 Mr nmœ©̂ y‘r

H$) ghH$ma {d^mJmMr {OëhmñVar¶ aMZm

S>) A{Ib ^maVr¶ J«m‘rU nV gd}jU g{‘Vr


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M.Com. (Part - I)

CO-OPERATION AND RURAL DEVELOPMENT
110 : Rural Development

(2019 Pattern) (Semester - I) (Group -D) (Credit System)
Time : 3 Hours] [Max. Marks : 60
Instructions to the candidates:

1) Question No. 1 and question No. 6 are compulsory.
2) Solve any three questions from Question No. 2 to Question No. 5.
3) Figures to the right indicate full marks.
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SEAT No. :

Q1) Multiple choice questions. (Any 6) [6]

a) India is ________ country.

i) developed ii) developing

iii) underdeveloped iv) All of the above

b) In agriculture business _______ more people are living below poverty
line.

i) 40% ii) 50%

iii) 70% iv) 30%

c) A special provision was made for agricultural development from the
_______ five year plan.

i) first ii) second

iii) third iv) forth

d) ________ was the aim to improve the system and connect the villages to
the cities.

i) Electricity ii) Transportation

iii) Irrigation iv) Health

e) National Biogas and Fertilizer Management Program is a scheme included
under the ________ section program of Central Govt.

i) 19 ii) 20

iii) 21 iv) 22

f) Pradhan Mantri Gram Sadak Yojana is implemented in state from the year
_________.

i) 2000 ii) 2001

iii) 2002 iv) 2003

P.T.O.



2[6319]-10

g) In the beginning of the fifties, rural development efforts were started for
________.

i) A purposeful ii) Multipurpose

iii) Both options are correct iv) Neither option

h) National Extension Service Scheme was launched in the year ________.

i) 1953 ii) 2001

iii) 2006 iv) 2000

Q2) Explain the needs for rural development in Maharashtra. [14]

Q3) Explain the problems of rural development in Maharashtra. [14]

Q4) Explain the Government’s role in rural development in India. [14]

Q5) Explain the principles and approaches to rural development. [14]

Q6) Write Short notes (Any 2) [12]

a) Problems in rural development in India.

b) Scheme for rural development in Maharashtra.

c) Current scenario of rural development in India.

d) Policies for Rural Development.





3[6319]-10

Total No. of Questions : 6]

[6319]-10
M.Com. (Part - I)

CO-OPERATION AND RURAL DEVELOPMENT
110 : Rural Development

(2019 Pattern) (Semester - I) (Group -D) (Credit System)

(‘amR>r ê$nm§Va)
doi : 3 Vmg] [ EHy$U JwU : 60

gyMZm …- 1) àíZ H«$_m§H$ 1 Am{U àíZ H«$_m§H$ 6 A{Zdm¶© AmhoV.
2) àíZ H«$_m§H$ 2 nmgyZ àý H«$_m§H$ 5 n ª̀V H$moUVohr VrZ àý gmoS>dm.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) ~hþn¶m©¶r àíZ. (H$moUVohr ghm) [6]

A) ^maV hm .......... Xoe Amho.

i) {dH${gV ii) {dH$gZerb

iii) A{dH${gV iv) darb gd©

~) eoVr ì`dgm`mV ........... OmñV bmoH$ Xm[aÐ`aofoImbrb OrdZ OJV AmhoV.

i) 40% ii) 50%

iii) 70% iv) 30%

H$) eoVr {dH$mgmgmR>r ............ n§Mdm{f©H$ `moOZonmgyZ {deof VaVyX H$aÊ`mV Ambr hmoVr.

i) n{hë`m ii) Xþgè`m

iii) {Vgè`m iv) Mm¡Ï`m

S>) ............ ì`dñWoV gwYmaUm H$éZ IoS>r eham§Zm OmoS>Ê`mMo C{Ôï> R>odÊ`mV Ambo.

i) {dÚwV ii) dmhVyH$

iii) qgMZ iv) Amamo½`

B) amï´>r` ~m`moJ°g d IV ì`dñWmnZ H$m ©̀H«$_ H|$Ð emgZmÀ`m ............ H$b_r H$m ©̀H«$_m§VJ©V
g_m{dï> ̀ moOZm Amho.

i) 19 ii) 20

iii) 21 iv) 22

’$) àYmZ_§Ìr J«m_ gS>H$ `moOZm amÁ`mV ............ df©̂ amnmgyZ am~{dÊ`mV òV Amho.

i) 2000 ii) 2001

iii) 2002 iv) 2003

PC4457
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¶) nÝZmerÀ`m XeH$mÀ`m gwédmVrÀ`m H$mimV J«m_rU {dH$mgmMr à`ËZ .............. nUo gwê$
Pmbr.

i) EH$ CÔoer` ii) ~hþCÔoer`

iii) XmoÝhr n`m©̀  ~amo~a iv) XmoÝhr n`m©̀  Zmhr

a) .............. `m dfm©V amï´>r` {dñVma godm `moOZm gwé H$aÊ`mV Ambr.

i) 1953 ii) 2001

iii) 2006 iv) 2000

à.à.à.à.à.2) _hmamï´mVrb J«m_rU {dH$mgmÀ`m JaOm ñnï> H$am. [14]

à.à.à.à.à.3) _hmamï´>mVrb J«m_rU {dH$mgmVrb g_ñ`m ñnï> H$am. [14]

à.à.à.à.à.4) ^maVmVrb J«m_rU {dH$mgmVrb gaH$maMr ŷ{_H$m ñnï> H$am. [14]

à.à.à.à.à.5) J«m‘rU {dH$mgmMr VËdo d Ñ{ï>H$moZ ñnï> H$am. [14]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]

A) J«m_rU {dH$mgmVrb g_ñ`m

~) _hmamï´>mVrb J«m_rU {dH$mgmgmR>r `moOZm

H$) ^maVmVrb J«m_rU {dH$mgmMr gÜ`mMr n[apñWVr

S>) J«m_rU {dH$mgmVrb YmoaUo





Q1) Fill in the Blanks (any 6): [6]
i) ___________ is the primary purpose of a credit policy.

a) To Make Customer Pay in Cash
b) To Attract More Customer
c) To Ensure Timely Payment from Customer
d) To Discourage Sales

ii) O.T.C. market means _______
a) Over the counter b) On table cash
c) Organize the counter d) Open the counter

iii) ________ of the following is difficult to evaluate.
a) Jewelry b) Auto Repair
c) Furniture d) Clothing

iv) Formation of _______ does not come under Service Sector in India.
a) Building b) Sculpture
c) Television d) Tele-Communication

v) __________ is Foreign Direct Investment.
a) Tangible Good b) Intangible Goods
c) Intellectual Property Rights d) Human Resources

vi) _________ of the following is not considered as a type of reseller.
a) Wholesaler b) Retailer
c) Manufacturer d) Distributor

Total No. of Questions : 6]

[Total No. of Pages : 4
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vii) Selling Produce through Intermediaries is an example of Direct Marketing
for _________
a) Farmers b) Government
c) Customers d) Employee

viii) Different shops operating under one roof are called _________
a) Central Mall b) Shopping Mall
c) Out Door Mall d) Market Mall

Q2) What is the concept of business in the modern context? Explain its objectives
and scopes of business in the modern context. [14]

Q3) What is E-Commerce? Illustrate different Business Practices related to
E-Commerce with examples. [14]

Q4) What is Foreign Direct Investment? Explain the Role of Foreign Direct
Investment in Retail Trade. [14]

Q5) What is the meaning of Cooperative Marketing? Explain the advantages and
role Cooperative Marketing in rural development. [14]

Q6) Write a Short Notes (Any-3) : [12]
a) Regulated Markets
b) Importance of Service Sector in India
c) Super Markets
d) Rural Development Policy.
e) Innovative Marketing Practices

♦♦♦



Total No. of Questions : 6]

[6319]-11
M.Com. (Part - I)

 BUSINESS PRACTICES AND ENVIRONMENT
111 : Organized Trades and Markets

(2019 Pattern) (Semester - I) (CBCS) (Group - E) (Special Paper - I)
(_amR>r ê$nm§Va)

doi : 3 Vmg ]                      [EHy$U JwU : 60
gyMZm : 1) àíZ H«$. 1 Am{U àíZ H«$. 6 gmoS>{dUo A{Zdm ©̀ AmhoV.

2) àíZ H«$_m§H$. 2 Vo 5 gd© àíZm§ g_mZ JwU AmhoV.
3) àíZ H«$_m§H$. 2 Vo àíZ H«$. 5 n¡H$s H$moUVohr VrZ àíZ gmoS>dm.
4) COdrH$S>rb A§H$ nyU© JwU Xe©dVmV.
5) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

àíZ 1) [aH$må`m OmJm ^am (H$moUVohr  6) [6]
i) .............. hm Ho«${S>Q> nm°{bgrMm àmW{_H$ CÔoe Amho.

A) J«mhH$mbm amoIrZo n¡go XoUo

~) A{YH$ J«mhH$ AmH${f©V H$aUo

H$) J«mhH$mH$Sy>Z doioda no_|Q> gw{Z{üV H$aUo

S>) {dH«$sbm namd¥Îm H$aUo

ii) Amo.Q>r.gr. (O.T.C) ~mOma åhUOo ............ hmò .

A) Amoìha X H$mC§Q>a ~) Am°Z Q>o~b H°$e

H$) Am°aJZmB©O X H$mC§Q>a S>) AmonoZ X H$mC§Q>a

iii) Imbrbn¡H$s .............. Mo _yë`_mnZ H$aUo H$R>rU Amho.

A) Xm{JZo ~) Am°Q>mo XþéñVr

H$) \${Z©Ma S>) H$nS>o

iv) ^maVr` godm joÌm_Ü ò ............ {Z{_©VrMm A§V^m©d Zmhr.

A) B_maV ~) {eënH¥$Vr

H$) XÿaXe©Z S>) Xÿag§Mma

P.T.O.
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v) ............... hr WoQ> {dXoer Jw§VdUyH$ Amho.

A) Ñí` dñVy ~) AÑí` dñVy

H$) ~m¡{ÓH$ g§nXm hŠH$ S>) _mZdr g§gmYZo

vi) Imbrbn¡H$s ............... àH$ma nwZ{d©H«o$Vm `m àH$mamV òV Zmhr.

A) KmD$H$ {dH«o$Vm ~) {H$aH$moi {dH«o$Vm

H$) CËnmXZ S>) {dVaH$

vii) _Ü`ñWm§_m\©$V CËnmXZmMr {dH«$s H$aUo ho .............. gmR>r WoQ> {dnUZmMo CXmhaU Amho.

A) eoVH$ar ~) gaH$ma

H$) J«mhH$ S>) ZmoH$a

viii) EH$mM N>VmImbr H$m ©̀aV AgUmè`m {d{dY XþH$mZm§Mm g_wƒ` åhUOo ..............

A) goÝQ´>b _m°b ~) em°qnJ _m°b

H$) AmD$Q>S>moa _m°b S>) _mH}$Q> _m°b

àíZ 2) AmYw{ZH$ g§X^m©V ì`dgm`mMr g§H$ënZm H$m` Amho? AmYw{ZH$ g§X^m©V ì`dgm`mMr C{Ôï>o Am{U
ì`már ñnï> H$am. [14]

àíZ 3) B©-H$m°_g© åhUOo H$m`? B©-H$m°_g©er g§~§{YV {d{dY ì`dgm` nÕVr CXmhaUm§gh ñnï> H$am.[14]

àíZ 4) WoQ> {dXoer J§wVdUyH$ åhUOo H$m`? {H$aH$moi ì`mnmamVrb WoQ> {dXoer Jw§VdUyH$ ŷ{_H$m ñnï>
H$am. [14]

àíZ 5) ghH$mar {dnUZmMm AW© H$m`? J«m_rU {dH$mgm_Ü ò ghH$mar {dnUZmMo \$m`Xo Am{U ŷ{_H$m
ñnï> H$am. [14]

àíZ 6) {Q>nm {bhm (H$moUË`mhr VrZ) [12]
A>) {Z §̀{ÌV ~mOma

~>) ^maVmVrb godm joÌmMo _hÎd

H$) gwna _mH}$Q²>g

S>) J«m_rU {dH$mg YmoaU

B) Zm{dÝ`nyU© {dnUZ nÕVr

♦♦♦



Q1) Fill in the Blanks by selecting suitable choice (any 6 out of 8) [6]
i) Business environment is a _______ concept since it differs from country

to country and even region to region.
a) Uncertainty b) Relative
c) Complexity d) Mix

ii) Change in taxes is a part of ___________ environment of business.
a) Economic b) Political
c) Legal d) Social

iii) When unemployment trends to be a long-term feature of a country, it is
called ______ unemployment.
a) Chronic b) Technological
c) Casual d) Seasonal

iv) Social injustice is the _____ treatment of a group of people within a
society.
a) unequal b) individual right
c) equal d) agriculture

v) _________ is the apex organization in the country in the field of pollution
control.
a) Central Pollution Control Board
b) Air Pollution Control Board
c) Water Pollution Control Board
d) Soil Pollution Control Board

Total No. of Questions : 6]

[Total No. of Pages : 4
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vi) ______ is called the secondary air pollutant.
a) Ozone b) Carbon monoxide
c) Nitrogen Dioxide d) Hydrogen Dioxide

vii) Globalization has largely improved the growth of ______ Countries.
a) poor b) developing
c) developed d) state

viii) Globalization caused ________
a) Easy movement of goods
b) Easy movement of capital and services
c) Increasing the international trade
d) All of the above

Q2) What do you mean by the term ‘Business Environment’? Explain in detail
nature, importance and various aspects of environment. [14]

Q3) What is ‘Social Injustice’? State various causes of ‘Unemployment’ and
‘Social Injustice’ of India. [14]

Q4) What do you mean by ‘Pollution’? Write in detail various types of Pollution.
[14]

Q5) What is ‘Globalization’? Discuss in detail various objectives and importance
of Globalization. [14]

Q6) Write Short Notes (Any 2 out of 4) : [12]
a) Business Environment with reference to India
b) Poverty
c) Go-Green Movement
d) Challenges of Globalization

♦♦♦



Total No. of Questions : 6]

[6319]-12
M.Com. (Part - I)

 BUSINESS PRACTICES AND ENVIRONMENT
112 : Business Environment and Policy

(2019 Pattern) (Semester - I) (Group - E) (Special Paper - II)
(_amR>r ê$nm§Va)

doi : 3 Vmg ]                      [EHy$U JwU : 60
gyMZm : 1) àíZ H«$. 1 Am{U àíZ H«$. 6 gmoS>{dUo A{Zdm ©̀ AmhoV.

2) àíZ H«$_m§H$. 2 Vo àíZ H«$. 5 _Yrb H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

àíZ 1) `mo½` n`m©̀  {ZdSy>Z [aH$må`m OmJm ^am. (6 n¡H$s H$moUVohr 8) [6]
i) ì`dgm` n`m©daU hr EH$ ......... g§H$ënZm Amho H$maU Vr XoemZwgma Am{U àXoemZwgma

doJir Amho.

A) A{Z{üVVm ~) gmnoj

H$) O{Q>bVm S>) {_lU

ii) H$am§_Yrb ~Xb hm ì`dgm`mÀ`m ........... n ©̀daUmMm EH$ ^mJ Amho.

A) Am{W©H$ ~) amOH$s`

H$) H$m`Xoera S>) gm_m{OH$

iii) Ooìhm ~oamoOJmarMr àd¥Îmr EImÚm XoemMo XrK©H$mbrZ d¡{eï²>ç ~ZVo Ë`mbm ......... ~oamoOJmar
Ago åhUVmV.

A) Vrd« ~) Vm§{ÌH$

H$) àmg§{JH$ S>) h§Jm_r

iv) gm_m{OH$ AÝ`m` åhUOo g_mOmVrb bmoH$m§À`m g_yhmbm ......... dmJUyH$ hmò .

A) Ag_mZ ~) d¡̀ {º$H$ hŠH$

H$) g_mZ S>) eoVr

P.T.O.
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v) ............... hr àXÿfU {Z §̀ÌUmÀ`m joÌmV XoemVrb gd}ƒ g§ñWm Amho.

A) H|$Ðr` àXÿfU {Z`§ÌU _§S>i ~) dm`y àXÿfU {Z`§ÌU _§S>i

H$) nmUr àXÿfU {Z §̀ÌU _§S>i S>) _mVr àXÿfU {Z §̀ÌU _§S>i

vi) ............. bm Xþæ`_ dm`y àXÿfH$ åhQ>bo OmVo.

A) AmoPmoZ ~) H$m~©Z _moZmoAm°ŠgmBS>

H$) Zm`Q´>moOZ S>m`Am°ŠgmBS> S>) hm`S´>moOZ S>m`Am°ŠgmBS>

vii) OmJ{VH$sH$aUm_wio ................. Xoem§À`m dmT>rV _moR²>`m à_mUmVm gwYmaUm Pmbr Amho.
A) Jar~ ~) {dH$gZerb

H$) {dH${gV S>) amÁ`

viii) OmJ{VH$sH$aUm_wio ............

A) dñVy§Mr ghO hmbMmb

~) ^m§S>db Am{U godm§Mr gwb^ hmbMmb
H$) Am§Vaamï´>r` ì`mnmamV dmT>
S>) darb gd©

àíZ 2) "ì`dgm` n`m©daU' åhUOo H$m`? n`m©daUmMo ñdê$n, _hÎd Am{U {d{dY n¡by§Mo g{dñVa H$am.
[14]

àíZ 3) "g_m{OH$ AÝ`m`' åhUOo mH$`? ^maVmVrb "~oamoOJmar' Am{U "gm_m{OH$ AÝ`m`mMr' {d{dY
H$maUo gm§Jm. [14]

àíZ 4) "àXÿfU' åhUOo H$m`? àXÿfUmMo {d{dY àH$ma g{dñVa {bhm. [14]

àíZ 5) "OmJ{VH$sH$aU' åhUOo H$m`? OmJ{VH$sH$aUmMr {d{dY C{Ôï>o Am{U `m§Mr g{dñVa MMm© H$am.
[14]

àíZ 6) {Q>nm {bhm (Mma n¡H$s H$moUË`mhr XmoZ) [12]
A>) ^maVmÀ`m g§X^m©V ì`gm`mMo n`m©daU

~>) Xm[aÐ²`

H$) Jmo-J«rZ Midi

S>) OmJ{VH$sH$aUmMr AmìhmZo

♦♦♦



Q1) Fill in the Blanks (any 6): [6]
i) POM stands for _________

(Production & Operation managment, Production & office managment,
Production & Opration material, Production & Operation machine)

ii) Plant layout is the overall arrangement of __________
(Machines, Men, Service facilities, all of above)

iii) Production manager refers to the application of management principles
to the _________ in a factory.
(Production function, inventory function, marketing function, supply
chain function)

iv) Batch production occurs when many _______ items, are produced
together.
(Different, Similar, Varied, Specified)

v) The objectives of good plant layout to __________
(Reduce production. Reduce wastages, Reduce productivity, Reduce
labor)

vi) W’’’ in SWOT stands for _________
(Well, weakness, worry, wonderful)

vii) The product design should be as per the customer’s __________
(price, requirements, place, quality)

viii) The standard normal distribution has mean = ______ and standard
deviation=
(1,0,0,1,0,0,1,1)

Total No. of Questions : 6]

[Total No. of Pages : 4

[6319]-13
M.Com. (Part - I)

 BUSINESS ADMINISTRATION
113 : Production and Operation Management

(2019 Pattern) (Semester - I) (Group - F)
Time : 3 Hours] [Max. Marks : 60
Instructions to the candidates:

1) Question no 1 and 6 are compulsory
2) Attempt any three questions from O.2, Q3, Q4, Q5.
3) Figures to the right indicate full marks.

PC-4460

SEAT No. :

P.T.O.



[6319]-13 2

Q2) What is plant layout? Explain the principles and objectives of plant layout.[14]

Q3) What is plant location? Explain the factors affecting plant location. [14]

Q4) What is quality control? Explain the importance of quality control? [14]

Q5) Explain the Importance of Total Quality Management? [14]

Q6) Write Short Notes (Any 2) : [12]
a) Continuous Production system
b) Ojectives of plant layout
c) Carrier opportunities of supply chain management
d) Production planning

♦♦♦



Total No. of Questions : 6]

[6319]-13
M.Com. (Part - I)

 BUSINESS ADMINISTRATION
113 : Production and Operation Management

(2019 Pattern) (Semester - I) (Group - F)
(_amR>r ê$nm§Va)

doi : 3 Vmg ]                      [EHy$U JwU : 60
gyMZm : 1) àíZ 1 d à. H«$. 6 gmoS>{dUo A{Zdm ©̀ Amho.

2) àíZ H«$. 2 Vo 5 _Yrb H$moUVohr VrZ àíZ gmoS>{dUo Amdí`H$ Amho.
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

àíZ 1) [aH$må`m OmJm ^am (H$moUVohr  6) [6]
i) nrAmo E_ Mo {dñVm[aV {bhm. ...............

(CËnmXZ Am{U à{H$`m ì`dñWmnZ, CËnmXZ Am{U Am°{\$g ì`dñWmnZ, CËnmXZ Am{U
à{H«$`m gm{hË`, CËnmXZ Am{U àH$s`m §̀Ì)

ii) CËnmXZ AmamIS>m åhUOo ......... Mr ì`dñWm hmò .

(_erZ, _mZd, godm gdbVr, `mn¡H$s gd©)

iii) CËnmXZ ì`dñWmnH$ åhUOo H$maImÝ`mV ............ ì`dñWmnZmMr VËdo bmJy H$aVmo.

(CËnmXZ H$m ©̀, {dH«$s H$m ©̀, {dnUZ H$m ©̀, nwadR>m gmIir H$m }̀)

iv) ~°M CËnmXZ nÕVr hr .............. CËnmXZmer g§~§{YV Amho.

(doJdoJio CËnmXZ, gma»`m ñdê$nmVrb CËnmXZ, {d{eï> ñdê$nmVrb CËnmXZ, IOJr)

v) Mm§Jë`m àH$ën AmamIS>çmMm CÔoe ................ Amho.

(H$_r CËnmXZ H$aUo, Anì``mVrb H$_VaVm, H$Mam H$_r H$aUo, l_~i H$_r H$aUo)

vi) SWOT (ñdm°Q>) _Yrb 'W' _Yrb eãXmMm AW© ...............

(Mm§Jbo, H$_Omoar, H$miOr, g§wXa)

vii) CËnmXZmMr aMZm J«mhH$mÀ`m .............. Zygma Agmdr.

({H§$_V, Mm¡H$er, ñWmZ, XOm©)

viii) _mZH$ gm_mÝ` {dVaU _Ü` ............. Am{U à_m{UV {dMbZ _Ü` ....... AgVmo.

(1,0,0,1,0,0,1,1)

P.T.O.
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àíZ 2) §̀ÌHy$b aMZm åhUOo H$m`? §̀ÌHy$b aMZoMo VËdo d C{Ôï> ò ñnï> H$am. [14]

àíZ 3) CËnmXZ ñWmZ åhUOo H$m`? CËnmXZ ñWmZmda n[aUm_ H$aUmao KQ>H$ ñnï> H$am. [14]

àíZ 4) XOm© {Z §̀ÌU åhUOo H$m` XOm© {Z §̀ÌUmMo _hÎd ñnï> H$am. [14]

àíZ 5) EHy$U XOm© ì`dñWmnZmMo _hÎd ñnf H$am. [14]

àíZ 6) {Q>nm {bhm (H$moUË`mhr XmoZ) [12]
A>) gVV CËnmXZ àUmbr

~>) §̀Ì Hw$b aMZoMr C{Ôï>o

H$) nwadR>mgmIir ì`dñWmnZmVrb ZmoH$ar{df`H$ g§Yr

S>) CËnmXZ {Z`moOZ

♦♦♦



Q1) Fill in the blanks with suitable answers. [6]
i) ________ is a financial service that involves selling accounts receivable

to a third party
a) Factoring
b) Lease Financing
c) Underwriting

ii) The pay-back period method of capital budgeting focuses on _______
a) Calculating the profitability index
b) Determining the time it takes to recover the initial investment
c) Estimating the return on investment

iii) Working Capital can be defined as ________
a) Fixed Assets less Fixed Liabilities
b) Current Assets less Current Liabilities
c) Total Assets less Total Liabilities

iv) _______ is a key characteristic of modern financial management practice.
a) Emphasis on short-term gains
b) Integration of risk management
c) Strict adherence to traditional accounting methods

v) Cash flow statement is divided into the following three sections _____
a) Revenue, Expenses and Net Income
b) Assets, Liabilities and Equity
c) Operating, Investing and Financing

vi) ________ is the primary regulatory authority for Indian Capital Market.
a) RBI
b) IRDA
c) SEBI
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Q2) Explain the meaning and objectives of financial management. How do these
objectives help the firm to achieve its goals? [14]

Q3) Describe the concept of financial statements. How can income statement and
balance sheet help in understanding the financial health of a company? [14]

Q4) Discuss the uses and features of payback period, Net Present Value (NPV),
Accounting Rate of Return (ARR) and Internal Rate of Return (IRR) in capital
budgeting. [14]

Q5) Discuss in detail accounts receivable management, factoring and lease financing
as tools of working capital management and financing options.  [14]

Q6) Write a short note (any two) : [12]
a) Capital Budgeting
b) Credit Policy
c) Financial Analysis
d) Financial System in India


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àíZ àíZ àíZ àíZ àíZ 1) ¶mo½¶ CÎmam§gh [a³V OmJm ^am. [6]
i) .............. hr EH$ {dÎmr¶ godm Amho Á¶m‘Ü¶o V¥Vr¶ njmbm àmá H$aÊ¶m¶mo½¶ ImVr

{dH$Uo g‘m{dï> Amho.
A) AS>V ì¶dhma
~) ^mS>onÅ>m {dÎmnwadR>m
H$) A§S>aam¶qQ>J

ii) ^m§S>dbr ‘wÔb naVr H$mb nÕV ............ ¶mda bj H|${ÐV H$aVo.
A) Z’$m {ZX}em§H$mMr JUZm H$aUo
~) àma§{^H$ Jw§VdUyH$ nwZàm©á H$aÊ¶mgmR>r bmJUmam doi {Z{üV H$aUo
H$) Jw§VdUwH$sdarb naVmì¶mMm A§XmO H$aUo

iii) IoiVo ^m§S>db .............. åhUyZ n[a^m{fV Ho$bo OmD$ eH$Vo.
A) pñWa ‘mb‘Îmm dOm pñWa Xm{¶Ëd
~) Mmby ‘mb‘Îmm dOm Mmby Xm{¶Ëd
H$) EHy$U ‘mb‘Îmm dOm EHy$U Xm{¶Ëd

iv) ............. ho AmYw{ZH$ {dÎmr¶ ì¶dñWmnZ nÕVrMo à‘wI d¡{eï>ç Amho.
A) AënH$mbrZ Zâ¶mda ^a
~) OmoIr‘ ì¶dñWmnZmMo EH$ÌrH$aU
H$) nma§nm[aH$ boIm nÕVtMo H$R>moa nmbZ

v) "amoI àdmh {ddaU' Imbrb VrZ {d^mJm§‘Ü¶o {d^mJbo Amho .............
A) ‘hgyb, IM© Am{U {Zìdi CËnÝZ
~) ‘mb‘Îmm, Xm{¶Ëd Am{U gmYmaU ^mJ
H$) {H«$¶mH$maH$, Jw§VdUyH$ Am{U {dÎmnwadR>m
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vi) .............. ho ^maVr¶ ^m§S>dbr ~mOmamgmR>r àmW{‘H$ {Z¶m‘H$ àm{YH$aU Amho.
A) RBI
~) IRDA
H$) SEBI

àíZ àíZ àíZ àíZ àíZ 2) {dÎmr¶ ì¶dñWmnZmMm AW© Am{U C{Ôï>o ñnï> H$am. hr C{Ôï>o ì¶dgm¶ g§ñWobm {VMo Ü¶o¶ gmÜ¶
H$aÊ¶mgmR>r H$er ‘XV H$aVmV? [14]

àíZ àíZ àíZ àíZ àíZ 3) {dÎmr¶ {ddaU nÌo ¶m g§H$ënZoMo dU©Z H$am. CËnÝZ {ddaU nÌo Am{U Vmio~§X H§$nZrMo {dÎmr¶
Amamo½¶ g‘OyZ KoÊ¶mgmR>r H$er ‘XV H$ê$ eH$VmV? [14]

àíZ àíZ àíZ àíZ àíZ 4) ^m§S>dbr A§XmOnÌH$mV ‘wÔb naVr H$mb nÕV, {Zìdi dV©‘mZ ‘yë¶ nÕVr (NPV), boIm§H$ZmW©
ì¶mOXa nÕVr (ARR) Am{U naVmdm A§Vd}er nÕVr ¶m§Mr Cn¶w³VVm Am{U d¡{eï>o ñnï> H$am.

[14]

àíZ àíZ àíZ àíZ àíZ 5) IoiVo ^m§S>db ì¶dñWmnZ Am{U {dÎmnwadR>m n¶m©¶m§Mr gmYZo åhUyZ àmß¶ ì¶dñWmnZ, ’°$³Q>[a¨J
Am{U brO ’$m¶ZmpÝg¨J ¶m§Mr Vnerbdma MMm© H$am. [14]

àíZ àíZ àíZ àíZ àíZ 6) Q>rnm {bhm. (H$moUË`mhr XmoZ) [12]
A) ^m§S>dbr A§XmOnÌH$
~) nVYmoaU
H$) {dÎmr¶ {dûcofU
S>) ^maVr¶ {dÎmr¶ àUmbr





Q1) Fill in the blanks (Any 6) : [6]

i) Section 56 of Banking Regulation Act, 1949 is regarding to _______.
(Loans and Advances, Private Bank, Cooperative Banks)

ii) Holder in due course is always a ________

(Holder, Drawer, Drawee)

iii) The Reserve Bank of India established on ______

(1st April 1935, 1st April 1949, 1st April 1934)

iv) The _______ of the Securitization Act, 2002 is related to cancellation of
registration certificate.

(Section 4, Section 3, Section 5)

v) The ______ of the Securitization Act, 2002 is related to central registrar.

(Section 21, Section 22, Section 23)

vi) Section 45 of RBI Act 1934 is regarding to __________

(Appointment of agent, Credit information, Penalties, Share capital)

vii) The __________ of RBI Act, 1934 is regarding management of RBI.

(Section-7, Section-4 , Section-3 , Section-2)
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Q2) Explain various provisions regarding reconstruction of financial assets and
financial institutions under section 3 to 12A of securitisation Act, 2002. [14]

Q3) Define Bank under section 5 B. Explain various provisions in respect to business
of banking companies under section 6 of Banking Regulation Act,1949. [14]

Q4) Write a review of various regulations of Reserve Bank of India regarding
Digital Financial Services in India from 2012 to 2016. [14]

Q5) Explain various provisions regarding Central Banking functions under section
20 to 24 of the Reserve Bank of India Act, 1934. [14]

Q6) Write short notes (Any Two) : [12]

a) Monetary Policy Committee

b) Promissory Note

c) Central Registry

d) Noting and Protest


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àíZ àíZ àíZ àíZ àíZ 1) ¶mo½¶ n¶m©¶ {ZdSy>Z [aH$må¶m OmJm ^am. (H$moUË`mhr ghm) [6]

i) ~±qH$J {d{Z¶‘Z A{Y{Z¶‘, 1949 Mo H$b‘ 56 ............. À¶m g§X^m©V Amho.

(H$O© Am{U nydm©Yma, ImgJr ~±H$, ghH$mar ~±H$)

ii) ¶mWm{dYrYmaH$ hm Zoh‘r .......... Amho.

(YmaH$, AmXoeH$, AmXo{eVr)

iii) ^maVr¶ [aPd© ~±H$Mr ñWmnZm ............... amoOr Pmbr.

(1 E{àb 1935, 1 E{àb 1949, 1 E{àb 1934)

iv) amoIrH$aU H$m¶Xm 2002 Mo H$b‘ .............. Zm|XUr à‘mUnÌ aÔ H$aÊ¶mg§X^m©V
Amho.

(4, 3, 5)

v) amoIrH$aU H$m¶Xm 2002 Mo H$b‘ ............. H|$Ðr¶ {Z~§YH$ g§X^m©V Amho.

(21, 22, 23)

vi) ^maVr¶ [aPd© ~±H$ A{Y{Z¶‘ 1934 À¶m H$b‘ 45 .............. g§X^m©V Amho.

(à{V{Z¶w³Vr, H«o${S>Q> ‘m{hVr, X§S>, ^mJ ^m§S>db)

vii) ^maVr¶ [aPd© ~±H$ A{Y{Z¶‘, 1934 À¶m H$b‘ .......... ho ì¶dñWmnZ g§~§{YV Amho.

(7, 4, 3, 2)

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) amoIrH$aU H$m¶Xm 2002 À¶m H$b‘ 3 Vo 12A Zwgma {dÎmr¶ ‘mb‘Îmm Am{U {dÎmr¶ g§ñWm§Mr
nwZa©MZm g§X^m©Vrb {d{dY VaVwXr ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 3) H$b‘ 5B Zwgma ~±Ho$Mr ì¶m»¶m Úm. ~±H$ ì¶dgm¶ {Z¶‘Z H$m¶Xm 1949 ‘Yrb H$b‘ ghm
Zwgma ~±qH$J H§$nZrÀ¶m ì¶dgm¶mg§~§Yr {d{dY VaVwXr {deX H$am. [14]

àíZ àíZ àíZ àíZ àíZ 4) 2012 Vo 2016 ¶m H$mimVrb ^maVr¶ [aPd© ~±Ho$À¶m ^maVmVrb {S>{OQ>b {dÎmr¶ godm§À¶m
{d{dY {Z¶‘Zm§Mm AmT>mdm {bhm. [14]

àíZ àíZ àíZ àíZ àíZ 5) ^maVr¶ [aPd© ~±H$ H$m¶Xm 1934 À¶m H$b‘ 20 Vo 24 AZwgma ‘Ü¶dVu ~±Ho$À¶m H$m¶m©g§X^m©Vrb
{d{dY VaVwXr ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm. (H$moUË`mhr XmoZ) [12]
A) MbZ{df¶H$ YmoaU g{‘Vr
~) dMZ{MÇ>r
H$) H|$Ðr¶ Zm|XUr emIm
S>) AnamY Am{U X§S>





Q1) Fill in the blanks by selecting suitable choice (Any six) : [6]
i) ________ statement is not true regarding RBI.

a) It is the Central Bank of India.
b) It was established in 1935.
c) It can issue currency notes.
d) Personal account can be opened in RBI

ii) In the context of the Indian banking system, the ‘Cash Reserve Ratio’ is
decided by _________.
a) The Reserve Bank of India
b) The Ministry of Corporate Affairs
c) Individual banks
d) The Ministry of Finance

iii) _________ is called lender of last resort.
a) Commercial bank b) Agricultural bank
c) Industrial bank d) Central bank

iv) __________ is the custodian of India’s foreign exchange reserve.
a) Department of Finance b) State Bank of India
c) Reserve Bank of India d) SEBI
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v) Banks provide financial services such as insurance business is called
________.
a) Traditional Banking b) Para Banking
c) CASA Banking d) Nanow Banking

vi) ________ is/are subsidiaries of banks that offer Para banking services.
a) SBI Pension Funds Private Ltd
b) SBI Mutual Fund
c) ICICI Ventures
d) All of the above

vii) ‘Para Banking’ service means ________.
a) Eligible financial services rendered by banks
b) Services provided through Bank Mitra
c) Loans given by banks
d) Utility services provided by banks

viii) _____________ regulates and supervises NBFCs.
a) Finance Ministry b) SEBI
c) RBI d) State government

Q2) Explain Need and Rational of central Bank. [14]

Q3) Explain the function of Reserve Bank of India as a Currency Authority. [14]

Q4) What is Bank Assurance? Explain the Need and Benefits of Bank Assurance.
[14]

Q5) What is meant by NBFCs? Explain the types of NBFCs. [14]

Q6) Write Short Notes (Any Two) : [12]
a) Portfolio Management Services
b) Cash Reserve Ratio
c) Mutual fund business
d) Problems of Non-Banking Financial Companies


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àíZ àíZ àíZ àíZ àíZ 1) [aH$må`m OmJm ^am (H$moUË`mhr ghm) … [6]
i) .............. {dYmZ [aPìh© ~±Ho$~m~V Iao Zmhr.

A) hr ^maVmMr _Ü`dVu ~±H$ Amho

~) {VMr ñWmnZm 1935 _Ü ò Pmbr

H$) Vr MbZr ZmoQ>m Omar H$ê$ eH$Vo

S>) [aPìh© ~±Ho$V H$moUË`mhr ì`º$sbm ImVo CKS>Vm òVo

ii) ^maVr` ~±qH$J àUmbrÀ`m g§X^m©V, "amoI amIrd à_mU' .............. Ûmao R>a{dbo OmVo.

A) ^maVr` [aPìh© ~±H$ ~) H$m°nm}aoQ> ì`dhma _§Ìmb`

H$) d¡̀ {º$H$ ~±H$m S>) AW© _§Ìmb`

iii) .................. bm A§{V_ G$UXmVm Ago åhUVmV.

A) ì`mnmar ~±H$ ~) H¥$fr ~±H$

H$) Am¡Úmo{JH$ ~±H$ S>) _Ü`dVu ~±H$

iv) ............... hr g§ñWm ^maVmÀ`m naH$s` MbZ gmR>çmMr g§ajH$ Amho.

A) {dÎm {d^mJ ~) ^maVr` ñQ>oQ> ~±H$

H$) ^maVr` [aPìh© ~±H$ S>) go~r

P.T.O.
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v) ~±H$m {d_m ì`dgm`mgma»`m {dÎmr` godm nwa{dVmV Ë`mg ............. åhUVmV.

A) nma§nm[aH$ ~±qH$J ~) n°am ~±qH$J

H$) H°$gm ~±qH$J S>) Z°amo ~±qH$J

vi) .............. n°am ~±qH$J godm XoUmè`m ~±H$m§À`m CnH§$nÝ`m AmhoV.

A) Eg. ~r. Am`. noÝeZ \§$S> àm`ìhoQ> {b.

~) Eg. ~r. Am`. å ẁÀ ẁAb \§$S>

H$) Am`. gr. Am`. gr. Am`. ìh|Mg©

S>) darb gd©

vii) "n°am ~±qH$J godm åhUOo ...............

A) ~±H$m§Ûmao àXmZ Ho$boë`m nmÌ {dÎmr` godm

~) ~±H$ {_Ìm§Ûmao àXmZ Ho$boë`m godm

H$) ~±H$m§Zr {Xbobo H$O©

S>) ~±H$m§Ûmao àXmZ Ho$boë`m Cn ẁº$ godm

viii) ................... ~±Ho$Îma {dÎmr` H§$nÝ`m§Mo {Z`_ Am{U n ©̀dojU H$aVo.

A) AW© _§Ìmb` ~) go~r

H$) ^maVr` [aPìh© ~±H$ S>) amÁ` gaH$ma

àíZ àíZ àíZ àíZ àíZ 2) _Ü`dVu ~±Ho$Mr JaO Am{U VH©$g§JVVm ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 3) MbZ {Z{_©Vr àm{YH$aU åhUyZ ^maVr` [aPìh© ~±Ho$Mo H$m ©̀ ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 4) ~±H$ {d_m åhUOo H$m`? ~±H$ {då`mMr JaO Am{U \$m`Xo ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 5) ~±Ho$Îma {dÎmr` H§$nZr åhUOo H$m`? ~±Ho$Îma {dÎmr` H§$nZrMr àH$ma g{dñVa ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm (H$moUË`mhr XmoZ) … [12]
A) nmoQ>©\$mo{bAmo ì`dñWmnZ godm

~) amoI amIrd à_mU

H$) å ẁÀ ẁAb \§$S> ì`dgm`

S>) ~±Ho$Va {dÎmr` H§$nÝ`m§À`m g_ñ`m





Q1) Fill in the blanks by selecting suitable choice (Any six) : [6]
i) Finance, research and development, purchasing and manufacturing are

all activities that are a part of ______ element of the micro environment.
a) Company’s internal environment
b) Suppliers
c) Marketing channel firms
d) Public

ii) _________ environment includes the convergence of a wide range of
forces in the marketing environment from technological, economic, and
demographic forces to cultural, social and political ones.
a) Marketing b) Cultural
c) Technographic d) Millennial

iii) Sensitivity of demand to change in price is known as _______.
a) Cost-plus price b) Break-even price
c) Price elasticity d) Inelastic

iv) ________ is concerned with pricing policies for late entrants to a market.
a) Market penetration b) Marketing research
c) Market skimming d) Marketing skills
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v) _______ coined the expression ‘Marketing Mix’.
a) Henry Fayol b) Peter Drucker
c) James Culliton d) None of the above

vi) _________ among the following are elements of communication mix.
a) Advertising b) Personal selling
c) Publicity d) All of the above

vii) The disadvantage of E-marketing is ________.
a) Technology b) Lower connection speed
c) Price d) Both a and b

viii) Full form of SEO is ______.
a) Search Engine Optimization b) Search Engine Operation
c) System Engine Optimization d) All of the above

Q2) What is marketing? Explain the objectives and importance of marketing. [14]

Q3) What is price mix? Explain the importance and objectives of pricing. [14]

Q4) Define advertising. Explain the benefits of advertising in detail. [14]

Q5) What is public relation? Explain the role of public relation officer. [14]

Q6) Write Short Notes (Any two) : [12]
a) Approaches to the study of Marketing
b) Product Life Cycle
c) Personal Selling
d) E-Marketing Promotion


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àíZ àíZ àíZ àíZ àíZ 1) `mo½` n`m©̀ mMr {ZdS> H$ê$Z [aH$må`m OmJm ^am (H$moUË`mhr ghm) … [6]

i) {dÎm, g§emoYZ Am{U {dH$mg, IaoXr Am{U CËnmXZ ho gd© {H«$`mH$bmn gyú_ dmVmdaUmVrb
............. KQ>H$mMm ^mJ AmhoV.

A) H§$nZrMo A§VJ©V dmVmdaU ~) nwadR>mXma

H$) {dnUZ M°Zob H§$nÝ`m S>) bmoH$

ii) .............. n`m©daUm_Ü ò {dnUZ dmVmdaUmVrb Vm§{ÌH$, Am{W©H$ Am{U bmoH$gm§p»`H$s`
eº$s¨¨nmgyZ gm§ñH¥${VH$, gm_m{OH$ Am{U amOH$s` eº$s¨À`m {dñV¥V loUrMo A{^gaU
g_m{dï> Amho.

A) _mH}$qQ>J ~) gm§ñH¥${VH$

H$) Q>oŠZmoJ«m{\$H$ S>) ghòmãXr

iii) qH$_VrVrb ~XbmgmR>r _mJUrMr g§doXZerbVm ............ åhUyZ AmoiIbr OmVo.

A) IM© A{YH$ qH$_V ~) ~«oH$-BìhZ qH$_V

H$) qH$_V bd{MH$Vm S>) bd{MH$

iv) `mn¡H$s H$moUË`m ~mOmam_Ü ò Ceram àdoe H$aUmè`m§gmR>r qH$_V YmoaU g§~§{YV Amho?

A) ~mOmamV àdoe ~) {dnUZ g§emoYZ

H$) _mH}$Q> pñH$q_J S>) {dnUZ H$m¡eë`

P.T.O.
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v) "_mH}$qQ>J {_Šg' hm eãXà`moJ ................ V`ma Ho$bm?

A) hoZ«r \o$`mob ~) nrQ>a S´>H$a

H$) Ooåg Š ẁ{bQ>Z S>) darbn¡H$s H$mhrhr Zmhr

vi) .............. g§àofU {_lUmMo KQ>H$ AmhoV.

A) Om{hamV ~) d¡`{º$H$ {dH«$s

H$) à{gÕr S>) darb gd©

vii) B©-_mH}$qQ>JMm VmoQ>m åhUOo ...............

A) V§ÌkmZ ~) H$_r H$ZoŠeZ JVr

H$) qH$_V S>) A Am{U ~ XmoÝhr

viii) SEO Mo nyU© ñdê$n ............ Amho.

A) emoY B§{OZ Am°{ï>_m`PoeZ ~) emoY B§{OZ Am°naoeZ

H$) {gñQ>_ B§{OZ Am°pßQ>_m`PoeZ S>) darb gd©

àíZ àíZ àíZ àíZ àíZ 2) {dnUZ åhUOo H$m`? {dnUZmMr C{Ôï>o Am{U _hÎd ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 3) qH$_V {_lU åhUOo H$m`? {H$_VrMo _hÎd Am{U C{Ôï>o ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 4) Om{hamV n[a^m{fV H$am. Om{hamVtMo \$m`Xo Vnerbdma gm§Jm. [14]

àíZ àíZ àíZ àíZ àíZ 5) OZg§nH©$ åhUOo H$m`? OZg§nH©$ A{YH$mè`mMr ŷ{_H$m ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm (H$moUË`mhr XmoZ) … [12]

A) {dnUZ Aä`mgmMo Ñï>rH$moZ

~) CËnmXZ OrdZ MH«$

H$) d¡̀ {º$H$ {dH«$s

S>) B©-_mH}$qQ>J à_moeZ





Q1) Multiple choice questions: (Any 6) [6]
a) In which of the following areas did the consumer have the most influence?

i) Manufacturer
ii) Wholesaler
iii) Retailer

b) Consumer Behaviour means ______ .
i) The study of Buying Behaviour of Consumers
ii) The study the financial behaviour of Consumers
iii) The study the common behaviour of Consumers

c) In Maslow’s Need Hierarchy Theory _______ is the highest level of
need.
i) Physiological Need
ii) Security Need
iii) Self - Actualization Fulfilment

d) Biological Motives does not include _______ of the following.
i) Hunger
ii) Thirst
iii) Social Recognition

P.T.O.
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e) Memory that lasts less than 30 seconds is generally called _______ .
i) Short term memory
ii)  Long, term memory
iii) Episodic memory

f) ______ makes the classification of people into higher class, Middle class
and Lower class.
i) Social class
ii) Marketing class
iii) Financial class

g) In family decision ______ persons are involved.
i) Two or more family members
ii) One family member
iii) One family member and one social member

h) A social class refers to the _______ individual occupies in a society.
i) Social Position
ii) High Class Education and occupation
iii) Both

Q2) Explain the sociological model and other Relevant model in detail. [14]

Q3) What is ‘Consumer Motivation’? Explain the Objectives of Consumer
motivation as well as Maslow’s Hierarchy of Needs Theory. [14]

Q4) What is ‘Attitudes’? Explain the characteristics, Functions of attitudes and
factors involved in attitude formation.  [14]

Q5) Explain in detail the concepts- ‘Social Class’ and ‘Family Life’. [14]

Q6) Write Short Notes (Any two) [12]
a) Howard Sheth Model
b) Needs of Consumer motivation
c) Components of Learning
d) Culture and Subculture

… … …
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à.à.à.à.à.1) ~hþn¶m©Mr àíZ. (H$moUVohr ghm) [6]
A) Imbrb n¡H$s H$moUË¶m joÌmV J«mhH$m§Mm gdm©{YH$ à^md nS>Vmo?

i) CËnmXH$
ii) KmD$H$ {dHo«$Vm
iii) {H$aH$moi {dH«o$Vm

~) J«mhH$ dV©Z åhUOo ...........
i) J«mhH$m§À¶m IaoXr dV©ZmMm Aä¶mg
ii) J«mhH$m§À¶m {dÎmr¶ dV©ZmMm Aä¶mg
iii) J«mhH$m§À¶m gm‘mÝ¶ dV©ZmMm Aä¶mg

H$) ‘mñbmoÀ¶m JaOm§À¶m loUrÀ¶m {gÕm§Vm‘Ü¶o  ............. hr A{VCƒ nmVirdarb JaO Amho.
i) emar[aH$ JaO
ii) gwa{jVVoMr JaO
iii) OrdZ gm’$ë¶mMr JaO

S>) O¡{dH$ àoaUo‘Ü¶o ........... Mm g‘mdoe ZgVmo.
i) ^yH$
ii) VhmZ
iii) gm‘m{OH$ ‘mÝ¶Vm

B) gd©gmYmaUV… 3 goH§$Xm§nojm H$‘r H$mi {Q>H$Zmè¶m g‘¥Vrbm ......... Ago åhUVmV.
i) AënH$mbrZ ñ‘¥Vr
ii) XrK©H$mbrZ ñ‘¥Vr
iii) KQ>Zm ñ‘¥Vr
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’$) .............. ‘Ü¶o bmoH$m§Mo dJuH$aU Cƒ dJ©, ‘Ü¶‘dJ© Am{U H${Zð> dJ© Ago Ho$bo OmVo.
i) gm‘m{OH$ dJ©
ii) {dnUZ dJ©
iii) {dÎmr¶ dJ©

¶) H$m¡Qw>§{~H$ {ZU©¶m‘Ü¶o .............ì¶º$s¨Mm g‘mdoe hmoVmo.
i) EH$ qH$dm A{YH$ Hw$Qw>§~ gXñ¶
ii) EH$ Hw$Qw>§~ gXñ¶
iii) EH$ Hw$Qw>§~ gXñ¶ Am{U EH$ gm‘m{OH$ gXñ¶

a) gm‘m{OH$ dJ© åhUOo ........... Ûmao ì¶º$sZo gm‘mOm‘Ü¶o {‘i{dbobo ñWmZ hmo¶.
i) gm‘m{OH$ XOm©
ii) Cƒ {ejU Am{U ì¶dgm¶
iii) XmoÝhr

à.à.à.à.à.2) g‘mOemór¶ àmê$n Am{U BVa g§~§{YV àmê$no g{dñVa ñnï> H$am. [14]

à.à.à.à.à.3) J«mhH$ àoaUm åhUOo H$m¶? J«mhH$ àoaUoMr C{Ôï>o VgoM ‘mñbmoÀ¶m JaOoÀ¶m {gÕm§VmMo ñnï>rH$aU H$am.[14]

à.à.à.à.à.4) J«mhH$ A{^d¥Vr åhUOo H$m¶? J«mhH$ A{^d¥VrMr d¡{eï²>¶o, H$m¶} Am{U A{^d¥Vr {Z{‘©Vr‘Yrb gm‘m{dï>
KQ>H$ ñnï> H$am. [14]

à.à.à.à.à.5) gm‘m{OH$ g‘yh Am{U H$m¡Qw>§{~H$ OrdZ ¶m g§H$ënZm g{dñVa ñnï> H$am. [14]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]

A) hm°dS>© eoR> ‘m°S>ob

~) J«mhH$ àoaUoMr JaOm

H$) AÜ¶¶ZmMo KQ>H$

S>) g§ñH¥$Vr Am{U Cng§ñH¥$Vr

… … …
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Q1) What is Financial Analysis and Control? Explain it’s advantages and uses.[15]
OR

Convert the following statement of Profit and Loss Account of ABC Ltd.
Into the comparative statement of profit and loss of ABC Ltd.
Particulars 2022-23 (Rs.) 2023-24 (Rs.)
Revenue from operations 60,00,000 75,00,000
Other Incomes 1,50,000 1,20,000
Expenses 44,00,000 50,60,000
Income Tax 35% 40%

Q2) What is Fund Flow Statement? Explain it’s Advantages and Uses. [15]
OR

Following is the Balance Sheets of a Ramesh & sons :
Liabilities 1-1-23 31-12-23 Assets 1-1-23 31-12-23
Creditors 36,000 41,000 Cash 4,000 3,600
Loan from Partner - 20,000 Debtor 35,000 38,400
Loan from Bank 30,000 25,000 Stock 25,000 22,000
Capital 1,48,000 1,49,000 Land 20,000 30,000

Building 50,000 55,000
Machinery 80,000 86,000

2,14,000 2,35,000 2,14,000 2,35,000
During the year Rs. 26,000 paid as dividend. The provision made for
depreciation against machinery as on 1.1.23 was Rs. 27,000 and on 31.12.23.
Rs. 36,000.
Prepare a Cash Flow statement.

P.T.O.
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Q3) What is Ratio Analysis? Explain it’s Advantages and Limitations. [15]
OR

Balance Sheet
Liabilities Rs. Assets Rs.
Equity Share Capital 5,00,000 Land & Building 1,00,000
Preference share capital 2,00,000 Machinery 4,00,000
General Reserve 1,00,000 Furniture 50,000
Secured Loan 3,00,000 Inventory 3,00,000
Sundry Creditors 1,00,000 Sundry Debtors 3,00,000

Cash/Bank Balance 50,000
12,00,000 12,00,000

Calculate following ratios from the above balance sheet :
a) Current Ratio
b) Liquid Ratio
c) Proprietary Ratio
d) Stock Working Capital Ratio
e) Capital Gearing Ratio
f) Debt Equity Ratio

Q4) Write short notes (Any three out of five) [15]
a) Importance of Financial Analysis and Control.
b) Limitations of Comparative and Common Size Statements.
c) Uses of Comparative and Common Size Statements.
d) Uses of Cash Flow Statement.
e) Trend Analysis.





Q1) Fill in the blanks (Any six) : [6]
i) The ratio between input and output is _______.

a) Average b) Median
c) Productivity d) Total Production

ii) 5 S is __________.
a) Tool of Measurement of Industrial Average
b) Tool of Measurement of Industrial Production
c) Tool of Measurement of Industrial Productivity
d) Tool of Measurement of Industrial index

iii) The concepts of capital formation, capital utilization and capital regulation
are related to________
a) Industrial Production b) Industrial Profit
c) Industrial Finance d) Industrial Loss

iv) A liberal approach towards foreign capital was laid down in the industrial
policy of _______.
a) 1948 b) 1956
c) 1991 d) 1970

Total No. of Questions : 6]
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v) Existence of second manufacturing firm in merger ______.
a) Comes to an end b) Does not end
c) Remains independent d) None of the above

vi) All the existing manufacturing organizations destroy their names, existence
and commercial independence to establish a new manufacturing
organization is called __________.
a) Amalgamation b) Partnership
c) Limited Company d) None of the above

vii) ________ is the factor that affects industrial location.
a) Geographical Structure b) Organizer’s wish
c) Workers Wish d) None of the above

viii) ________ factor does not affect industrial location.
a) Availability of land b) Financial Facility
c) Government Policy d) Transporters wish

Q2) What is Industrial productivity? Write tools of measurement of industrial
productivity. [14]

Q3) What is industrial finance? Explain scope and importance of industrial finance.
[14]

Q4) What is Industrial Economics? Explain the nature and scope of industrial
economics. [14]

Q5) What is industrial location? Explain Alfred Weber's theory of Industrial
Location. [14]

Q6) Write short notes on (Any 2) : [12]
a) Causes of low Industrial productivity
b) Need of Foreign Capital
c) Need of Industrial Economics
d) Measures for balanced regional industrial development


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àíZ àíZ àíZ àíZ àíZ 1) [aH$må`m OmJm ^am (H$moUË`mhr ghm) … [6]
i) AmXmZ Am{U CËnmXZ `mVrb JwUmoÎma åhUOo ............. hmò .

A) gamgar ~) _Ü`Jm
H$) CËnmXH$Vm S>) EHy$U CËnmXZ

ii) 5 S ho ............ Amho.
A) Am¡Úmo{JH$ gamgar _moOÊ`mMo gmYZ
~) Am¡Úmo{JH$ CËnmXZ _moOÊ`mMo gmYZ
H$) Am¡Úmo{JH$ CËnmXH$Vm _moOÊ`mMo gmYZ
S>) Am¡Úmo{JH$ {ZX}em§H$ _moOÊ`mMo gmYZ

iii) ^m§S>dbmMr C^maUr, ^m§S>dbmMm dmna Am{U ^m§S>dbmMo {Z`_Z `m g§H$ënZm
................... er g§~§{YV AmhoV.
A) Am¡Úmo{JH$ CËnmXZ ~) Am¡Úmo{JH$ Z\$m
H$) Am¡Úmo{JH$ {dÎm S>) Am¡Úmo{JH$ VmoQ>m

iv) naH$s` ^m§S>dbm{df`r CXma Ñï>rH$moZ ................ À`m Am¡Úmo{JH$ YmoaUmV {Z{üV
H$aÊ`mV Ambm.
A) 1948 ~) 1956
H$) 1991 S>) 1970

P.T.O.
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v) {d{bZrH$aU _Ü ò Xþgè`m CËnmXZ g§ñWoMo ApñVËd ................

A) g§nwï>mV ̀ oVo ~) g§nwï>mV òV Zmhr

H$) ñdV§Ì amhVo S>) `mn¡H$s Zmhr

vi) ApñVËdmV Agboë`m gd© CËnmXZ g§ñWm ñdV…Mr Zmdo, ApñVËd Am{U ì`mdgm{`H$ ñdmV§Í`
Zï> H$ê$Z EH$m ZdrZ CËnmXZ g§ñWoMr ñWmnZm H$aVmV Ë`mg .............. åhUVmV.

A) g_m_obmZ ~) ^mJrXmar

H$) _`m©{XV H§$nZr S>) `mn¡H$s Zmhr

vii) Am¡Úmo{JH$ ñWmZ {Z{üVrda ........... hm KQ>H$ n[aUm_ H$aVmo.

A) ^m¡Jmo{bH$ aMZm ~) g§̀ moOH$m§Mr BÀN>m

H$) H$m_Jmam§Mr BÀN>m S>) `mn¡H$s Zmhr

viii) Am¡Úmo{JH$ ñWmZ {Z{üVrda ........... KQ>H$ n[aUm_ H$aV Zmhr.

A) ŷ_rMr CnbãYVm ~) {dÎmr` gw{dYm

H$) emgH$s` YmoaU S>) dmhVyH$Xmam§Mr BÀN>m

àíZ àíZ àíZ àíZ àíZ 2) Am¡Úmo{JH$ CËnmXH$Vm åhUOo H$m`? Am¡Úmo{JH$ CËnmXH$VoÀ`m _mnZmMr gmYZo {bhm. [14]

àíZ àíZ àíZ àíZ àíZ 3) Am¡Úmo{JH$ {dÎm åhUOo H$m`? Am¡Úmo{JH$ {dÎmmMr ì`már Am{U _hÎd ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 4) Am¡Úmo{JH$ AW©emó åhUOo H$m`? Am¡Úmo{JH$ AW©emómMo ñdê$n Am{U ì`már ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 5) Am¡Úmo{JH$ ñWmZ {Z{üVr åhUOo H$m`? Am¡Úmo{JH$ ñWmZ {Z{ü{VMm Amë\«o$S> do~aMm {gÕm§V ñnï>
H$am. [14]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm (H$moUË`mhr XmoZ) … [12]
A) H$_r Am¡Úmo{JH$ CËnmXH$VoMr H$maUo

~) naH$s` ^m§S>dbmMr JaO

H$) Am¡Úmo{JH$ AW©emómMr JaO

S>) g§Vw{bV àmXo{eH$ Am¡Úmo{JH$ {dH$mgmMo Cnm`


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Q1) Choose the correct alternative from each of the following: (Any six)[6×1=6]
a) Which of the following is not a continuous random variable (r.v.)?

i) time at a particular place
ii) speed of the vehicle
iii) radius of the circle
iv) no.of childrens in the family.

b) If for a r.v. X, E(X) = 10 and Var(X) = 2 then E(X–10) and Var (X–2) are
equal respectively _______ and  _______ .
i) 0, 2 ii) 0, 0
iii) 0, 1 iv) 1, 0

c) If X  poisson (m) with Var(x) = 4 then mean of X = _______
i) 2 ii) 4
iii) 16 iv) 0

d) If XN (10, 4) then mode of r.v. X = ______
i) 4 ii) 10
iii) 14 iv) 0

e) A hypothesis of no difference is called as ______
i) Null hypothesis ii) Alternative hypothesis
iii) One sided hypothesis iv) Two sided hypothesis

P.T.O.
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f) For testing goodness of fit in case of small sample the appropriate test to
be used is ______
i) normal test ii) chi-square test
iii) t-test iv) F-test

g) In time series analysis, the method of moving averages is used to
estimate ______
i) trend ii) seasonal variation
iii) cyclical variation iv) irregular variation

h) In time series, the component having period of oscillation less than one
year is called as ______
i) trend ii) seasonal variation
iii) cyclical variation iv) irregular variation

Q2) Attempt each of the following:
a) Describe the term ‘Business cycle’. What are the four phases of business

cycle? What are the subjects of studying business cycles? [5]
b) Fit a linear trend line to the following time series by the least square

method. [5]
year (t) 2018 2019 2020 2021 2022
production (yt) 12 20 28 25 32
(in lakh tonnes)
Hence estimate the production for the year 2024

c) Explain how exponential smoothing is superior to moving average. [4]

Q3) Attempt each of the following:
a) Let X be a discrete r.v. with probability mass function (p.m.f) [5]

P(X = x) = K ; x = 1, 2, 3, 4, 5, 6
      = 0  ; otherwise

Find the value of constant K, mean and variance of X.
b) Let X be a continuous r.v. with probability density function (p.d.f) [5]

f(x) = Kx2 ; 0 < x < 3
= 0 ; otherwise

Find the value of constant K, mean and variance of X.
c) Define : Bivariate r.v., joint probability function and marginal probability

function. [4]
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Q4) Attempt each of the following:  [14]

a) If  XB (n,p) with mean = 12 and variance =  
1
4

, then find the values of

parameter n, p and hence q. Also find the value of P (X = 0) [5]
b) The scores secured by students in a certain test are normally distributed

with mean 60 and variance 9. Find the percentage of students who
scoring [5]
i) at least 60 marks
ii) at most 70 marks

c) If XPoisson (m) with P(X = 1) = 2P(X = 2), then find the value of
parameter m, its mean and variance and P(X = 0) [4]

Q5) Attempt each of the following:
a) Explain the terms: Hypothesis, Null hypothesis,

Alternative hypothesis,
Critical region, Acceptance region. [5]

b) A coin is tossed 400 times and it turned up tail 210 times. Can the coin
be regarded as fair? Use 5% level of significance (l.o.s.) [5]

c) Distinguish between paired and unpaired t-test. [4]

Q6) Attempt any two of the following: [2×6=12]
a) Explain with illustrations : Types I error and

 Type II error
b) Explain the chi-square test of goodness of fit.
c) If X N(0,1) then write the probability density function of X, Also state

its mean, median, mode, variance and standard deviation. Also find
P(X 0) , P(X 0) .

d) If  a fair coin is tossed thrice. If a r.v. X denote the no. of heads and
r.v. Y denote the no. of tails. Obtain the joint probability distribution of
(X,Y). Hence obtain marginal probability distribution of X and of Y.

… … …
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Q1) A) Multiple Choice Questions: [5]
a) What is the purpose of the escrow account under RERA?

i) To hold the booking amount until the project is completed
ii) To hold the entire project cost until the project is completed
iii) To hold 70% of the project cost in a separate account
iv) To hold the promoter’s share of the project cost

b) Which of the following is a penalty imposed on promoters under
RERA for noncompliance?
i) Up to 10% of the project cost
ii) Up to 5% of the project cost
iii) Up to 3 years imprisonment
iv) All of the above

c) According to AS-14 purchase consideration is the sum of payment
made to the:
i) Debenture holders and shareholders
ii) Debenture holders
iii) Shareholders
iv) Director

d) The loss incurred on an incomplete contract is transferred to
_______ Account
i) Profit & Loss Account
ii) Costing Profit and loss account
iii) Trading Account

e) X Ltd goes into liquidation and an existing company Z Ltd purchases
the business of X Ltd. It is a case of ________.
i) Absorption
ii) External Reconstruction
iii) Amalgamation

P.T.O.
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B) State the following statement True or False: [5]
a) The chairman of IRDA is appointed by the prime minister.
b) Insurance policies are typically contracts between the insurer and

the beneficiary.
c) The heads of expenditure in a hotel business include Revenue, labour

costs and utility expenses.
d) Cost plus contracts involve reimbursement of fixed costs plus an

agreed upon percentage of profit.
e) A regular taxpayer filling GSTR 1 and GSTR 3B.filled GSTR-9

form.
C) Match the following Pair. [5]

Column A Column B
a) AS-14 i) True and Fair view of financial

position
b) Escalation Clause ii) Protect the contractor.
c) Internal Reconstruction iii) Maintain books of & records at

least 72 months(6 years)
d) Fund Based Accounting iv) Self balancing set of accounts
e) GST Act v) Accounting for Amalgamation

Q2) You are required to prepare the contact account for the year ended 31st March
2023 and show the calculation of the sum to be credited to the profit and loss
account for that year.
On 1st April 2022 M.N. Ltd commenced work on a contract which was to be
completed by 30 June 2023 at an agreed price of rupees 5,20,000.
M.N. Limited’s financial year ended on 31st March 2023 and on the date
expenditure on the contact totalled Rs. 2,63,000 made up as under: [15]

Particulars Rs.
Plant 30,000
Materials 1,24,000
Wages 95,000
Sundry Expenses 5,000
Head office Charges 9,000

2,63,000
Cash totaling Rs. 1,95,000 had been received by 31st March 2023,

representing 75% of the work certified as completed on that date. In addition
work costing Rs. 30,000 had been completed but not certified.

A sum of Rs.9,000 had been obtained on sale of materials which had
cost Rs. 8,000 but which had been found suitable. On 31st March 2023 stock
of unused material on site was a Rs. 10,000 and the plant was valued at Rs.
20,000. To complete the contract by 30 June 2023. it was estimated that:
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a) The following additional expenditure would be incurred:
Particulars Rs.
Wages 64,000
Materials 74,400
Sundry Expenses 9,000

b) Further plants costing Rs. 25,000 would be required.
c) The residual value of all plants used on the contract up to 30th June,

2023 would be Rs. 15,000.
d) Head office charges to be contracted would be at the same annual rate

plus 10%.
It was estimated that the contract would be completed on time but a
contingency provision of Rs. 15,000 should be made. From this estimate
and the expenditure already incurred. It was decided to estimate the total
profit that would be made on the contract and to take the credit of the
profit and loss account for the year ended 31st March, 2023. the proportion
of the total profit relating to the work actually certified up to that date.

Q3) Summarize balance sheet of Alpha Limited as on 31st March 2020 was as
follows: [15]
Liabilities Rs. Assets Rs.
Issued capital: Goodwill 30,000
1,00,000, 6% Preference

Fixed Assets 2,23,000Shares of Rs. 1 each 1,00,000
80,000 Equity shares of Stock 40,000
Rs. 1 Each 80,000
Reserve 20 ,000 Preliminary Expenses 5,000
Profit and Loss A/c 10,000 Cash 12,000
5% Debenture 1,20,000 Debtors 70,000
Creditors 50,000

3,80,000 3,80,000
A new company Prosperous Limited was formed to acquire the business

of Alpha Limited which was to wound up.
Prosperous Limited acquired the assets of Alpha Limited with the

exception of book debts and cash but took over no liability agreed however
to collect the debts and pay the creditors as agent for Alpha Limited. The
Purchase consideration was to be satisfied as follows ;
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a) To the preference shareholders of Alpha Limited were to be allotted six
7% preference shares of Rs.1 each in Prosperous Limited for every five
shares held and to the equity shareholders of Alpha Limited five equity
shares of Rs.1 each 90 paise paid for every four shares held.

b) Sufficient 6% debentures in prosperous limited to be unable the liquidators
of Alpha limited to satisfy the existing debenture holders by new
debentures to an extent that would give them a premium of 15%.

c) The expenses of liquidation wear Rs. 5,850.
d) The article of association of Alpha Limited gave to the preference shares

a cumulative preference dividend, any arrears of which were payable on
winding up in priority to return of capital and preferential return of capital
in a winding up 6 months dividend was payable.

e) Of the Debtors Rs. 2,000 provided bad and its discount of 2½ % had to
be allowed on settlement.

f) Creditors were paid subject to 4% discount on Rs. 25,000. The
purchasing company allowed a commission of Rs. 450 for this work
Show the ledger accounts necessary to close Alpha Limited books making

calculations to the nearest rupee and give entries in the books of prosperous
Limited only in respect of Vendors, debtors and creditors.

Q4) Following is the distance payment account of the Mumbai Trust Hospital for
the year ended 31st March 2023. [15]
Receipts Rs. Payment Rs.
To Cash in hand 5,000 By Medicines 50,000
To (1-4-2022) cash at Bank 10,000 By Wages and Salaries 10,000
To Subscription 75,000 By Electricity 3,000
To Government subsidy 10,000 By Doctors Fees 25,000
To Fees received 50,000 By Surgical Equipment’s 5,000
from patient
To Sundries 2,000 By Insurance premium 1,000

By Telephone bill 2,000
By Printing & Stationery 3,000
By Sundry Expenses 2,000
By Water Charges 3,000
By Balance;
Cash in hand 8,000
Cash at Bank 40,000

1,52,000 1,52,000
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Additional information:
Sr. Details As on 1st As on 1st

No April, 2022 April, 2023
1 Subscription receivable 5,000 7,500
2 Subscription received in advance 2,000 5,000
3 Wages and salaries outstanding 2,000 7,000
4 Stock of medicines 20,000 25,000
5 Surgical equipment’s 20,000 23,000
6 Insurance prepaid 200 100
7 Machines 1,00,000 90,000

You are required to prepare an Income and Expenditure Account for the
year ended 31st March,2023 and Balance sheet as on that date.

Q5) Write short Note (Any 03) [15]
a) Absorption.
b) Features of Hotel Accounting.
c) Goods and Service Tax
d) Funds in Accounting for Educational Institution


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Q1) Multiple Choice Questions (Any six) [6]
a) “Charitable purpose” includes ______ .

i) Relief of the poor ii) Education
iii) Medical relief iv) All of these

b) Anonymous donations received by a charitable trust is chargeable to tax
at the rate of ______
i) 30% ii) 15%
iii) 20% iv) 10%

c) From tax point of view, a limited liability partnership (LLP) is treated
as ______
i) Sole trader concern ii) General partnership firm
iii) Private limited company iv) Public limited company

d) In computing the income under the head Profits and Gains of Business
or Profession of a firm which is assessed as such, any interest paid to
any partner in excess of _______ simple interest p.a. shall be disallowed
in accordance with the provisions of Section 40(b).

i) 6% ii) 12%
iii) 15% iv) 18%

P.T.O.
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e) In India, the Co-operative Societies Act was passed in the year ______ .

i) 1912 ii)  1919
iii) 1904 iv) 1947

f) For Co-operative Credit Societies, the interest rate for deposits are fixed
by ________.
i) Registrar ii)  Government
iii) Members iv)  RBI

g) _______ notify the rate of tax to be levied under CGST Act.
i) Central Govt. ii) GST Council
iii) State Govt. iv) None of the above

h) Aggregate turnover includes ________ .
i) Taxable supplies of goods or service or both
ii) Exempt supplies of goods
iii) Exports
iv) All of the above

Q2) The total income of Sinhgad co-operative society (other than consumer
co-operative society) for the financial year ending 31st March 2024 under
various heads is as under: [14]

Rs.
Banking Business 10,000
Income from cottage industry 15,000
Marketing of agricultural produce grown by its members 15,000
Income from purchase and sale of agricultural implements
to members 12,000
Profits and gains of business 75,000
Interest and dividend from other cooperative society 12,000
Collective disposal of labour 11,000
Income from house property 50,000
Compute taxable income of the co-operative society
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Q3) Adhar Charitable Trust submits the particulars of its Receipts and Payments
during the previous year 2023-24. [14]
a) Income from Property held under trust for charitable purposes

Rs. 24,00,000
b) Voluntary contribution (Rs. 12,00,000 will form part of Corpus)

Rs. 22,00,000.
c) Donations paid to Charitable School Rs. 10,00,000.
d) Scholarship paid to slum Students Rs. 4,00,000.
e) Amount spent on holding free Eye checkup camps in Urban slums

Rs. 6,00,000.
f) Amount set apart for setting up an old age home by March 2021

Rs. 6,00,000.
Compute the total income and Tax liability of the trust for the assessment
year 2024-25.

Q4) The Profit and Loss A/c of SK Ltd. (a Partnership Firm) for the year ended
31st March 2024 is a follows:  [14]

Profit and Loss A/c
For the year ended 31st March 2024

Dr. Cr.
Particulars Rs. Particulars Rs.
Cost of goods sold 10,00,000 Sales 18,00,000
Remuneration to Partners 4,49,000 Rent of house

 property 60,000
Interest to
Partners @ 18% p.a. 60,000 Dividend 1,70,000
Municipal Tax of
house property 25,000
Other expenses 2,36,000
Net Profit 2,60,000

20,30,000 20,30,000
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Other Information:

a) Out of other expenses Rs. 18,400 is not deductible u/s 36, 37 (1) and
43B.

b) On 15.1.2024, the firm pays an outstanding Sales Tax Liability of
Rs. 54,700 of the previous 2022-23. As this amount pertains to the previous
year 2022-23, it has not been debited to the aforesaid Profit and
Loss A/c.

Calculate Remuneration under section 40 (b).

Q5) Define Tax Planning. Explain the need, objectives and limitations of Tax
Planning in detail. [14]

Q6) Write Short Notes (Any two) [12]

a) Forms of Income Tax Returns

b) Types of assessment

c) Procedure for registration under GST

d) Input Tax Credit

… … …
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Q1) Multiple Choice Questions. (Attempt any six) : [6]
a) What is the primary goal of e-security?

i) To prevent unauthorized access to data

ii) To ensure the confidentiality of information

iii) To protect against cyber attacks

iv) All of the above

b) Which of the following is a common cyber-attack method?

i) Phishing ii) Spoofing

iii) Denial of Service (DoS) iv) All of the above

c) Which of the following is an example of a strong password?

i) Password l23 ii) 123456

iii) P@ssw0rd! iv) abcd

d) Which law governs cyber-crimes in India?

i) Information Technology Act, 2000

ii) Indian Penal Code

iii) Cyber Security Act, 2013

iv) None of the above

e) What is the purpose of the Children’s Online Privacy Protection Act
(COPPA)?

i) Regulating online gaming

ii) Protecting the privacy of children under 13 years of age

iii) Preventing cyberbullying

iv) Establishing cybersecurity standards for businesses

P.T.O.
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f) What is the primary purpose of cyber laws and regulations?

i) Restricting internet usage

ii) Protecting computer hardware

iii) Preventing cyber threats and crimes

iv) Promoting software development

g) What is the primary purpose of encryption in e-security?

i) To prevent unauthorized access to data

ii) To detect and remove malware

iii) To block incoming threats

iv) To make data transmissions faster

Q2) State the meaning of computer frauds. Explain in detail the types of computer
frauds.  [14]

Q3) What is Cyber Law? Explain in detail the scope of cyber laws. [14]

Q4) What is the meaning of E-Security? Explain in detail the Types of Information
system control. [14]

Q5) State the meaning of the Information Technology Act. Explain in detail the
Legal Provisions in Information Technology Act relating to Digital Signature
Certificate. [14]

Q6) Write a short note (any two) :  [12]

a) Computer crimes.

b) Bankers Books Evidence Act, 1891.

c) Electronic Transaction Protocols.

d) Data Protection and Privacy.


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(‘amR>r ê$nm§Va)
doi : 3 Vmg] [ EHy$U JwU : 60

gyMZm …- 1) àý H«$. 1 d àý H«$. 6 ho A{Zdm ©̀ AmhoV.
2) àý H«$. 2 Vo àý H«$. 5 _Yrb H$moUVohr 3 àý gmoS>dm.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r _wi B§J«Or àýn{ÌH$m nmhrdr.

à.à.à.à.à.1) ~hþn`m©̀ r àíZ. (H$moUË¶mhr ghm) [6]

A) B©-gwajoMo àmW{_H$ C{Ôï> H$m` Amho?

i) S>oQ>mda AZ{YH¥$V àdoe amoIÊ`mgmR>r

ii) _m{hVrMr JmonZr`Vm gw{Z{üV H$aÊ`mgmR>r

iii) gm`~a hëë`m§nmgyZ g§ajU H$aÊ`mgmR>r

iv) darb gd©

~) Imbrbn¡H$s H$moUVr gm`~a hëë`mMr gm_mÝ` nÕV Amho?

i) {\$qeJ ii) ñnyq\$J

iii) godm ZmH$maUo (DoS) iv) darb gd©

H$) Imbrbn¡H$s H$moUVo _O~yV nmgdS>©Mo CXmhaU Amho?

i) nmgdS>© 123 ii) 123456

iii) P@ssw0rd! iv) abcd

S>) ^maVmVrb gm`~a JwÝøm§Zm H$moUVm H$m`Xm {Z §̀{ÌV H$aVmo?

i) _m{hVr V§ÌkmZ H$m`Xm, 2000 ii) ^maVr` X§S> g§{hVm

iii) gm`~a gwajm H$m`Xm, 2013 iv) darbn¡H$s H$mhrhr Zmhr

B) _wbm§À`m Am°ZbmBZ JmonZr`Vm g§ajU H$m`ÚmMm (COPPA) CÔoe H$m` Amho?

i) Am°ZbmBZ Joq_JMo {Z`_Z H$aUo

ii) 13 dfmªnojm H$_r d`mÀ`m _wbm§À`m JmonZr`VoMo ajU H$aUo

iii) gm`~a Y_H$sbm à{V~§Y H$aUo

iv) ì`dgm`m§gmR>r gm`~a gwajm _mZHo$ ñWm{nV H$aUo

PC4466
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’$) gm`~a H$m`Xo Am{U {Z`_m§Mm àmW{_H$ CÔoe H$m` Amho?

i) B§Q>aZoQ> dmnamda _`m©Xm KmbUo ii) g§JUH$ hmS>©doAa g§ajU

iii) gm`~a Y_Š`m Am{U JwÝho amoIUo iv) gm°âQ>doAa S>oìhbn_|Q>bm àmoËgmhZ XoUo

¶) B©-gwajm _Ü ò EpÝH«$ßeZMm àmW{_H$ CÔoe H$m` Amho?

i) S>oQ>mda AZ{YH¥$V àdoe amoIÊ`mgmR>r

ii) _mbdoAa emoYUo Am{U H$mTy>Z Q>mH$Uo

iii) òUmè`m Y_Š`m amoIUo

iv) S>oQ>m Q´>mÝg{_eZ ObX H$aÊ`mgmR>r

à.à.à.à.à.2) g§JUH$s` \$gdUwH$sMm AW© gm§Jm. g§JUH$s` \$gdUwH$sMo àH$ma Vnerbdma gm§Jm. [14]

à.à.à.à.à.3) gm`~a H$m`Xm åhUOo H$m`? gm`~a H$m`Úm§Mr ì`már Vnerbdma gm§Jm. [14]

à.à.à.à.à.4) E-Security Mm AW© H$m` Amho? _m{hVr àUmbr {Z §̀ÌUmMo àH$ma Vnerbdma gm§Jm. [14]

à.à.à.à.à.5) _m{hVr V§ÌkmZ H$m`ÚmMm AW© gm§Jm. {S>{OQ>b ñdmjar à_mUnÌmer g§~§{YV _m{hVr V§ÌkmZ H$m`ÚmVrb
H$m`Xoera VaVwXtMo Vnerbdma dU©Z H$am. [14]

à.à.à.à.à.6) WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr 2) [12]

A) g§JUH$ JwÝho

~) ~±H$g© ~wŠg EpìhS>Ýg E°ŠQ>, 1891

H$) BboŠQ´>m°{ZH$ ì`dhma àmoQ>moH$m°b

S>) S>oQ>m g§ajU Am{U JmonZr`Vm


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Q1) Multiple choice questions. (Any 6): [6]
a) Registrar of Copyrights appointed by _______.

i) The central Government
ii) State Government
iii) Parliament

b) The rights of a Patentee are ________.
i) Sell of distribute
ii) Assign the property to other
iii) All of the above

c) What is the punishment for copyright infringement?
i) Imprisonment 9 months to 3 years + fine of Rs. l lakh to 2 lakh.
ii) Imprisonment 6 months to 3 years + fine of Rs. 50,000 to 2 lakh.
iii) None of the above

d) Which of the following is not a fair use of a copyrighted work?
i) Use for research
ii) Use for Criticism
iii) Use for Commercial purposes

e) Swachh - Nirmal Tat Abhiyan is run by ministry of _______.
i) Shipping
ii) Environment
iii) Jal Shakti

P.T.O.
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f) Which of the following is the benefit of getting Geographical Indications
tag?
i) It helps consumers to get quality products of desired traits.
ii) Legal protection to the product
iii) All of the above

g) The Protection of Plant Varieties and Farmers Rights Act was enacted in
________.
i) 1951
ii) 1971
iii) 2001

Q2) What is Copyright? Explain the Scope and Characteristics of Copyright?[14]

Q3) What is the Industrial Designs? Explain Copyright in Registered Design &
Infringement of Copyright in design? [14]

Q4) Define the Geographical indications? Explain Infringement and its Remedies
under section 20-24. [14]

Q5) Define the term Plant Variety. Explain Objectives and scope of the Protection
of Plant Varieties and Farmers Rights (PPVFR)Act 2001. [14]

Q6) Write short notes on (any 2) [12]
a) Registration of Copyrights.
b) Application for Registration of a Design.
c) Powers of Central Government.
d) Authorities for Administration.


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COMMERCIAL LAWS & PRACTICES
206 : Laws Relating to Copyright and Designs

(2019 Pattern) (Credit System) (Semester - II) (Special Paper - IV) (Group - B)

(‘amR>r ê$nm§Va)
doi : 3 Vmg] [ EHy$U JwU : 60
gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H«$. 6 gmoS>{dUo A{Zdm¶© AmhoV.

2) àíZ H«$. 2 Vo àíZ H«$. 5 n¡H$s H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) ~hþn¶m©¶r àíZ. (H$moUË¶mhr 6) [6]
A) ........... Zo H$m°nramBQ²>g Mo a{OñQ>ma {Z¶wº$ Ho$bobo AgVmV.

i) H|$Ð gaH$ma
ii) amÁ¶ gaH$ma
iii) g§gX

~) noQ>§Q>YmaH$mMo A{YH$ma ........... AmhoV.
i) {dVaUmMr {dH«$s
ii) BVam§Zm ‘mb‘Îmm {Z¶wº$ H$aUo
iii) darb gd©

H$) H$m°nramBQ> C„§KZmMr {ejm H$m¶ Amho?
i) 9 ‘{hZo Vo 3 df} H$mamdmg + é. X§S>. 1 bmI Vo 2 bmI
ii) 6 ‘{hZo Vo 3 df} H$mamdmg + én¶o X§S>. 50,000 Vo 2 bmI
iii) darbn¡H$s H$mhrhr Zmhr

S>) Imbrbn¡H$s H$moUVo H$m°nramBQ> Ho$boë¶m H$m‘mMm ¶mo½¶ dmna Zmhr?
i) g§emoYZmgmR>r dmna
ii) {Q>Ho$gmR>r dmna
iii) ì¶mdgm{¶H$ H$maUm§gmR>r dmna

B) ñdÀN> - {Z‘©b VËd A{^¶mZ ............ ‘§Ìmb¶m‘m’©$V Mmbdbo OmVo.
i) {eqnJ
ii) n¶m©daU
iii) Ob eº$s

PC4467
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’$) ^m¡Jmo{bH$ g§Ho$V Q>°J {‘i{dÊ¶mMm Imbrbn¡H$s H$moUVm ’$m¶Xm Amho.

i) ho J«mhH$m§Zm BpÀN>V JwUY‘mªMo XO}Xma CËnmXZ {‘i{dÊ¶mV ‘XV H$aVo

ii) CËnmXZmg H$m¶Xoera g§ajU

iii) darb gd©

¶) dZñnVr OmVtMo g§ajU Am{U eoVH$ar h¸$ H$m¶Xm ............ ‘Ü¶o bmJy H$aÊ¶mV Ambm.

i) 1951
ii) 1971
iii) 2001

à.à.à.à.à.2) H$m°nramBQ> åhUOo H$m¶? H$m°nramBQ>Mr ì¶már Am{U d¡{eîQ>ço ñnï> H$am. [14]

à.à.à.à.à.3) Am¡Úmo{JH$ aMZm åhUOo H$m¶? Am¡Úmo{JH$ aMZm ‘Ü¶o H$m°nramBQ>Mo Zm|XUrH¥$V {S>PmBZ Am{U H$m°nramBQ>Mo
C„§KZ ñnï> H$am. [14]

à.à.à.à.à.4) ^m¡Jmo{bH$ g§Ho$Vm§Mr ì¶m»¶m H$am. H$b‘ 20-24 A§VJ©V C„§KZ Am{U Ë¶mMo Cnm¶ ñnîQ> H$am.[14]

à.à.à.à.à.5) dZñnVr {d{dYVm ¶m eãXmMr ì¶m»¶m H$am. dZñnVr OmVr Am{U eoVH$ar h¸$m§Mo g§ajU (nrnrìhrE’$Ama)µ
H$m¶Xm 2001 Mr C{Ôï>o Am{U ì¶már ñnï> H$am. [14]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr 2) [12]
A) H$m°nramBQ>Mr Zm|XUr

~) {S>PmBZÀ¶m Zm|XUrgmR>r AO©

H$) H|$Ð gaH$maMo A{YH$ma

S>) àemgZmgmR>r A{YH$mar


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1) All questions are compulsory.
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SEAT No. :

Q1) R Limited showed a net loss of Rs. 35,400 as per their cost accounts for the
year ended 31st March, 2012. However, the financial accounts disclosed a net
profit of Rs.67,800 for the same period. The following information were
revealed as a result of scrutiny of the figures of cost accounts and financial
accounts: [15]
SN Particulars Amt (Rs.)
i) Administrative overheads under recovered 25,500
ii) Factory overheads over recovered 1,35,000
iii) Depreciation under charged in Cost  Accounts 26,000
iv) Dividend received 20,000
v) Loss due to obsolescence charged in Financial Accounts 16,800
vi) Income tax provided 43,600
vii) Bank interest credited in Financial Accounts 13,600
viii) Value of opening stock:

In Cost Accounts 1,65,000
In Financial Accounts 1,45,000

ix) Value of Closing Stock:
In Cost Accounts 1,25,500
In Financial Accounts 1,32,000

x) Goodwill written-off in Financial Accounts 25,000
xi) Notional rent of own premises charged in Cost Account 60,000
xii) Provision for doubtful debts in Financial Accounts 15,000

Prepare a reconciliation statement by taking costing net loss as base.
OR

P.T.O.
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What do you mean by ‘Value Chain Analysis’? Explain the approaches for
assessing competitive advantages.

Q2) A company manufacturing two products furnishes the following data for a
year. [15]

Product Annual Total Machine Total number of Total number

Output hours purchase orders of set-ups

(Units)

A 1,000 4,000 32 4

B 12,000 24,000 77 9

The annual overheads are as under:

Machine related activity costs Rs.1,10,000

Set up related costs Rs.1,64,000

Purchase related costs Rs.1,23,600

You are required calculate the cost per unit of each Product A and B based
on:
a) Traditional method of charging overheads.(Using machine hours as a

base).
b) Activity base costing method.

OR
Define the term ‘Activity Based Costing’. Explain the steps in Activity Based
Cost System.

Q3) Bytco Ltd., Bandra has two divisions X and Y. Div. X produces 40,000 units
of product S1 and entirely transfers it to Div. Y, where product S1 is further
processed and finally product S is produced qualitatively. The external market
price of the final product S is Rs. 80 per unit. Unlimited quantities of S1 can
be purchased and sold in the External Market at Rs. 45 per unit. The following
cost statement gives analytical data about actual production cost per unit of
the two division separately. [15]
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Particulars Divisions

X (Rs.) Y(Rs.)

Raw MaterialCost 6 3

Direct labour 7 9

Chargeable Expenses 1 1

Variable Overheads 12 5

Total Variable Cost 26 18

Fixed Overheads 4 7.50

Full Cost 30 25.50

You are required to calculate the Operative Profit of the division using:

a) Market Based transfer Pricing Method and
b) 120% of full Cost Method

OR
What is ‘Transfer Pricing’? Explain the advantages and disadvantages of Tranfer
Pricing. [15]

Q4) Write short notes (any three out of five). [15]
a) Need for Reconciliation of Cost and Financial Accounts.
b) Characteristics of Product Life Cycle.
c) Objectives of Target Costing.
d) Reciprocal Method of Cost Allocation.
e) Cost Drivers.

… … …
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Q1) A) Multiple choice questions.  [5]
a) Setting a low price for a new product in order to attract a large

number of buyers is called as ____
i) Skimming Pricing ii) Penetration Pricing
iii) Cost - Based Pricing iv) Valued — Based Pricing

b) The breakeven point is the point at which _______
i) Total Fixed cost is equal to total revenue
ii) There is no profit, no loss
iii) Total Variable cost is equal to total revenue
iv) There is no profit but loss

c) ______ is not a type of Production Process.
i) Batch Production ii) Continuous Production
iii) Standard Production iv) Job Production

d) Too many meetings is a cause of ______
i) Lower Productivity ii) Higher Productivity
iii) Advanced Productivity iv) Improved Productivity

e) _______ is a preventive function and acts within the frame of some
standards.
i) Cost Control ii) Job Costing
iii) Cost Reduction iv) Unit Costing

P.T.O.
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B) True or False: [5]
a) Marginal cost includes prime cost plus fixed overheads.
b) Productivity means the balance between all factors of production

that will give the greatest output.
c) Cost reduction is an extension of cost control.
d) Costing system must be devised according to the nature, conditions,

requirements and size of the business.
e) Psychological pricing approach is used when the market wants the

consumer to respond on an emotional basis rather than rational.
C) Match the following: [5]

a) Method of Cost Reduction i) Data Processes
b) Key Factor ii) Lack of Employees Proper

Training
c) Component of Management iii) Use of competitor’s price

Information System
d) Competition - Based Pricing iv) Limiting Factor
e) Cause of Lower productivity v) Inventory Control

D) Short Notes (any three out of five) [15]
a) Differential Costing
b) Theory of Price
c) Cost Centres and Cost Codes
d) Process of Cost Control
e) Measurement of Productivity

Q2) Pepko Ltd. Pimpriprovides the following cost data relating to one unit of
output. [15]

Productive Materials Rs.50

Direct Labour Rs.100

Variable Works Overheads 50 % of Direct Labour

Fixed Establishment Overheads Rs. 2,40,000 p.a.

Market Price Rs.240
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You are required to calculate,

a) The number of units to be produced and sold in a year to break even.

b) The number of units to be manufactured and sold in a year to make a
profit of Rs. 80,000.

c) The number of units to be produced and sold to break even if the selling
price is reduced by Rs. 16 each.

Q3) Aishwarya Ltd., Mumbai manufactures stainless steel product and the market
price was fixed at Rs.50 per product. The cost particulars per Product are as
follows: [15]

Basic Materials Rs. 15

Productive Wages Rs. 4

Direct Expenses Rs. 2

Variable Works Overheads Rs. 3

Managerial Administration Overheads Re. 1

Selling Commission 10 % on Invoice Price

Fixed Overheads Rs. 5,000 p.a.

The company was producing only 5,000 products. However they have
additional capacity to produce another 500 products without incurring any
additional fixed overheads. One of the distributor from competitive market
has given the proposal to take 500 products in addition to their normal quota,
but at a reduced selling price at Rs. 30 per pack and shown his willingness to
accept only 50 % of his normal commission for this conditional proposal.

The company management has asked your professional advice about the
viability of this proposal.

Q4) Define ‘Cost Reduction’. How it differs from ‘Cost Control’? [15]

eeee
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Q1) Multiple choice questions. (Any 6) : [6]
a) _______ developed a ‘Credit Union Model’ in Germany.

i) Norbert Thorn ii) Karl Marx
iii) Niko Peach iv) Raiffeiscn

b) Utility co-operatives provide their members with service of _____
i) Food ii) Water
iii) Clothe iv) Shelter

c) _______ is system relies on Cooperation and Competition
i) Capitalism ii) Socialism

iii) Feminism iv) Ethism
d) The main aim of mixed economy is _______

i) Profit ii) Social Welfare
iii) Disinvestment iv) Cooperation

e) People from ______ travelled to Israel for agriculture cooperative study.
i) Japan ii) Italy
iii) United Kingdom iv) United States America

f) Japan Agricultural Cooperatives provide _______ services.

i) Electricity ii) Farming

iii) Transportation iv) Education

P.T.O.
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g) Cooperatives are _______ centred.

i) Job ii) Time

iii) Goal iv) People

h) Cooperative Movement began in _____

i) Europe ii) Asia

iii) Antarctica iv) Africa

Q2) Explain Cooperation in Mixed Economy’. What is the difference between
‘Capitalistic System and Socialistic System’?  [14]

Q3) What is the Concept of ‘Cooperation’? Describe the Origin of ‘Cooperative
Movement’. [14]

Q4) What are the Objectives of ‘The International Cooperation Alliance (ICA)’?
Explain Cooperative Movement’ in China. [14]

Q5) What is the ‘Role of Cooperative Movement in Global Economy’? [14]

Q6) Write short notes on: (Any 2)  [12]
a) Problems and Solutions for Cooperative Movement in Global Economy.

b) Cooperation in Capitalistic System.

c) Introduction of International Cooperative Movement.

d) Cooperative Movement in United States of America.





3[6319]-30
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[6319]-30
M.Com. (Part - I)

INTERNATIONAL CO - OPERATIVE MOVEMENT
209 : CO- Operation and Rural Development

(2019 Pattern) (Credit System) (Semester - II) (Group - D)

(‘amR>r ê$nm§Va)
doi : 3 Vmg] [ EHy$U JwU : 60
gyMZm …- 1) àíZ H«$‘m§H$ 1 Am{U àíZ H«$‘m§H$ 6 A{Zdm¶© AmhoV.

2) àíZ H«$‘m§H$ 2 nmgyZ àíZ H«$‘m§H$ 5 n¶ªV H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) ~hþn¶m©¶r àíZ. (H$moUË¶mhr 6) [6]
A) ........... Zo O‘©Zr‘Ü¶o "nV g§K AmamIS>m' {dH${gV Ho$bm.

i) Zm°~©Q>© Wm°‘ ii) H$mb© ‘m³g©

iii) {ZH$mo nrM iv) am¶{’$goZ
~) Cn¶wº$Vm ghH$mar Ë¶m§À¶m gXñ¶m§Zm ............ Mr godm àXmZ H$aVmV.

i) AÞ ii) nmUr

iii) H$nS>o iv) {Zdmam
H$) ............. hr EH$ àUmbr ghH$m¶© Am{U ñnY}da Adb§~yZ AgVo.

i) ^m§S>dbemhr ii) g‘mOdmX

iii) ñÌrdmX iv) Zr{VdmX
S>) {‘l AW©ì¶dñWoMo ‘w»¶ CX²{Xï> ............ ho Amho.

i) Z’$m ii) g‘mOH$ë¶mU

iii) {ZJªwVdUyH$ iv) ghH$m¶©
B) ............. ‘Yrb bmoH$ H¥$fr ghH$mar Aä¶mgmgmR>r BòmB©bbm Jobo.

i) OnmZ ii) BQ>br

iii) ¶wZm¶Q>oS> qH$JS>‘ iv) ¶wZm¶Q>oS> ñQ>oQ²>g Am°’$ A‘o[aH$m
’$) OnmZ H¥$fr ghH$mar ............. godm àXmZ H$aVmV.

i) drO ii) eoVr

iii) dmhVyH$ iv) {ejU

PC4470
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¶) ghH$mar g§ñWm ........... H|${ÐV AgVmV.

i) ZmoH$ar ii) doi

iii) Ü¶o¶ iv) bmoH$

a) ghH$mar MidirMr gwê$dmV ............. ‘Ü¶o Pmbr.

i) ¶wamon ii) Am{e¶m

iii) A§Q>mp³Q>©H$m iv) Am{’«$H$m

à.à.à.à.à.2) "{‘l AW©ì¶dñWoVrb ghH$m¶©' ñnï> H$am. "^m§S>dbemhr ì¶dñWm' Am{U "g‘mOdmXr ì¶dñWm' ¶mV
H$m¶ ’$aH$ Amho? [14]

à.à.à.à.à.3) "ghH$ma' hr g§H$ënZm H$m¶ Amho? ghH$mar MidirÀ¶m CËnÎmrMo dU©Z H$am. [14]

à.à.à.à.à.4) "B§Q>aZ°eZb H$moAm°naoeZ Abm¶Ýg' (ICA) Mr CX²²{Xï>o H$m¶ AmhoV? "MrZ‘Yrb ghH$mar Midi'
ñnï> H$am. [14]

à.à.à.à.à.5) "OmJ{VH$ AW©ì¶dñWoV ghH$mar MidirMr ŷ{‘H$m' H$m¶ Amho? [14]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr 2) [12]

A) OmJ{VH$ AW©ì¶dñWoVrb ghH$mar MidirÀ¶m g‘ñ¶m Am{U Cnm¶

~) ^m§S>dbemhr ì¶dñWoVoVrb ghH$m¶©

H$) Am§Vaamï´>r¶ ghH$mar MidirMm n[aM¶

S>) A‘o[aHo$Vrb ghH$mar Midi


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Q1) Fill in the blanks by selecting suitable choice (Any six) [6]
a) _______ plays an equalizing role as a welfare factor in a capitalistic

economy.

i) Socialism ii) Trade Unionism

iii) Joint Stock Companies iv) Cooperation

b) The Cooperative Societies Act was passed in ________.

i) 1911 ii) 1912

iii) 1913 iv) 1914

c) ________ act structured and shaped the cooperative movement in India)

i) Deccan Agriculture Relief Act (1879)

ii) Cooperative Credit Societies Act, 1904

iii) Land Improvement Loan Act (1883)

iv) Agriculturists Loan Act (1884)

d) ________ is not one of the features of Cooperative Societies.

i) Voluntary membership ii) Legal status

iii) Limited liability iv) Profit Orientation

e) _______ is concerned with determining the specific activities needed to
accomplish the planned objectives and goals.

i) Planning ii) Organizing

iii) Directing/Motivating iv) Controlling

f) ________ regulates the registration and other activities of a cooperative
society.

i) NABARD ii) SBI

iii) SEBI iv) RCS

P.T.O.
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g) ________ are Non-Agricultural Credit Societies.

i) Cooperative Banks ii) Thrift & Credit Societies

iii) Salary Earners Society iv) All of the above

h) ________ is the role of the managing committee in cooperative society.

i) Admission & Allocation of Shares

ii) Maintaining Daily Books

iii) Issuing Vouchers

iv) None of the above

Q2) Define cooperative management. Explain the importance of cooperative
management. [14]

Q3) Explain the organizational structure of cooperative organization. [14]

Q4) State the role of institutions in cooperative training. [14]

Q5) Explain the progress and problems of dairy cooperatives in Maharashtra [14]

Q6) Write Short Notes (Any two) [12]

a) Regional Institute of Co-operative Management

b) Audit and Taxation of Cooperative Organization

c) National Council for Co-operative Training

d) Agricultural and Non-agricultural Credit Cooperative Societies


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Total No. of Questions : 6]

[6319]-31
M.Com. (Part - I)

CO-OPERATION AND RURAL DEVELOPMENT
210 : Co-operative Management and Education

(2019 Pattern) (Credit System) (Semester - II) (Group -D)

(‘amR>r ê$nm§Va)
doi : 3  Vmg] [ EHy$U JwU : 60

gyMZm …- 1) àíZ H«$. 1 d àíZ H«$. 6 ho A{Zdm¶© AmhoV.
2) àíZ H«$. 2 Vo àíZ H«$. 5 _Yrb H$moUVohr 3 (VrZ) àíZ gmoS>dm.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) ~hþ{dH$ënr` àíZ. (H$moUË`mhr ghm) [6]

A) .......... ^m§S>dbemhr AW©ì`dñWoV H$ë`mUH$mar KQ>H$ åhUyZ g_mZ ŷ{_H$m ~OmdVo.
i) g_mOdmX ii) Q´>oS> ̀ w{Z`ZdmX
iii) g§̀ wŠV ñQ>m°H$ H§$nÝ`m iv) ghH$ma

~) ghH$mar g§ñWm H$m`Xm ........... _Ü`o g§_V Pmbm.
i) 1911 ii) 1912
iii) 1913 iv) 1914

H$) ............ Zo ^maVmVrb ghH$mar Midirbm aMZm d AmH$ma {Xbm.
i) S>oŠH$Z E°J«rH$ëMa [abr\$ E°ŠQ> 1879
ii) ghH$mar nVg§ñWm A{Y{Z`_, 1904
iii) O_rZ gwYmaUm H$O© H$m`Xm 1883
iv) H¥$fr H$O© H$m`Xm 1884

S>) ............ ho  ghH$mar  g§ñWm§À`m d¡{eï>²̀ m§n¡H$s EH$ Zmhr.
i) EopÀN>H$ gXñ`Ëd ii) H$m`Xoera pñWVr
iii) _`m©{XV Xm{`Ëd iv) Z\$m A{^_wIVm

B) ............ ho {Z`mo{OV C{Ôï>o Am{U C{Ôï>o nyU© H$aÊ`mgmR>r Amdí`H$ Agboë`m {d{eï>
{H«$`mH$bmnm§Mo {ZYm©aU H$aÊ`mer g§~§{YV Amho.
i) {Z`moOZ ii) Am`moOZ
iii) {X½Xe©Z iv) {Z §̀ÌU

’$) ............ ho ghH$mar g§ñWoMr Zm|XUr Am{U BVa {H«$`mH$bmnm§Mo {Z`_Z H$aVo.
i) Zm~mS>© ii) SBI
iii) go~r iv) RCS

PC4471
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¶) .............. {~Ja H¥$fr nVg§ñWm AmhoV.
i) ghH$mar ~±H$m ii) H$mQ>H$ga Am{U nVg§ñWm

iii) g°bar AZ©g© gmogm`Q>r iv) darb gd©

a) .............. hr ghH$mar g§ñWoVrb ì`dñWmnH$s` g{_VrMr ŷ{_H$m Amho.

i) àdoe Am{U eoAg©Mo dmQ>n ii) amoOMr nwñVHo$ gm§̂ miUo

iii) ìhmCMa Omar H$aUo iv) darbn¡H$s H$mhrhr Zmhr

à.à.à.à.à.2) ghH$mar ì`dñWmnZmMr ì`m»`m H$am. ghH$mar ì`dñWmnZmMo _hÎd ñnï> H$am. [14]

à.à.à.à.à.3) ghH$mar g§ñWoMr g§KQ>ZmË_H$ aMZm ñnï> H$am. [14]

à.à.à.à.à.4) ghH$mar à{ejUm_Ü ò g§ñWm§Mr ŷ{_H$m ñnï> H$am. [14]

à.à.à.à.à.5) _hmamï´>mVrb Xþ½Y ghH$mar g§ñWm§Mr àJVr Am{U g_ñ`m ñnï> H$am. [14]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]

A) àmXo{eH$ ghH$mar ì`dñWmnZ g§ñWm
~) ghH$mar g§ñWoMo boImnarjU Am{U H$a AmH$maUr
H$) amï´>r` ghH$mar à{ejU n[afX
S>) H¥$fr Am{U {~Ja H¥$fr nVnwadR>m ghH$mar g§ñWm


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Q1) Multiple Choice Questions by selecting suitable choice (any 6 out of 8) : [6]
a) ______ member can participate in economic and industrial policy.

i) FICCI ii) LIC
iii) SBI iv) CBI

b) MCCIA stand for ________
i) Maratha Chamber of Commerce Industries and Association
ii) Maharashtra Chamber of Commerce Industries and Agriculture
iii) Maharashtra Chamber of Commerce Industries and Association
iv) Maharashtra Chamber of Common Industries and Association

c) ________ Utility is an entity that provides goods or services to the general
public.
i) Public ii) Personal
iii) Commercial iv) Industries

d) There are ________ types of public sector undertakings.
i) Three ii) Six
iii) One iv) Two

e) Headquarter of WTO is located at ________
i) Geneva ii) Nagpur
iii) Pune iv) Mumbai

f) ________ is the primary sector of the Indian economy.
i) Agriculture ii) Finance
iii) Technology iv) Information

P.T.O.
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g) Facilities for sale and purchase of agriculture products are available in
________ market.

i) Regulated ii) Unregulated

iii) Individual iv) Stock Exchange

h) ________ is all-purpose organic plant feed that is suitable for use on all
plant’s shrubs an edible.

i) Bio-Manure ii) Chemical

iii) Fertilizer iv) Pesticide

Q2) Explain in detail Role and Functions of ‘Federation of Indian Chamber of
Commerce and Industries’.  [14]

Q3) What do you mean by ‘Public Enterprises’? Explain in detail Objectives and
Functions of ‘Public Enterprises’ in India. [14]

Q4) What is ‘Agriculture Business’? Explain in detail Characteristics of Agriculture
Business and Nature of Indian Agriculture. [14]

Q5) What is ‘Poultry Business’? Explain the impact of World Trade organization
(WTO) on development of Agri Business in India. [14]

Q6) Write Short Notes (Any 2 out of 4)  [12]

a) Trade Associations

b) Public Utilities

c) Agricultural Taxation policy

d) Daily Farming


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[6319]-32
M.Com. (Part - I)

BUSINESS PRACTICES AND ENVIRONMENT
211: Modern Business Practices

(2019 Pattern) (Semester - II) (Special Paper -III) (Group - E)
(Credit System)

(‘amR>r ê$nm§Va)
doi : 3 Vmg] [ EHy$U JwU : 60

gyMZm …- 1) àý H«$. 1 d àý H«$. 6 gmoS>{dUo A{Zdm ©̀ AmhoV.
2) àý H«$. 2 Vo àý H«$. 5 _Yrb H$moUVohr VrZ àý gmoS>dm.
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r _yi B§J«Or àl n{ÌH$m nhmdr.

à.à.à.à.à.1) ~hþn`m©̀ r àíZ. (8 n¡H$s H$moUVohr 6) [6]
A) .............. gXñ` ho Am{W©H$ Am{U Am¡Úmo{JH$ YmoaU V`ma H$aVmZm gh^mJr hmoD$ eH$VmV.

i) E\$Am`grgrAm` ii) EbAm`gr
iii) Eg~rAm` iv) gr~rAm`

~) E_.gr.gr.Am`.E åhUOo .............. hmo`.
i) _amR>m M|~a Am°\$ H$m°_g© B§S>ñQ´>rO A±S> Agmo{gEeZ
ii) _hmamï´> M|~a Am°\$ H$m°_g© B§S>ñQ´>rO A±S> A{J«H$ëMa
iii) _hmamï´> M|~a Am°\$ H$m°_g© B§S>ñQ´>rO A±S> Agmo{gEeZ
iv) _hmamï´> M|~a Am°\$ H$m°_Z B§S>ñQ´>rO A±S> Agmo{gEeZ

H$) ............... Cn`mo{JVm hr EH$ g§ñWm Amho H$s Or gm_mÝ` bmoH$m§Zm dñVy qH$dm godm nwadVo.
i) gmd©O{ZH$ ii) ì`{º$JV
iii) ì`mdgm{`H$ iv) CÚmoJ

S>) gmd©O{ZH$ joÌmVrb CnH«$_m§Mo .............. àH$ma AmhoV.
i) VrZ ii) ghm
iii) EH$ iv) XmoZ

B) S>ãë ỳ.Q>r.Amo. Mo _w»`mb` .............. ̀ oWo Amho.
i) {O{Zìhm ii) ZmJnya
iii) nwUo iv) _w§~B©

’$) .............. ho ^maVr` AW©ì`dñWoMo àmW{_H$ joÌ Amho.
i) H¥$fr ii) {dÎmr`
iii) V§ÌkmZ iv) _m{hVr
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`) H¥$fr CËnmXZm§À`m {dH«$s Am{U IaoXrÀ`m gw{dYm .............. Ho$boë`m ~mOmanoR>oV CnbãY
AmhoV.
i) {Z`_Z ii) A{Z §̀{ÌV
iii) ì`º$s iv) ñQ>m°H$ EŠgM|O

a) .............. ho gd©-CÔoer` g|{Ð` dZñnVr ImÚ Amho Oo gd© dZñnVtÀ`m PwSw>no Am{U ImÊ`m`mo½`
Amho.
i) O¡d IV ii) amgm`{ZH$
iii) IV iv) H$sQ>H$ZmeH$

à.à.à.à.à.2) ‘\o$S>aoeZ Am°\$ B§{S>`Z M|~a Am°\$ H$m°_g© A±S> B§S>ñQ´>rOMr’ (FICCI) ŷ{_H$m Am{U H$m }̀ g{dñVa
ñnï> H$am. [14]

à.à.à.à.à.3) ‘gmd©O{ZH$ CnH«$_’ åhUOo H$m`? ^maVmVrb ‘gmd©O{ZH$ CnH«$_mMr’ C{Ôï>o Am{U H$m }̀ g{dñVa ñnï>
H$am. [14]

à.à.à.à.à.4) ‘H¥$fr ì`dgm`’ åhUOo H$m`? H¥$fr ì`dgm`mMr d¡{eï²> ò Am{U ^maVr` H¥$frMo ñdén g{dñVa ñnï>
H$am. [14]

à.à.à.à.à.5) ‘Hw$ŠHw$Q>nmbZ ì`dgm`’ åhUOo H$m`? ^maVmVrb H¥$fr ì`dgm`mÀ`m {dH$mgmda OmJ{VH$ ì`mnma
g§KQ>ZoMm (WTO) à^md ñnï> H$am. [14]

à.à.à.à.à.6) {Q>nm {bhm. (4 n¡H$s H$moUË`mhr 2) [12]
A) ì`mnma g§KQ>Zm
~) gmd©O{ZH$ Cn`mo{JVm
H$) H¥$fr H$a YmoaU
S>) Xþ½Yì`dgm`


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Instructions to the candidates:

1) Question No. 1 and Question No. 6 are Compulsory.
2) Solve any three questions from Question No. 2 to Question No. 5.
3) Figures to the right indicate full Marks.
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Q1) Multiple choice questions. (Any 6 out of 8) [6]
a) The main motive of the _______ sector is to earn profit from their business

operations.
i) private ii) public
iii) state iv) national

b) An Investment made by MNCs is called _______ Investment.
i) Foreign ii) Local
iii) National iv) District

c) ________ is related with Money Market.
i) Treasury Bill ii) Commercial Money
iii) Cheque iv) Shares

d) _________ market is a financial market in which long-term debt and
equity- backed securities are bought and sold.
i) Primary ii) Secondary
iii) Capital iv) Money

e) ________ environment is the behaviour or beliefs of a certain group of
people based on factors influencing their culture.
i) Social ii) Global
iii) Cultural iv) Natural

f) The _______ environment refers to external factors in technology that
impact business operations.
i) technological ii) cultural
iii) social iv) natural

P.T.O.
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g) ________ is about not having enough money to meet basic needs.
i) poverty ii) parallel economy
iii) unemployment iv) regional imbalance

h) ________ factors can contribute to regional imbalances.
i) Centralization of economic activities in certain regions
ii) Equal investment in infrastructure across all regions
iii) Equal Development in infrastructure across all regions
iv) Homogeneous distribution of natural resources

Q2) What do you mean by ‘cottage industry’? Explain in detail role of small and
cottage industries in industrial growth of India. [14]

Q3) What is ‘Indian Capital Market’? Explain in detail nature and growth of Indian
Money Market and Capital Market in financial environment of business. [14]

Q4) What is ‘Cultural Environment’? Explain in detail the impact of Global,
Demographic and Social environment on world trade. [14]

Q5) What do you mean by ‘Social Injustice’? Discuss in detail effects of parallel
economy and social injustice on growth of business. [14]

Q6) Write Short Notes (Any 2 out of 4) [12]
a) Foreign investment
b) Role of foreign banks and non-Banking Institutions in Business
c) Techniques of Environmental Analysis
d) Unemployment


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Total No. of Questions : 6]

[6319]-33
M.Com. (Part - I)

BUSINESS PRACTICES AND ENVIRONMENT
212 : Business Environment Analysis

 (2019 Pattern) (Credit System) (Semester - II)
(Special Paper - IV) (Group - E)

(‘amR>r ê$nm§Va)
doi : 3 Vmg] [ EHy$U JwU : 60
gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H«$. 6 gmoS>{dUo A{Zdm¶© AmhoV.

2) àíZ H«$. 2 Vo àíZ H«$. 5 n¡H$s H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) ~hþn¶m©¶r àíZ. (8 n¡H$s H$moUË¶mhr 6) [6]
A) .............. joÌmMm ‘w»¶ hoVy Ë¶m§À¶m ì¶dgm¶ H$m¶m©VyZ Z’$m {‘idUo hm AgVmo.

i) ImOJr ii) gmd©O{ZH$
iii) amÁ¶ iv) amï´>r¶

~) ~hþamï´>r¶ H§$nÝ¶m§Zr Ho$boë¶m Jw§VdUwH$sbm ............. Jw§VdUyH$ Ago åhUVmV.
i) naH$s¶ ii) ñWm{ZH$
iii) amï´>r¶ iv) {Oëhm

H$) .............. ho ZmUo ~mOmamer g§~§{YV Amho.
i) Q´>oPar {~bo ii) ì¶mdgm{¶H$ n¡gm
iii) YZmXoe iv) ^mJ

S>) .............. ~mOma hm EH$ {dÎmr¶ ~mOma Amho Á¶m‘Ü¶o XrK©H$mbrZ H$O© Am{U B{³dQ>r-~°³S>
{g³¶w[aQrO IaoXr Am{U {dH«$s Ho$br OmVmV.
i) àmW{‘H$ ii) Xþæ¶‘
iii) ^m§S>db iv) ZmUo

B) ............. n¶m©daU åhUOo Ë¶m§À¶m g§ñH¥$Vrda n[aUm‘ H$aUmè¶m KQ>H$m§da AmYm[aV bmoH$m§À¶m
{d{eï> JQ>mMo dV©Z qH$dm {dœmg hmo¶.
i) gm‘m{OH$ ii) OmJ{VH$
iii) gm§ñH¥${VH$ iv) Z¡g{J©H$

’$) ............. n¶m©daU ho V§ÌkmZmVrb ~mø KQ>H$m§Mm g§X ©̂ XoVo Oo ì¶dgm¶ H$m¶m©da n[aUm‘
H$aVmV.
i) Vm§{ÌH$ ii) gm§ñH¥${VH$
iii) gm‘m{OH$ iv) Z¡g{J©H$
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¶) ............. åhUOo ‘yb ŷV JaOm nyU© H$aÊ¶mgmR>r nwaogm n¡gm ZgUo hmo¶.

i) Xm[aÐ¶ ii) g‘m§Va AW©ì¶dñWm

iii) ~oamoOJmar iv) àmXo{eH$ Ag‘Vmob

a) ............. KQ>H$ àmXo{eH$ Ag§VwbZmg H$maUr^yV R>ê$ eH$VmV.

i) {d{eï> àXoem§‘Ü¶o Am{W©H$ CnH«$‘m§Mo H|$ÐrH$aU

ii) gd© àXoem§‘Ü¶o nm¶m ŷV gw{dYm§‘Ü¶o g‘mZ Jw§VdUyH$

iii) gd© àXoem§‘Ü¶o nm¶m ŷV gw{dYm§‘Ü¶o g‘mZ {dH$mg

iv) Z¡g{J©H$ g§gmYZm§Mo EH$g§Y {dVaU

à.à.à.à.à.2) "Hw${Q>amoÚmoJ' åhUOo H$m¶? ^maVmÀ¶m Am¡Úmo{JH$ dmT>r‘Ü¶o bKw Am{U Hw$Q>ra CÚmoJm§Mr ŷ{‘H$m g{dñVa
ñnï> H$am. [14]

à.à.à.à.à.3) "^maVr¶ ^m§S>dbr ~mOma' åhUOo H$m¶? ì¶dgm¶mÀ¶m {dÎmr¶ n¶m©daUmV ^maVr¶ ZmUo ~mOma Am{U
^m§S>dbr ~mOmamMo ñdê$n Am{U dmT> g{dñVa ñnï> H$am. [14]

à.à.à.à.à.4) "gm§ñH¥$VrH$ n¶m©daU' åhUOo H$m¶? OmJ{VH$, bmoH$g§»¶memñÌr¶ Am{U gm‘m{OH$ n¶m©daUmMm OmJ{VH$
ì¶mnmamda hmoUmam n[aUm‘ g{dñVanUo ñnï> H$am. [14]

à.à.à.à.à.5) "gm‘m{OH$ AÝ¶m¶' åhUOo H$m¶? ì¶dgm¶mÀ¶m dmT>rda g‘m§Va AW©ì¶dñWm Am{U gm‘m{OH$ AÝ¶m¶
¶m§À¶m n[aUm‘m§Mr g{dñVa MMm© H$am. [14]

à.à.à.à.à.6) {Q>nm {bhm. (4 n¡H$s H$moUË¶mhr 2) [12]
A) naH$s¶ Jw§VdUwH$

~) ì¶dgm¶mV naXoer ~±H$m Am{U {~Ja ~±qH$J g§ñWm§Mr ŷ{‘H$m

H$) n¶m©daUr¶ {dûcofUmMo V§Ì

S>) ~oamoOJmar





Q1) Fill in the blanks by selecting suitable choice (Any six) : [6]
i) ________ is the broad approach of teleological ethics.

a) The right thing depends on motives
b) The right things depends on consequences
c) You should always think before acting
d) Actions speak louder than words

ii) The goal of Corporate Governance and Business Ethics Education is to
_______.
a) Teach students there professional accountability and to uphold their

personal integrity to society
b) Change the way in which ethics is thought to students
c) Create more ethics standards by which corporate professionals must

operate
d) Increase the workload for accounting students

iii) Strategy to understand problem and to formulate hypothesis is called
________.
a) Planning b) Preparation
c) Follow-Up d) Compensating Employees

iv) _______ was the term ‘Sustainable Development’ come into existence.
a) 1987 b) 1980
c) 1978 d) 1992

Total No. of Questions : 6]

[Total No. of Pages : 4
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213 : BUSINESS ETHICS & PROFESSIONAL VALUES
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Instructions to the candidates:
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2) Solve any three questions from Q. No. 2 to Q. No. 5.
3) Figures to the right indicates full marks.
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v) ‘The greatest good for the greatest number’ is called in _______.
a) Deontology b) Utilitarianism
c) Egoism d) Hedonism

vi) Value Based Management is essential to combine subjective and _____.
a) Normative phenomena b) Objective phenomena
c) Power d) Tangible items

vii) _______ is the process of searching for prospective employees and
stimulating them to apply for job in an organisation.
a) Training b) Analyzing
c) Recruitment d) Development

viii) Acid rain is formed due to contribution from the following pairs of gases
_______.
a) Methane and Ozone
b) Oxygen and nitrous oxide
c) Methane and Sulphur Dioxide
d) Carbon dioxide and Sulphur dioxide

Q2) What is ‘Business Ethics’ and ‘Professional Value’? Explain Theories of Ethics
and Code of Ethics. [14]

Q3) What is ‘Corporate Social Responsibility’? Explain Scope and Advantages
of Corporate Social Responsibility. [14]

Q4) Explain the ethical and unethical practices in Human Resource Management.
[14]

Q5) What is the ‘Sustainable Development’? State the Principles and Goals of
Sustainable Development. [14]

Q6) Write Short Notes on (Any Two) : [12]
a) Methods of Value Based Management
b) Types of Pollution
c) Human value
d) Ethics at a Workplace


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Total No. of Questions : 6]

[6319]-34
M.Com. (Part - I)

213 : BUSINESS ETHICS & PROFESSIONAL VALUES
(2019 Pattern) (Semester - II) (Group - F)

(_amR>r ê$nm§Va)

doi : 3 Vmg     ] [ EHy$U JwU : 60
gyMZm : 1) àíZ H«$. 1 d àíZ H«$. 6 gmoS>{dUo A{Zdm ©̀ AmhoV.

2) àíZ H«$. 2 Vo àíZ H«$. 5 _Yrb H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PC-4474

àíZ àíZ àíZ àíZ àíZ 1) `mo½` n`m©̀ mMr {ZdS> H$ê$Z [aH$må`m OmJm ^am (H$moUË`mhr ghm) … [6]
i) Vm§{ÌH$ ZrVr _yë`m§Mm nwT>rbn¡H$s {dñV¥V Ñ{ï>H$moZ hm .............

A) Mm§Jë`m Jmoï>r `m àoaUodaVr Adb§~yZ AgVmV
~) Mm§Jë`m Jmoï>r `m narUm_mda AmYmaboë`m AgVmV.
H$) H$moUVrhr H¥$Vr H$aÊ`mnydu ì`º$sZo {dMma H$am`bm hdm
S>) H$moUË`mhr eãXmnojm H¥$Vr hr OmñV g§dmX gmYVo

ii) H$m°nm}aoQ> JìhZ©Ýg Am{U ì`mdgm{`H$ Zr{V{ejUmMo Ü ò̀  ho ............. AgVo.
A) {dÚmÏ`mªZm Ë`m§Mr ì`mdgm{`H$ O~m~Xmar {eH$dUo Am{U g_mOmer AgUmar Ë`m§Mr

EH$mË_Vm OmoSy>Z R>odUo
~) {dÚmÏ`mªZm {eH$dë`m OmUmè`m Zr{V_yë`m§À`m AÜ`mnZmÀ`m nÕVrV ~Xb KS>dyZ

AmUUo
H$) H$m°nm}aoQ> ì`dgm{`H$mÀ`m H$Sy>Z g§Mm{bV Am{U dmnabo OmUmao Zr{V_wë`mYm[aV

à_mUH$m§Mr {Z{_©Vr H$aUo
S>) boIm§H$Z H$aUmè`m {dÚmÏ`mªdarb H$m_mMo AmoPo dmT>dUo

iii) g_ñ`m AmoiIUo Am{U g_ñ òMo gyÌrH$aU H$ê$Z n[aH$ënZoMr _m§S>Ur H$aÊ`mMr ì ỳhaMZm
åhUOo ........... hmo`.
A) {Z`moOZ ~) nyd©V`mar H$aUo
H$) nmR>nwamdm H$aUo S>) H$_©Mmar ZwH$gmZ ^anmB©

iv) emídV {dH$mg `m g§H$ënZoMm {dH$mg ............. _Ü ò Pmbm.
A) 1987 ~) 1980
H$) 1978 S>) 1992

P.T.O.
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v) "X J«oQ>oñQ> JwS> \$m°a X J«oQ>oñQ> Z§~a' Ago ............ _Ü ò åhUbobo Amho.
A) S>rAmoÝQ>mobm°Or ~) Cn`mo{JVmdmX
H$) Ah_dmX S>) hoS>mo{ZP_

vi) _yë`mYm[aV ì`dñWmnZ ho g§̀ wº$ ì`{º${Zð>Vm Am{U ............ H$aVm Amdí`H$ Amho.
A) gm_mÝ` KQ>Zm ~) dñVw{Zð> KQ>Zm
H$) gÎmm S>) Xe©Zr` dñVy

vii) ............... hr EH$ Aer à{H«$`m Amho H$s {OÀ`mÛmao g§KQ>Zobm Amdí`H$ AgUmè`m
j_Vm§Zr n[anyU© Aem ì`º$s¨Mm emoY KoVbm OmD$Z Ë`m§Zm g§~§{YV amoOJmamgmR>r {ZdS>bo
OmVo.
A) à{ejU ~) {díbofU
H$) ^aVr S>) {dH$mg

viii) ............. dm ỳ§À`m  OmoS>çm§_wio Amåb nO©Ý`mMr {Z{_©Vr hmoVo.
A) {_WoZ Am{U AmoPmoZ
~) Am°pŠgOZ Am{U Zm`Q´>g Am°ŠgmB©S>
H$) {_WoZ Am{U gë\$a S>m`Am°ŠgmB©S>
S>) H$m~©Z S>m`Am°ŠgmB©S> Am{U gë\$a S>m` Am°ŠgmB©S>

àíZ àíZ àíZ àíZ àíZ 2) "ì`dgm` Zr{V_yë`o' Am{U "ì`mdgm{`H$ _yë`' åhUOo H$m`? Zr{V_yë`mMo {gÕm§V Am{U
AmMmag§{hVm ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 3) "ì`mdgm{`H$ gm_m{OH$ O~m~Xmar' åhUOo H$m`? ì`mdgm{`H$ gm_m{OH$ O~m~XmarMr ì`már
Am{U \$m`Xo ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 4) _mZd g§gmYZ ì`dñWmnZm_Yrb Z¡{VH$ Am{U AZ¡{VH$ H$m ©̀nÕVr ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 5) "emídV {dH$mg' åhUOo H$m`? emídV {dH$mgmMr VËdo Am{U Ü ò̀ o (C{Ôï>o) ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm (H$moUË`mhr XmoZ) … [12]
A) _yë`mYm[aV ì`dñWmnZmÀ`m nÕVr
~) àXÿfUmMo àH$ma
H$) _mZdr _yë`
S>) H$m_mÀ`m {R>H$mUr AgUmar Z¡{VH$Vm





Q1) Fill in the blanks (Any 6) : [6]
i) Knowledge can be used to make good ______ in the business.

(Profit, Loss, Expenditure)
ii) Knowledge reaches to the people through ________.

(Newspaper, Book, Both the options)
iii) ______ management helps to achieve the organisational goals.

(Knowledge, fashion, Secrecy)
iv) The _____ of knowledge sharing is to facilitate learning and innovation

within organisations.
(Purpose, loss, Profit)

v) Knowledge management involves capturing, storing and _____
knowledge.
(Hiding, Eliminating, Sharing)

vi) Types of Intellectual property includes _______.
(Patents, Copyrights, Both the options)

vii) _____ can be developed in the process of learning and socialization.
(Price, Cost, Knowledge)

viii) Knowledge transfer is the transfer of ____ knowledge that a person has.
(Old, Not useful, New)

Total No. of Questions : 6]
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Q2) What do you mean by Knowledge Management? Write in detail the process
and approaches of Knowledge Management. [14]

Q3) Define the term Knowledge Sharing. Write the types of Knowledge Sharing.
Explain the system of presenting knowledge. [14]

Q4) Explain in detail the terms Finance and Knowledge Management and Marketing
and Knowledge Management. [14]

Q5) Define the term Intellectual Property. Write how the Knowledge Management
is used to safeguard Intellectual Property. [14]

Q6) Write Short Notes (any two). [12]

a) Difference between Information and Knowledge.

b) Role of leader in Knowledge Management.

c) E-Commerce and Knowledge Management.

d) Role of Information Technology in Knowledge Management.


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[6319]-35
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ELEMENTS OF KNOWLEDGE MANAGEMENT (214)
(2019 Pattern) (CBCS) (Semester - II) (Group - F)

(_amR>r ê$nm§Va)
doi : 3 Vmg     ] [ EHy$U JwU : 60
gyMZm : 1) àý H«$_m§H$ 1Am{U àý H«$_m§H$ 6 A{Zdm ©̀ AmhoV.

2) àý H«$_m§H$ 2 Vo 5 _Yrb H$moUVohr VrZ àý gmoS>dm.
3) COdrH$S>rb nyU© JwU Xe©{dVmV.

PC-4475

àíZ àíZ àíZ àíZ àíZ 1) [aŠV OmJm ^am (H$moUVohr ghm) [6]
i) kmZmMm Cn`moJ ì`dgm`mV Mm§Jbm ........ {_idÊ`mgmR>r Ho$bm OmD$ eH$Vmo.

(Z\$m, VmoQ>m, IM©)

ii) ............. Ûmao kmZ bmoH$m§n ª̀V nmohmoMVo.

(d¥ÎmnÌm, nwñVH$m, XmoÝhr n`m©̀ m)

iii) .......... ì`dñWmnZ g§ñWmË_H$ C{Ôï>o gmÜ` H$aÊ`mg _XV H$aVo.

(kmZ, \°$eZ, JwáVm)

iv) kmZ gm_m{`H$aU H$aÊ`mMm ........ g§ñWm_Ü ò {eH$Uo Am{U ZdH$ënZm gwb^ H$aUo hm
Amho.

(CÔoe, VmoQ>m, Z\$m)

v) kmZ ì`dñWmnZm_Ü ò kmZ {_idUo, g§J«{hV H$aUo Am{U .......... H$aUo g_m{dï> Amho.

(bndUo, H$mTy>Z Q>mH$Uo, gm_m{`H$)

vi) ~m¡{ÕH$ g§nÎmrÀ`m àH$mam§_Ü ò .......... g_m{dï> hmoVmo.

(noQ>§Q>Mm, H$m°nramBQ>Mm, XmoÝhr n`m©̀ m§Mm)

vii) {ejU Am{U g_mOrH$aUmÀ`m à{H«$`oV ........ {dH${gV Ho$bo OmD$ eH$Vo.

(qH$_V, IM©, kmZ)

viii) kmZ hñVm§VaU åhUOo EImÚm ì`ŠVrH$S>o Agboë`m ............... kmZmMo hñVm§VaU hmò .

(OwÝ`m, Cn ẁŠV Zgboë`m, ZdrZ)

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) kmZ ì`dñWmnZ åhUOo H$m`? kmZ ì`dñWmnZMr à{H«$`m Am{U Ñ{ï>H$moZ Vnerbdma {bhm.[14]

àíZ àíZ àíZ àíZ àíZ 3) kmZ gm_m{`H$aU `m g§H$ënZoMr ì`m»`m Úm. kmZ gm_m{`H$aUMo àH$ma {bhm. kmZ gmXa
H$aÊ`mMr nÕV ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 4) {dÎm Am{U kmZ ì`dñWmnZ Am{U {dnUZ Am{U kmZ ì`dñWmnZ `m g§H$ënZm ñnï> H$am.[14]

àíZ àíZ àíZ àíZ àíZ 5) ~m¡{ÕH$ g§nXm `m g§H$ënZoMr ì`m»`m Úm. ~m¡{ÕH$ g§nÎmrMo ajU H$aÊ`mgmR>r kmZ ì`dñWmnZ
H$go dmnabo OmVo Vo {bhm. [14]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm. (H$moUVrhr XmoZ) [12]

A) _m{hVr Am{U kmZ `mVrb \$aH$

~) kmZ ì`dñWmnZmV ZoË`mMr ŷ{_H$m

H$) B©-H$m°_g© Am{U kmZ ì`dñWmnZ

S>) kmZ ì`dñWmnZmV _m{hVr V§ÌkmZmMr ŷ{_H$m





Q1) Fill in the blanks by selecting suitable choice (any 6) : [6]

i) _______ reason why people launder illegal wealth.
a) Hiding Wealth b) Tax exemption
c) Profit growth d) All of the above

ii) As per section 2 of the Money Laundering Act, 2002, _____ is defined.
a) Assessing Officer b) Appellate Tribunal
c) Assistant Director d) All of the above

iii) The Foreign Exchange Act was implemented in the year _______.
a) 1990 b) 1989
c) 1999 d) 1991

iv) ________ are the major players in the foreign exchange market.
a) Commercial banks
b) Corporate Institutions
c) Exchange brokers
d) Centeral bank of country and central government

v) So far ______ Basel has been adopted.
a) One b) Two
c) Three d) Four

vi) The Basel Guidelines are developed by _______.
a) World Bank b) International Monetary fund
c) Governor of the G-20 group d) BCBS
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vii) The Banking ombudsman is appointed by _______
a) Central Finance Minister b) Reserve Bank of India
c) SEBI d) None of the above

viii) The responsibility of the appellate authority lies with _________.
a) Deputy Governor of the Reserve Bank of India
b) Chief Governor of the Reserve Bank of India
c) Minister of Finance
d) None of the above

Q2) Explain the RBI guidelines on prevention of money laundering. [14]

Q3) Explain various provisions under section 3 to 9 of the foreign Exchange
Management Act, 1999. [14]

Q4) Define Non-performing Assets. Explain the reasons for rising Non-performing
Assets. [14]

Q5) Define Merger of banking. Explain impact of mergers amongest Public Sector
Banks. [14]

Q6) Write short note (any two) : [12]

a) Attachment (Sec. 5)
b) Directorate of enforcement
c) Liquidity risk
d) Consolidation of Banks


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àíZ àíZ àíZ àíZ àíZ 1) ¶mo½¶ n¶m©¶ {ZdSy>Z [aH$må¶m OmJm ^am. (H$moUË`mhr ghm) [6]
i) ........... H$maUmZo bmoH$ Ad¡Y g§nÎmrMo ewÕrH$aU H$aVmV.

A) g§nÎmr bndUo ~) H$amVyZ gyQ> {‘idUo
H$) Z’$m dmT>Uo S>) darbn¡H$s gd©

ii) Ad¡Y g§nÎmrMo ewÕrH$aU A{Y{Z¶‘, 2002 ‘Yrb H$b‘ 2 Zwgma .......... Mr ì¶m»¶m
Ho$bobr Amho.
A) A{^{ZU©¶Z A{YH$mar ~) A{nbr¶ Ý¶m¶{YH$aU
H$) ghmæ¶H$ g§MmbH$ S>) darbn¡H$s gd©

iii) naH$s¶ MbZ {df¶H$ H$m¶X¶mMr A§‘b~OmdUr hr .......... ¶m dfu Ambr.
A) 1990 ~) 1989
H$) 1999 S>) 1991

iv) naH$s¶ MbZ ~mOmamVrb ‘hËdnyU© A{^H$V} ................... AmhoV.
A) ì¶mnmar ~±H$ ~) H$m°nm}aoQ> g§ñWm
H$) E³gM|O ~«moH$a S>) XoemMr ‘Ü¶dVu ~±H$ Am{U H|$Ð emgZ

v) AÎmmn¶ªV .......... ~ogobMm ñdrH$ma Ho$bm Jobm.
A) EH$ ~) XmoZ
H$) VrZ S>) Mma

vi) ~ogob ‘mJ©Xem©H$ {Z¶‘m§Mr {Z{‘©Vr hr .............. H$Sy>Z Ho$br OmVo.
A) OmJ{VH$ ~±H$ ~) Am§Vaamï´>r¶ ZmUo{ZYr
H$) Or - 20 g‘whmMo JìhZ©a S>) ~r gr ~r Eg

3 P.T.O.
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vii) ~±qH$J bmoH$nmbmMr {Z¶w³Vr hr ................ Ûmao Ho$br OmVo.
A) H|$Ðr¶ {dÎm ‘§Ìr ~) ^maVr¶ [aPìh© ~±H$
H$) go~r S>) darbn¡H$s Zmhr

viii) A{nbr¶ àm{YH$aUmMr O~m~Xmar ............ H$S>o Amho.
A) ^maVr¶ [aPìh© ~±Ho$Mo S>oß¶wQ>r JìhZ©a
~) ^maVr¶ [aPìh© ~±Ho$Mo ‘w»¶ JìhZ©a
H$) {dÎm ‘§Ìr
S>) darbn¡H$s Zmhr

àíZ àíZ àíZ àíZ àíZ 2) Ad¡Y g§nÎmrMo ewÕrH$aU à{V~§Y ¶m{df¶r [aPìh© ~±H$ Am°’$ B§{S>¶mÀ¶m ‘mJ©Xem©H$da gwMZm
ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 3) na{H$¶ {d{Z¶‘ ì¶dñWmnZ H$m¶Xm, 1999 ‘Yrb H$b‘ 3 Vo 9 A§VJ©V AgUmè¶m {d{dY
VaVyXr ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 4) AZwËnmXH$ ‘mb‘ÎmoMr ì¶m»¶m H$am, Am{U AZwËnmXH$ ‘mb‘Îmm dmT>Ê¶mMr H$maUo ñnï> H$am.[14]

àíZ àíZ àíZ àíZ àíZ 5) ~±H$ {d{bZrH$aUmMr ì¶m»¶m H$am. ~±H$ {d{bZrH$aUmMm gmd©O{ZH$ joÌmVrb ~±H$m§darb n[aUm‘
ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm. (H$moUVohr 2) [12]
A) ‘mb‘Îmoda Q>mM AmUUo (H$b‘ - 5)
~) A§‘b~OmdUr g§MmbZmb¶
H$) VabVm OmoIr‘
S>) ~±H$m§Mo EH$sH$aU





Q1) Fill in the blank's by selecting suitable choice (any 6) : [6]
i) Marginal standing facility (MSF) Rate =

a) MSF Rate = Repo Rate - 1
b) MSF Rate = Repo Rate + 1
c) MSF Rate = Reverse Repo Rate + 1
d) MSF Rate = Reverse Repo Rate - 1

ii) Reverse Repo Rate is a tool used by RBI to ________
a) Inject liquidity b) To keep liquidity
c) Flow of credit d) Absorb liquidity

iii) The main objective of the monetary policy of India is ________
a) Growth and stability b) Over all monetary stability
c) Reduce poverty d) Achieve stability

iv) Inflation is a sustained increase in the general level of _________
a) Profit b) Income
c) Accounts d) Prices

v) Which one among the _________ promoted the concept of self help
groups (SHGS) for financing the poor.
a) RBI
b) Union ministry of Rural Development
c) NABARD
d) Union ministry of Labour
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vi) The cash reserve Ratio is an effective instrument of credit control. Under
the RBI Act 1934 every _______ Bank how to keep certion minimum
cash reserve with RBI.
a) Public Bank b) Commercial Bank
c) Private Bank d) Agriculture Bank

vii) Monetary policy is regulated by ________.
a) Micro finance b) Central Bank
c) Money Lenders d) Private Bank

viii) The rate at which reserve bank of India borrows form other Bank is
called what?
a) Liquidity rate b) Exchange rate
c) Reverse Repo d) Repo rate

Q2) Explain the difference between fiscal policy and monetary policy. [14]

Q3) Explain the review of the monetary policy of Reserve Bank of India in the last
five years. [14]

Q4) What is meant by financial inclusion? Explain the importance of financial
inclusion? [14]

Q5) What is micro finance? Explain the function of micro finance? [14]

Q6) Write Short Notes (Any two) : [12]
a) Importance of monetary policy.
b) Quantitative instruments.
c) Financial literacy.
d) Types of monetary policy.

♦♦♦
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àíZ 1) `mo½` n`m©̀  {ZdSy>Z [aH$må`m OmJm ^am (H$moUVohr  6) [6]

i) _mOuZb ñQ>¡ÝS>tJ \°$gr{bQ>r (E_EgE\$) Xa = ....................

A) E_EgE\$ Xa = aonmo Xa - 1

~) E_EgE\$ Xa = aonmo Xa + 1

H$) E_EgE\$ Xa = [aìhg© aonmo Xa + 1

S>) E_EgE\$ Xa = [aìhg© aonmo Xa - 1

ii) [aìhg© aonmo Xa ho Ama. ~r. Am` Mo _hËdmMo Qw>b Amho.

A) VabVm ~) VabVm amIÊ`mgmR>r

H$) nVdmT>>dUo S>) VabVm A§Hw$MZgmR>r

iii) _m°ZoQ>ar nm°{bgr Mm _w»` CÔoe .................

A) dmT> Am{U pñWaVm ~) EH$ÌrV pñWaVm

H$) Jar~r H$_r H$aÊ`mgmR>r S>) pñWaVm {_idÊ`mgmR>r

iv) ^mddmT>> {ZX}em§H$ ~m°Z ho ............ AgVmV.

A) Z\$m ~) CËnÝZ

H$) ImVo S>) qH$_Vr

P.T.O.

PC-4476

3



[6319]-37 4

v) Jar~m§Zm {dÎmnwadR>m H$aÊ`mgmR>r Imbrbn¡H$s ..........ñd §̀ghm`Vm g_whm§Zm àoaUm XoVo.

A) Ama.~r.Am` ~) J«m_rU {dH$mg _§Ìmb`

H$) Zm~mS>© S>) l__§Ìmb`

vi) n§V{Z §̀ÌUmgmR>r amoI amIrd {ZYr ho _hËdmMo ^mJ AmhoV Ama.~r. Am` H$m`Xm 1934
Zwgma àË òH$ ~±Ho$Zo ........ amoI amIrd {ZYr R>odmdm bJVmo.

A) gmd©O{ZH$ ~±H$ ~) H$_©er`b ~±H$

H$) ImOJr ~±H$ S>) eoVH$s ~±H$

vii) _m°ZoQ>ar nm°brgr {Z §̀ÌrV H$aZo ................

A) _m`H«$mo \$m`ZmÝg ~) g|Q´>b ~±H$

H$) gmdH$ma S>) ImOJr ~±H$

viii) [aPd© ~±H$ Am°\$ B§{S>`m BVa ~±H$m§H$Sy>Z Á`m XamZo H$O© hmoVo Ë`mbm.

A) VabVm Xa ~) {d{Z_` Xa

H$) [aìhg© aonmo Xa S>) aonmo Xa

àíZ 2) {dÎmr` YmoaU Am{U MbZ{df`H$ YmoaUmVrb \$aH$ ñnï> H$am? [14]

àíZ 3) _mJrb nmM dfm©Vrb ^maVr` [aPd© ~±Ho$À`m MbZ{df`H$ YmoaUmMm AmT>mdm ¿`m? [14]

àíZ 4) {dÎmr` g_mdoeZ åhUOo H$m`? {dÎmr` g_mdoeZmMo _hËd ñnï> H$am? [14]

àíZ 5) gwú_ {dÎm nwadR>>m åhUOo H$m`? gwú_ {dÎm nwadR>çmMo H$m }̀ ñnï> H$am? [14]

àíZ 6) WmoS>Š`mV {Q>nm {bhm (H$moUË`mhr XmoZ) [12]
A>) _m¡{ÐH$ YmoaUmMo _hËd

~>) g§ñWmË_H$ gmYZo

H$) {dÎmr` gmjaVm

S>) _m¡{ÐH$ YmoaUmMo àH$ma

♦♦♦



Q1) Fill in the Blanks (Attempt any 6 out of 8) : [6]
i) Importance of employees in customer satisfaction is _______

a) Fatigue b) Ensuring customer satisfaction
c) Over work d) Interpersonal Issue

ii) ___________ is some popular CRM Software.
a) SAP CRM b) Oracle CRM
c) Sale force d) All of the above

iii) __________ is the meaning of ‘e’ in eCRM
a) Electronics b) Eco system
c) E-learning d) Economics

iv) Customer relationship management includes the following _______
components.
a) Information b) Process
c) Technology d) All of the above

v) CSR software’s includes _________.
a) Oracle b) People Soft
c) Clarify d) All of the above

vi) In _______ Amdocs has take over ‘Clarify’ Software
a) 2002 b) 2012
c) 2003 d) 2013
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vii) The role of information Technology in E-Customer relationship
management is _______
a) Use of internet b) Telephony integration
c) Warehouse of information d) All of the above

viii) E Customer relationship management and environment factors can be
explained though the _________
a) Internet b) Intranet
c) Extranet d) All of the above

Q2) Define terms CRM. Explain the emergence of CRM cycle. [14]

Q3) What is the meaning of eCRM? And Explain its IT tools and features. [14]

Q4) Explain the Customer experience management and customer profitability
management. [14]

Q5) Explain the challenges of CRM and importance of customer satisfaction. [14]

Q6) Write a Short Note (any two) : [12]

a) Customer lifetime value
b) Customer perception
c) Customer profitability
d) Employee customer orientation


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àíZ àíZ àíZ àíZ àíZ 1) ¶mo½¶ n¶m©¶ {ZdSy>Z [aH$må¶m OmJm ^am. (H$moUË`mhr ghm) [6]
i) J«mhH$m§À¶m g‘mYmZm‘Ü¶o H$‘©Mmè¶m§Mo ‘hÎd ............... Amho.

A) WH$dm
~) J«mhH$m§Mo g‘mYmZ gw{ZpíMV H$aUo
H$) OmñV H$m‘
S>) Am§Vad¡¶{³VH$ g‘ñ¶m

ii) ............... H$mhr bmoH${à¶ grAmaE‘ gm°âQ>doAa Amho.
A) SAP grAmaE‘ ~) Amoa°H$b grAmaE‘
H$) goëg’$mog© S>) darb gd©

iii) B©grAmaE‘ ‘Ü¶o "B©' Mm AW© Amho ..............
A) Bbo³Q´>m°{Z³g ~) BH$mo {gñQ>‘
H$) B©-b{ZªJ S>) BH$moZmo{‘³g

iv) J«mhH$ g§~§Y ì¶dñWmnZm‘Ü¶o Imbrb KQ>H$m§Mm g‘mdoe hmoVmo ...........
A) ‘m{hVr ~) à{H«$¶m
H$) V§ÌkmZ S>) darb gd©

v) ............ grEgAma gm°âQ>doAaMm g‘mdoe Amho.
A) Amoa°H$b ~) nrnbgm°âQ>
H$) ³b°[a’$m¶ S>) darb gd©

vi) A°‘S>m°³gZo "³b°[a’$m¶' gm°âQ>doAaMm Vm~m .......... KoVbm Amho.
A) 2002 ~) 2012
H$) 2003 S>) 2013

3 P.T.O.
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vii) B©-J«mhH$ g§~§Y ì¶dñWmnZm‘Ü¶o ‘m{hVr V§ÌkmZmMr ŷ{‘H$m ............ Amho.
A) B§Q>aZoQ>Mm dmna ~) Q>o{b’$moZr EH$ÌrH$aU
H$) ‘m{hVrMo H$moR>ma S>) darb gd©

viii) B© J«mhH$ g§~§Y ì¶dñWmnZ Am{U n¶m©daU KQ>H$ ............ Ûmao ñnï> Ho$bo OmD$ eH$Vo.
A) B§Q>aZoQ> ~) B§Q´>mZoQ>
H$) E³ñQ´>mZoQ> S>) darb gd©

àíZ àíZ àíZ àíZ àíZ 2) grAmaE‘ g§km n[a^m{fV H$am. grAmaE‘ gm¶H$bMm CX¶ ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 3) B©grAmaE‘ Mm AW© H$m¶ Amho? Am{U Ë¶mMr IT gmYZo Am{U d¡{eï>ço {bhm. [14]

àíZ àíZ àíZ àíZ àíZ 4) J«mhH$ AZŵ d ì¶dñWmnZ Am{U J«mhH$ Z’$m ì¶dñWmnZ ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 5) grAmaE‘ Mr AmìhmZo Am{U J«mhH$m§À¶m g‘mYmZmMo ‘hÎd ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 6) Q>rnm {bhm. (H$moUË`mhr XmoZ) [12]
A) J«mhH$ AmOrdZ ‘yë¶
~) J«mhH$ YmaUm
H$) J«mhH$ Z’$m
S>) H$‘©Mmar J«mhH$ A{^‘wIVm





Q1) Fill in the blanks by selecting suitable choice (Any Six) : [6]
i) _______ is not the characteristics of services.

a) Intangibility b) Homogeneity
c) Perishability d) Inseparability

ii) _______ of the following are consumer services.
a) Food Services b) Hotels and Motels
c) Personal Care Services d) All of the above

iii) Levels of product in services includes ________.
a) The Core or Generic Product b) The Expected Product
c) The Augmented Product d) All of the above

iv) Role of Price Mix in Service Marketing is ______.
a) Psychological Costs b) Convenience Costs
c) Search Costs d) None of the above

v) Communications objectives during the maturity and decline stages are
_______.
a) Time-Bound b) Relevent
c) Achievable d) All of the above

vi) Attributes where consumers can evaluate only during or after the
consumption process is known as _________.
a) Credence qualities b) Experience qualities
c) Search qualities d) None of the above

Total No. of Questions : 6]

[Total No. of Pages : 4

[6319]-39
M.Com. (Part - I)

ADVANCE MARKETING
218 : Services Marketing (Special Paper - IV)

(2019 Pattern) (CBCS) (Semester - II) (Group - H)
Time : 3 Hours] [Max. Marks : 60
Instructions to the candidates:

1) Question No. 1 and Question No. 6 are compulsory.
2) Solve any three questions from Q. No. 2 to Q. No. 5.
3) Figures to the right indicate full marks.

PC-4478

SEAT No. :

P.T.O.



[6319]-39 2

vii) Customer Retention Efforts includes _______.
a) Customer valuation
b) Customer Retention Measurement
c) Determine reasons for defection
d) All of the above

viii) Companies can know about customer loyalty by _______ the number
of customer satisfaction questions.
a) Increasing b) Decreasing
c) Both a) & b) d) None of the above

Q2) Define the term 'Goods' and 'Services'. State the characteristics of services
and distinguish between Goods & Services. [14]

Q3) Explain the designing of Price Mix with reference to Service Mix and Service
Pricing Strategies. [14]

Q4) What is 'Distribution Mix'? Explain the designing of Service Mix with reference
to Distribution Mix. [14]

Q5) Write a detail note on consumer satisfaction and Customer Loyalty.  [14]

Q6) Write short notes (Any Two) : [12]

a) Reasons for growth of Service Sector.
b) Product Mix and Service Mix
c) Services Capes
d) Consumer Service Perception Management


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àíZ àíZ àíZ àíZ àíZ 1) ¶mo½¶ n¶m©¶ {ZdSy>Z [aH$må¶m OmJm ^am. (H$moUË`mhr ghm) [6]

i) ............ ho godoMo d¡{eï>ço ‘mZbo OmV Zmhr.

A) A‘yV©Vm ~) EH${OZgrnUm

H$) Zmed§VVm S>) A{d^³VVm

ii) nwT>rbn¡H$s .............. hr godm J«mhH$ godm åhUyZ ‘Ubr OmVo.

A) AÝZ godm ~) hm°Q>ob Am{U ‘moQ>oëg

H$) ì¶³VrJV H$miOr godm S>) darbn¡H$s gd©

iii) godoVrb CËnmXZmÀ¶m nmVir‘Ü¶o ............ Mm g‘mdoe hmoVmo.

A) H$moa qH$dm OoZo[aH$ CËnmXZ ~) Ano{jV CËnmXZ

H$) g‘d{Y©V CËnmXZ S>) darbn¡H$s gd©

iv) godm {dnUZm‘Ü¶o qH$‘V {‘lMr ŷ{‘H$m hr ......... Aer Amho.

A) ‘mZ{gH$ ì¶¶ ~) gmo¶rñH$a ì¶¶

H$) emoYZ ì¶¶ S>) darbn¡H$s H$mhrhr Zmhr

v) narn³d Am{U èhmgmÀ¶m AdñWoV Ho$ë¶mOmUmè¶m g§XoedhZmMr C{Ôï>o hr ............
AgVmV.

A) Q>mB©‘ ~mD$ÝS> ~) g§X^uM

H$) g§nmXZj‘ S>) darbn¡H$s gd©

3 P.T.O.
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vi) Agm EImÚm JwUY‘© {OWo J«mhH$ g§~§{YV godoMo ‘wë¶‘mnZ ho Ho$di Cn^moJ à{H«$¶oÀ¶m
Xaå¶mZ qH$dm Ë¶mZ§Va H$aVmV Ë¶m§Zm .......... Ago åhUVmV.
A) {dídmgmh©Vm JwUdÎmm ~) AZŵ d JwUdÎmm
H$) emoYZ JwUdÎmm S>) darbn¡H$s H$mhrhr Zmhr

vii) J«mhH$ YmaUm à¶ËZm‘Ü¶o .............. Jmoï>rMm g‘mdoe hmoVmo.
A) J«mhH$ ‘wë¶m§H$Z ~) J«mhH$ YmaUm ‘mnZ
H$) ÌwQ>r amhÊ¶m‘mJMr H$maUo S>) darbn¡H$s gd©

viii) H§$nZrbm J«mhH$m§À¶m {Zð>oMr ‘m{hVr hr J«mhH$ g‘mYmZmdarb àíZm§Mr g§»¶m ............
àmá H$aVm ¶oB©b.
A) dmT>dyZ ~) H$‘r H$ê$Z
H$) A) Am{U ~) XmoÝhrhr S>) d[abn¡H$s H$mhrhr Zmhr

àíZ àíZ àíZ àíZ àíZ 2) "dñVy' Am{U "godm' ¶m g§H$ënZm§À¶m ì¶m»¶m Úm. godm§Mr d¡{eï>o gm§Jm VgoM dñVy d godm ‘Yrb
’$aH$ ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 3) qH$‘V {‘lMm AmamIS>m godm {‘lÀ¶m g§X^m©V ñnï> H$am VgoM godm qH$‘V ì¶yhaMZm ñnï> H$am.
[14]

àíZ àíZ àíZ àíZ àíZ 4) "{dVaU {‘l' åhUOo H$m¶? {dVaU {‘lÀ¶m g§X^m©V godm {‘lMm AmamIS>m ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 5) "J«mhH$ g‘mYmZ' Am{U "J«mhH$ {dídmg' ¶mda g{dñVa {Q>n {bhm. [14]

àíZ àíZ àíZ àíZ àíZ 6) WmoS>³¶mV {Q>nm {bhm. (H$moUË`mhr XmoZ) [12]
A) godm joÌmÀ¶m d¥ÕrMr H$maUo
~) CËnmXZ {‘l Am{U godm {‘l
H$) godm Ho$n
S>) J«mhH$ godm AmH$bZ ì¶dñWmnZ





Q1) Fill in the Blanks by Selecting suitable choice (Any Six) : [6]
i) The purpose of financing is to provide _______ funding to the business.

a) Adequate and regular b) Regular
c) Insufficient d) Irregular and Insufficient

ii) ________ of a firm refers to the composition of its long term funds and
its capital structure.
a) Capitalization b) Under-capitalization
c) Over-capitalization d) Market capitalization

iii) Under-capitalization arises due to _______.
a) Excess of assets over the liabilities
b) Excess of liabilities over the assets
c) Actual capitalization is higher than the proper capitalization
d) Actual capitalization is lower than the proper capitalization

iv) Rate of return on capital is exceptionally low in _________.
a) Under-capitalization b) Over-capitalization
c) Working capital d) Fixed capital

v) ________ are the real owners of a company.
a) Government b) Board of Directors
c) Equity shareholders d) Debenture holders

vi) Shares having preferential right to dividend and repayment of capital are
known as
a) Equity shares b) Preferential shares
c) Differed shares d) Right shares
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vii) Net working capital refers to __________
a) Total assets minus fixed assets
b) Current assets minus current liabilities
c) Total assets
d) Current assets

viii) The regular fund required to run an organization is _________.
a) Working capital b) Reserve capital
c) Authorized capital d) Share capital

Q2) Define the term ‘Business Finance’. Explain the objectives and importance of
Business Finance. [14]

Q3) Define the term ‘Financial Planning’. Explain the objectives and limitations of
Financial Planning. [14]

Q4) What is meant by Equity Share Explain the advantages and disadvantages of
Equity Share? [14]

Q5) Explain characteristics and need of Short Term Finance. [14]

Q6) Write Short Notes. (Any Two) [12]

a) Future Time Value of Money
b) Under Capitalization
c) Theories of Dividend
d) Best management practice of Working Capital


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àíZ àíZ àíZ àíZ àíZ 1) [aH$må`m OmJm ^am. (H$moUË`mhr ghm) [6]
i) {dÎmnwadRçmMo C{Ôï> ho ì¶dgm¶mbm {ZYrMm ............... nwadR>m H$aUo ho Amho.

A) n¶m©á d {Z¶{‘V ~) A{Z¶{‘V
H$) An¶m©á S>) A{Z¶{‘V d An¶m©á

ii) CÚmoJg§ñWoÀ¶m XrK© ‘wXVrMo {ZYr Am{U ^m§S>dbmMr aMZm åhUOo .......... hmo¶.
A) ^m§S>dbrH$aU ~) Ý¶yZ^m§S>dbrH$aU
H$) A{Y^m§S>dbrH$aU S>) ~mOma ^m§S>dbrH$aU

iii) ............... ¶m‘wio Ý¶yZ ^m§S>dbrH$aU hmoVo.
A) Xm{¶Ëdm§nojm OmñV ‘mb‘Îmm
~) ‘mb‘Îmodarb Xm{¶Ëdm§Mm A{VaoH$
H$) dmñV{dH$ ^m§S>dbrH$aU ¶mo½¶ ^m§S>dbrH$aUmnojm OmñV AgUo
S>) dmñV{dH$ ^m§S>dbrH$aU ¶mo½¶ ^m§S>dbrH$aUmnojm H$‘r AgUo

iv) .............. ‘Ü¶o ^m§S>dbmda naVmì¶mMm Xa AndmXmË‘H$nUo H$‘r AgVmo.
A) Ý¶yZ ^m§S>dbrH$aU ~) OmñV ^m§S>dbrH$aU
H$) IoiVo ̂ m§S>db S>) pñWa ^m§S>db

v) .............. ho H§$nZrMo Iao ‘mbH$ AgVmV.
A) gaH$ma ~) g§MmbH$ ‘§S>i
H$) g‘h³H$ ^mJYmaH$ S>) H$O©amoIo YmaH$

vi) bm^m§e Am{U ^m§S>dbmMr naV’o$S> H$aÊ¶mMm àmYmÝ¶ A{YH$ma Agbobo ^mJ ...........
åhUyZ AmoiIbo OmVmV.
A) g‘h³H$ ^mJ ~) AJ«h³H$ ^mJ
H$) {^ÝZ g‘^mJ S>) ¶mo½¶ g‘^mJ

3 P.T.O.
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vii) {Zìdi IoiVo ^m§S>db .............. er g§~§{YV Amho.
A) EHy$U ‘mb‘Îmm dOm pñWa ‘mb‘Îmm
~) Mmby ‘mb‘Îmm dOm Mmby Xm{¶Ëdo
H$) EHy$U ‘mb‘Îmm
S>) Mmby ‘mb‘Îmm

viii) EImXr g§ñWm Mmb{dÊ¶mgmR>r {Z¶{‘V bmJUmam {ZYr åhUOo .......... hmo¶.
A) IoiVo ̂ m§S>db ~) amIrd ^m§S>db
H$) A{YH¥$V ^m§S>db S>) ^mJ ^m§S>db

àíZ àíZ àíZ àíZ àíZ 2) "ì¶mdgm{¶H$ {dÎmnwadR>m' ¶m eãXmMr ì¶m»¶m Úm. ì¶mdgm{¶H$ {dÎmnwadRçmMr C{Ôï>o Am{U
‘hÎd ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 3) "{dÎmr¶ {Z¶moOZ' ¶m eãXmMr ì¶m»¶m Úm. {dÎmr¶ {Z¶moOZmMr C{Ôï>o Am{U ‘¶m©Xm ñnï> H$am.[14]

àíZ àíZ àíZ àíZ àíZ 4) g‘h³H$ ^mJ åhUOo H$m¶? g‘h³H$ ^mJmMo ’$m¶Xo Am{U VmoQ>o ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 5) AënH$mbrZ {dÎmnwadRçmMr d¡{eï>ço Am{U JaO ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm. (H$moUË`mhr XmoZ) [12]
A) n¡emMo ^{dî¶H$mbrZ g‘¶ ‘yë¶
~) Ý¶yZ ^m§S>dbrH$aU
H$) bm^m§emMo {gÕm§V
S>) IoiË¶m ^m§S>dbmMr CÎm‘ ì¶dñWmnZ nÕVr





Q1) Fill in the Blanks by selecting suitable choice (any 6 out of 8) : [6]
i) Research is _________.

a) Searching again and again
b) Finding solution to any problem
c) Working in a scientific way to search for truth of any problem
d) None of the above

ii) The first step of research is _________.
a) Selecting data b) Drawing of conclusion
c) Collection of data d) Identifying a problem

iii) _______ is called non-probability sampling.
a) Cluster sampling b) Quota sampling
c) Systematic sampling d) Stratified random sampling

iv) A ________ is a subset of a ________.
a) Sample, population b) Population, sample
c) Statistic, parameter d) Parameter, statistic

v) ________ means selecting the group that you will actually collect data
for your research.
a) Sampling b) Population
c) Hypotheses d) Data
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vi) A person is given a questionnaire for collecting information of his health
status, the data provided is _______.
a) Primary b) Secondary
c) Tertiary d) Indirect data

vii) The First page of research report is _______.
a) Title page b) Index
c) Appendix d) Middle Page

viii) APA stands for ________.
a) American Psychological Association
b) American Philosophical Association
c) American Pharmacy Association
d) American Physics Association

Q2) What do you mean by ‘Research’? Explain in detail various features of good
research and Objectives of Research. [14]

Q3) What is ‘Research Design’? Explain in detail need and various classification
of research design. [14]

Q4) What do you mean by the term ‘questionnaire’ in research? Explain in detail
various types of questionnaires and stages in questionnaire designing. [14]

Q5) Explain in detail importance and structure of ‘Research Report’. [14]

Q6) Write Short Notes (Any Four) : [12]
a) Role of Computer’in Research
b) Research Problem
c) Sources of data collection
d) Footnote


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àíZ àíZ àíZ àíZ àíZ 1) `mo½` n`m©̀  {ZdSy>Z [aH$må`m OmJm ^am (8 n¡H$s H$moUVohr 6) [6]
i) g§emoYZ åhUOo .............. hmò .

A) nwÝhm nwÝhm emoYUo
~) H$moUË`mhr g_ñ òda Cnm` emoYUo
H$) H$moUË`mhr g_ñ òMo gË` emoYÊ`mgmR>r d¡km{ZH$ nÕVrZo H$m_ H$aUo
S>) darbn¡H$s H$mhrhr Zmhr

ii) g§emoYZmMr n{hbr nm`ar åhUOo ............... hm ò.
A) _m{hVr {ZdS>Uo ~) {ZîH$f© H$mT>Uo
H$) _m{hVrMo g§H$bZ S>) g_ñ`m AmoiIUo

iii) ............... bm Zm°Z-àm°~o{~{bQ>r g°ånqbJ åhUVmV.
A) ŠbñQ>a Z_wZm ~) H$moQ>m Z_wZm
H$) nÕVera Z_wZm S>) ñVarH¥$V `mÑpÀN>H$ Z_wZm

iv) .............. åhUOo ............. À`m Cng§M hmo`.
A) Z_wZm, g_J« ~) g_J«, Z_wZm
H$) gm§p»`H$s, _mnX§S> S>) _mnX§S>, gm§p»`H$s

v) ............... åhUOo Vwåhr Vw_À`m g§emoYZmÀ`m g_J«mVyZ àË`jmV _m{hVr g§H${bV
H$aÊ`mgmR>r Z_wÝ`mMr {ZdS> H$aoU hmò .
A) Z_wZm {ZdS> ~) g_J«
H$) J¥hrVHo$ S>) _m{hVr

P.T.O.
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vi) EImÚm ì`º$sg Ë`mÀ`m Amamo½` pñWVrMr _m{hVr Jmoim H$aÊ`mgmR>r àýmdbr {Xbr OmVo,
g§H${bV Ho$bobr .............. _m{hVr Amho.
A) àmW{_H$ ~) Xþæ`_
H$) V¥Vr`H$ S>) AàË`j _m{hVr

vii) g§emoYZ AhdmbmMo n{hbo nmZ ................. Amho.
A) erf©H$ nmZ ~) AZwH«$_{UH$m
H$) n[a{eï> S>) _Ybo nmZ

viii) EnrE (APA) åhUOo ............... hmo`.
A) A_o[aH$Z gm`H$mobm°{OH$b Agmo{gEeZ
~) A_o[aH$Z {\$bm°gm°{\$H$b Agmo{gEeZ
H$) A_o[aH$Z \$m_©gr Agmo{eEeZ
S>) A_o[aH$Z {\${OŠg Agmo{gEeZ

àíZ àíZ àíZ àíZ àíZ 2) "g§emoYZ' åhUOo H$m`? Mm§Jë`m g§emoYZmMr {d{dY d¡{eï²>`o Am{U g§emoYZmMr C{Ôï>o `m§Mo
g{dñVa dU©Z H$am. [14]

àíZ àíZ àíZ àíZ àíZ 3) "g§emoYZ AmamIS>m' åhUOo H$m`? "g§emoYZ AmamIS>çmMr' JaO Am{U dJuH$aU / àH$ma
g{dñVa ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 4) g§emoYZmVrb "àýmdbr' `m eãXmMm AW© {bhm. àýmdbrMo {d{dY àH$ma Am{U àýmdbr
{S>PmBZ_Yrb Q>ßß`m§Mo g{dñVa dU©Z H$am. [14]

àíZ àíZ àíZ àíZ àíZ 5) "g§emoYZ Ahdmb' Mo _hËd Am{U aMZm / _m§S>Ur g{dñVa ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm (4 n¡H$s H$moUË`mhr 2) … [12]
A) g§JUH$mMr g§emoYZmVrb ŷ{_H$m
~) g§emoYZ g_ñ`m
H$) _m{hVr g§H$bZmMo òmoV
S>) ViQ>rn





Q1) Fill in the  blanks (amy 6 out of 8) : [6]
i) The term 'Audit is derived from the Latin word ______

a) Audire b) Audit
c) Accounting d) Accountancy

ii) ______ means the proof of  existence or confirmation of assets and
liabilities on the date of balance sheet.
a) Vouching b) Verification
c) Valuation d) Investigation

iii) SAP is stand for _____
a) Standard Auditing Practices
b) Standard Auditing Purposes
c) Standard Auditing  Promotions
d) Smooth Auditing Practices

iv) SEBI is stand for _____
a) Smooth Exchange Board of India
b) Securities Exchange Board of India
c) Smooth Exchange Boardings of India
d) Securities Exchange Bird of India

v) ______ is a statement of collected and considered fact.
a) Audit Report b) Vouching
c) Audit committee d) Audit Notebook
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vi) The central Govt. has issued CARO 2023 ___ of companies Act.

a) u/s 225 (4A) b) u/s 226 (4A)
c) u/s 227 (4A) d) u/s 228 (4A)

vii) Provision for Audit Committee has been made in ______.
a) Section 291 A b) Section 292 A
c) Section 293 A d) Section 177

viii) ____ attempts to ensure that a data is processed  only once.
a) Authenticing Control b) Accuracy Control
c) Completeness Control d) Redundancy Control

Q2) Define the term 'Voucher'. State the important points to be considered while
examining Voucher. [14]

Q3) Define Audit Report. What are Audit Report contents? [14]

Q4) What is 'Corporate Governance'? Explain its need and the important
principles of Corporate Governance. [14]

Q5) Explain uses of Computers for Auditing purposes. [14]

Q6) Write short notes (Any 2 out of 4): [12]

a) Objectives of Auditing

b) Audit of Share Capital

c) Functions of Audit Committee

d) Computerised Auditing Programme.


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Q1) Multiple Choice Questions. (Any six) [6]
a) Tax Audit is conducted in Sec 44 AB of the Income Tax Act,1961,

by a _____
i) Chartered Accountant ii) Finance Manager
iii) HR Manager iv) Director

b) A ______ is an examination of a tax payer’s books of Accounts.
i) Tax Audit ii) Property Audit
iii) Special Audit iv) Final Audit

c) This kind of audit is conducted generally between two annual audits.
i) Internal Audit ii) Interim Audit
iii) Final Audit iv) Continuous Audit

d) Voucher Related to _______
i) Cash Receipt ii) Cash Payment
iii) Credit Transaction iv) All of the above

e) _______ is an independent appraisal activity within an organization for
the review of operations as a service to management.
i) Compulsory Audit ii) Statutory Audit
iii) Internal Audit iv) Cost Audit

f) Effective internal Check system reduces _______
i) Liability of auditor ii) Work of auditor
iii) Responsibility iv) Both (i) & (ii)

P.T.O.
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g) Internal Auditor is appointed by ______
i) Management ii) Shareholder
iii) Government iv) Board members

h) The registrar shall audit or cause to be audited by some person authorized
by him, the accounts of every registered society at least _____
i) Once a year ii) Twice a year
iii) Monthly iv) Half yearly

Q2) Define the term of GST. Explain the need and Types of Audit under GST
ACT. [14]

Q3) Distinguish between External Audit and Internal Audit. [14]

Q4) Define the term of Bank Audit. Explain the salient feature of enactments affecting
banks. [14]

Q5) Define the term of Consumer Cooperative store and state characteristics of
Consumer Cooperative stores. [14]

Q6) Write short Note (Any two) [12]

a) Reconciliation statement under GST.

b) Internal Control.

c) Procedure of Bank Audit.

d) Appointment & Review of Auditors.

… … …



Q1) Fill in the blanks by selecting a suitable choice (Any six) [6]
i) ADR stand for ______

a) Alternative dispute resolution
b) Additional dispute resolution
c) Alternative Desperate resolution

ii) The international trade between ______ is like a vastgane of beggar my
neighbor.
a) Exporter & Importer b) Two Countries
c) Two world wars

iii) A no-trade world will have which of the following characteristics
________
a) Countries will have same relative endowments of productin factors
b) There will be no distortion or externalities
c) All of the above

iv) Public law includes ________ law.
a) Administrative b) Constitution
c) All of these

v) International trade and domestic trade differ because of ______
a) Different government policies
b) Immobility of factors
c) All of the above
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vi) Transportation cost of trade affects : ______
a) Pattern of tade b) Global supply chain
c) All of the above

vii) What is the main aspect of conflict in PFL?
a) Conflicting laws b) Clashing of laws
c) Jurisdiction

viii) __________ soil is suitable for cotton.
a) Black b) Red
c) Both a and b

Q2) Distinction between Public International Law and Private International Law.[14]

Q3) What is mean by international trade? Explain the origin and nature of
international trade. [14]

Q4) What is the India’s Foreign Trade Policy? Explain the objectives and provision
regarding Import & Exports. [14]

Q5) What is the International Commercial Dispute Resolution Mechanism? Explain
the International court of justice and its jurisdiction. [14]

Q6) Write short notes (any two) [12]
a) India and International law.
b) Advantages and Disadvantages of International Trade.
c) Foreign direct investment.
d) Enforcement of Foreign Awards in India.

♦♦♦
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doi : 3 Vmg ]                      [EHy$U JwU : 70
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àíZ 1) `mo½` n`m©̀  {ZdSy>Z [aŠV OmJm ^am. (H$moUVohr  6) [6]

i) ADR åhUOo ..............

A) n`m©̀ r V§Q>m {ZdmaU ~) A{V[aŠV {ddmX {ZamH$aU

H$) n`m©̀ r AgmÜ` R>amd

ii) ........... _Yrb Am§Vaamï´>r` ì`mnma hm _mÂ`m eoOmè`mÀ`m {^H$mè`mÀ`m IoimgmaIm
Amho.

A) {Z`m©VXma Am{U Am`mVXma ~) XmoZ Xoe

H$) XmoZ _mhm ẁÕo

iii) Zmo-Q´>oS> dbo²S>_Ü ò Imbrbn¡H$s H$moUVr d¡{eï>ço AgVrb ..................

A) Xoem§Zm CËnmXZ KQ>H$m§Mr g_mZ gmnoj g§nVr Agob

~) H$moUVrhr {dH¥$Vr qH$dm ~møVm AgUma Zmhr

H$) darb gd©

iv) gmd©O{ZH$ H$m`Xm .................. H$m`Xm g_m{dï> H$aVmo.

A) àemgZ ~) g§{dYmZ

H$) darb gd©

P.T.O.
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v) Am§Vaamï´>r` ì`mnma Am{U Xoem§VJ©V ì`mnma ......... _wio {^Þ AmhoV.

A) {d{dY gaH$mar YmoaUo ~) KQ>H$m§Mr pñWaVm

H$) darb gd©

vi) ì`mnmaamÀ`m dmhVyH$ IMm©da n[aUm_ hmoVmo ..............

A) ì`mnmamMm Z_yZm ~) OmJ{VH$ nyadR>m gmIir

H$) darb gd©

vii) nr E\$ Eb _Yrb g§Kfm©Mr ~mOy H$moUVr Amho?

A) nañna {damoYr H$m`Xo ~) H$m`ÚmMm g§Kf©

H$) A{YH$ma joÌ

viii) .......... _mVr H$mngmgmR>r ̀ mo½` Amho.

A) H$mir ~) bmb

H$) A Am{U ~ XmoÝhr

àíZ 2) gmd©O{ZH$ Am§Vaamï´>r` H$m`Xm Am{U ImOJr Am§Vaamï´>r` H$m`Xm `mVrb \$aH$ ñnï> H$am.[14]

àíZ 3) Am§Vaamï´>r` ì`mnmamMm AW© H$m` Amho? Am§Vaamï´>r` ì`mnmamMr CËnVr Am{U ñdê$n ñnï> H$am.
[14]

àíZ 4) ^maVmMo naamï´> YmoaU H$m` Amho? Am`mV Am{U {Z`m©Vrer g§~{YV C{Xï>o Am{U VaVwXr ñnï> H$am.
[14]

àíZ 5) Am§Vaamï´>r` ì`mgm{`H$ {ddmX {ZamH$aU §̀ÌUm H$m` Amho? Am§Vaamï´>r` Ý`m`Mo Ý`m`mb` Am{U
Ë`m§Mo A{YH$ma joÌ ñnï> H$am. [14]

àíZ 6) {Q>nm {bhm (H$moUË`mhr XmoZ) [12]
A>) ^maV Am{U Am§Vaamï´>r` H$m`Xm

~>) Am§Vaamï´>r` ì`mnmamMo \$m`Xo Am{U VmoQ>o

H$) naH$s` àË`j J§wVdUyH$

S>) ^maVmV {dXoer nwañH$mamMr A§_b~OmdUr

♦♦♦
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[6319]-46
M.Com. (Part - II)

COMMERCIAL  LAWS  AND  PRACTICES
306 : World Trade Organisation - Norms & Practices

(2019 Pattern) (Credit System) (Semester - III) (Group - B)

Time : 3 Hours] [Max. Marks : 60
Instructions to the candidates:

1)  Q.1 &  Q.6 are Compulsory.
2) Solve any 3 questions from Q.2 to Q.5.
3) Figures to the right indicate full marks.

PC4482 [Total No. of Pages : 4
SEAT No. :

Q1) Multiple choice questions. (any 6) [6]

a) Where is the headquarters of the WTO located?

i) India

ii) Geneva

iii) China

b) Which article of the General Agreement on Tariffs and Trade (GATT)
1994 addresses the principle of Most Favored Nation Treatment?

i) Article I

ii) Article II

iii) Article III

c) General Agreement on Tariffs and Trade (GATT) went into effect?

i) 1945

ii) 1950

iii) 1948

d) __________ agreements deals with WTO.

i) Agreement on Agriculture

ii) Agreement on Terrorism

iii) Agreement on Tourism

P.T.O.
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e) The world Tread Organization was established under_______ rounds.
i) Doha Round
ii) Uruguay Round
iii) Geneva Round

f) India got the membership of WTO in ______ .
i) 1950
ii) 1995
iii) 2000

g) Which of the following is the global International organization dealing
with the rules of trade between nations?
i) International Monetary Fund
ii) World Trade Organization
iii) World Bank

h) Among the following options, which one is not the objective of the WTO?
i) To protect the environment
ii) To improve the balance of payment situation of the member

countries.
iii) To improve the standard of living of people of the member

countries

Q2) Explain the objectives and relevance of GATT at present. [14]
Q3) Explain the objectives and principles of the WTO Trading System. [14]
Q4) What is the General Agreement on Tariffs and Trade (GATT)? Explain the

formation of the General Agreement on Tariffs and Trade (GATT). [14]
Q5) Explain the WTO Disputes Settlement Mechanism.  [14]
Q6) Write Short Notes on: (Any Two)  [12]

a) GATT Tariff Negotiations
b) Developing countries and WTO
c) WTO and Global Economic Policy making
d) Procedure of Dispute Settlement.

… … …
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Total No. of Questions : 6]

[6319]-46
M.Com. (Part - II)

COMMERCIAL  LAWS  AND  PRACTICES
306 : World Trade Organisation - Norms & Practices

(2019 Pattern) (Credit System) (Semester - III) (Group - B)
(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 60

gyMZm …- 1) àíZ H«$.1 Am{U àíZ H«$. 6 gmoS>{dUo A{Zdm¶© Amho.
2) àíZ H«$.2 Vo àíZ H«$.$5 n¶ªV H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ JwU Xe©{dVmV.
4) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PC4482

à.à.à.à.à.1) ~hþn¶m©¶r àíZ. (H$moUË¶mhr 6) [6]
A) OmJ{VH$ ì¶mnma g§KQ>ZoMo ‘w»¶mb¶ H$moR>o Amho?

i) ^maV
ii) {O{Zìhm
iii) MrZ

~) Q>°[a’$ A±S> Q>o´S> (GATT) 1994 darb gm‘mÝ¶ H$amamMm H$moUVm H$b‘ ‘moñQ> ’o$ìhS>© ZoeZ
Q´>rQ>‘|Q>À¶m VÎdmbm g§~mo{YV H$aVmo?
i) H$b‘ I
ii) H$b‘ II
iii) H$b‘ III

H$) OH$mV Am{U ì¶mnmamdarb gm‘mÝ¶ H$ama (GATT) bmJy Pmbm?
i) 1945
ii) 1950
iii) 1948

S>) ........... H$ama OmJ{VH$ ì¶mnma g§KQ>Zoer (WTO) g§~§{YV Amho.
i) H¥$fr H$ama
ii) XheVdmXmdarb H$ama
iii) n¶©Q>Z H$ama

B) OmJ{VH$ ì¶mnma g§KQ>ZoMr ñWmnZm .......... ¶m ’o$ar‘Ü¶o Pmbr.
i) Xmohm ’o$ar
ii) Cê$½do ’o$ar
iii) {O{Zìhm ’o$ar
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’$) ^maVmbm OmJ{VH$ ì¶mnma g§KQ>ZoMo gXñ¶Ëd ............ ‘Ü¶o {‘imbo.

i) 1950

ii) 1995

iii) 2000

¶) Imbrbn¡H$s H$moUVr OmJ{VH$ Am§Vaamï´>r¶ g§ñWm amï´>m§‘Yrb ì¶mnmamMo {Z¶‘ hmVmiVo?

i) Am§Vaamï´>r¶ ZmUo{ZYr

ii) OmJ{VH$ ì¶mnma g§KQ>Zm

iii) OmJ{VH$ ~±H$

a) Imbrb n¶m©¶m§n¡H$s WTO Mo C{Ôï> H$moUVo Zmhr?

i) n¶m©daUmMo ajU H$aUo

ii) gXñ¶ Xoem§À¶m Xo¶H$ g§VwbZmMr pñWVr gwYmaUo

iii) gXñ¶ Xoem§Vrb bmoH$m§Mo OrdZ‘mZ gwYmaUo

à.à.à.à.à.2) GATT Mr C{Ôï>o Am{U àmg§{JH$Vm ñnï> H$am. [14]

à.à.à.à.à.3) OmJ{VH$ ì¶mnma g§KQ>ZoÀ¶m ì¶mnma àUmbrMr C{Ôï>o Am{U ‘yb ŷV VÎdo ñnï> H$am. [14]

à.à.à.à.à.4) OH$mV Am{U ì¶mnmamdarb gm‘mÝ¶ H$ama (GATT) H$m¶ Amho? OH$mV Am{U ì¶mnmamdarb gm‘mÝ¶
H$amamÀ¶m (GATT) {Z{‘©VrMo ñnï>rH$aU Úm. [14]

à.à.à.à.à.5) OmJ{VH$ ì¶mnma g§KQ>Zm {ddmX {ZdmaU/{ZnQ>mam ¶§ÌUm ñnï> H$am. [14]

à.à.à.à.à.6) Q>rnm {bhm. (H$moUË¶mhr XmoZ) [12]

A) GATT OH$mV{df¶H$ dmQ>mKmQ>r

~) WTO Am{U OmJ{VH$ Am{W©H$ YmoaU V¶ma H$aUo

H$) {dH$gZerb Xoe Am{U WTO

S>) {ddmX {ZdmaU à{H$¶m

… … …
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Total No. of Questions : 6]

[6319]-47
M.Com. (Part - II)

307 : COST AUDIT
(2019 Pattern) (Credit System) (Semester - III)

Time : 3 Hours] [Max. Marks : 60
Instructions to the candidates:

1) Question no.1 and question no. 6 are compulsory.
2) Solve any three questions from question No.2 to question No.5.
3) Figures to the right indicate full marks.

PC4483 [Total No. of Pages : 3
SEAT No. :

Q1)  Multiple choice questions. (Any 6 out of 8): [6]

a) ______can be undertaken only in such business and industrial units
which maintain the cost accounting books and records.

i) Cost audit

ii) Management audit

iii) Tax audit

iv) Green audit

b) The Annexure to Cost Audit Report should be signed by:

i) The secretary and the Finance Officer

ii) The Secretary and the CFO of the company

iii) One Director and one secretary

iv) The CFO and the Managing Director

c) Form A XBRL is used for filing.

i) Cost Audit Report of a Company

ii) Annual Report of a Company

iii) Companies Report of a Company

iv) All of these

P.T.O.
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d) Cost Audit is not a Post mortem Examination like _____

i) Management Audit

ii) Financial Audit

iii) Cash Audit

iv) Flexible Audit

e) The _______ auditor does not comment on the performance efficiency
of the company.

i) Tax

ii) Cost

iii) Financial

iv) Management

f) Cost Audit is examination of______.

i) Remuneration

ii) Responsibility

iii) Efficiency

iv) Accountability

g) Social Audit is the examination of _____accounting.

i) Financial responsibility

ii) Managerial responsibility

iii) Management responsibility

iv) Social responsibility

h) Qualification to report are given by _______in his audit report.

i) Management Auditor

ii) Cost Auditor

iii) Tax Auditor

iv) Financial Auditor
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Q2) Define the term Cost Audit.Explain the scope and applicability of cost Audit.
 [14]

Q3) Define Cost Auditor and Explain the Qualification and Disqualification of
Cost  Auditor. [14]

Q4) What is mean by Cost Audit Program? State the need for preparation of cost
audit program? [14]

Q5) Define Cost Audit Report. Explain in detail the contents of Cost Audit Report.
[14]

Q6) Write short notes (Any 2): [12]

a) Efficiency Audit

b) Remuneration of the Cost Auditor

c) Cost Audit plan

d) Extensible Reporting Language (XBRL)


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Total No. of Questions : 6]

[6319]-48
S.Y. M.Com.

ADVANCED COST ACCOUNTING AND COST SYSTEM
308 : Management Audit

(2019 Pattern) (Credit System) (Semester - III)
Time : 3 Hours] [Max. Marks : 60
Instructions to the candidates:

1) Question no.1 and question no.6 are compualsory.
2) Solve any three questions from the remaining question No.2,3,4 and 5.

PC4484 [Total No. of Pages : 2
SEAT No. :

Q1)  Multiple Choice Questions.(Any six) [6]
a) _____is a systematic examination of decisions and actions of the

management to analyse the performance.

i) Management Audit ii) Financial Audit

iii) Cost Audit iv) Statutory Audit

b) _____is the public image and perception of a business or brand.

i) Corporate Culture ii) Corporate image

iii) Branding iv) Operational Audit

c) An_______ refers to a method of examining how an organization
conducts business.

i) Systems Audit ii) Efficiency Audit

iii) Corporate Audit iv) Operational Audit

d) Human resources audits allow a business to evaluate its______ and its
policies, procedures and common practices.

i) Human resources department ii) Production department

iii) Purchase department iv) Procurement department

P.T.O.
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e) Corporate Services Audit is the audit of_____of the company.
i) Social behaviour ii) Financial audit
iii) Structure audit iv) Programme

f) An_____is a set of directions that the auditor and its team members
need to follow for the proper execution of the audit.
i) Audit guidelines ii) Audit notes
iii) Audit structure iv) Audit program

g) Internal Auditor is appointed by_____.
i) Bankers ii) Shareholder
iii) Government iv) Board Members

h) Bank Audit involves expression of opinion on the_____.
i) Financial Policy ii) Financial Budget
iii) Financial Interest iv) Financial Statement

Q2) Define the term Management Audit. Differentiate between Financial Audit and
Management Audit. [14]

Q3) Who is a Management Accountant? Explain the role of Management Accountant
in decision Making. [14]

Q4) What is Operational Audit? Explain in detail the objectives of Operationa
Audit. [14]

Q5) What is Corporate Image? Explain the impact of Corporate image on business.
[14]

Q6) Write short notes (Any two): [12]
a) Benefits of Management Audit
b) Human Resource Development Audit
c) Sources of Corporate Image
d) Social Cost-Benefit Analysis


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[6319]-49
M.Com. - II

CO-OPERATION AND RURAL DEVELOPMENT
309 (D) : Co-operative Credit System

(2019 Pattern) (Semester - III) (Credit System)

Time : 3 Hours] [Max. Marks : 60
Instructions to the candidates:

1) Question No. 1 and question No. 6 are compulsory.
2) Solve any 3 questions from the question No. 2 to 5.
3) Figures to the right indicate full marks.

PC4485 [Total No. of Pages : 4
SEAT No. :

Q1) Multiple Choice Questions (any 6). [6]
a) Farmers are unable to purchase ______ for agriculture due to long term

debts.
i) Medicines ii) Tools
iii) Seeds iv) Labour

b) Sources of agricultural credit are ______
i) Institutional sources ii) Non-institutional sources
iii) Private sources iv) All of these

c) _______ loans are available in less time.
i) Short term ii) Long term
iii) Medium term iv) None

d) The highest rate of interst is to be paid on ________ loan.
i) Short term ii) Long term
iii) Medium term iv) None of the above

e) The problems of Agricultural Cooperatives are ______
i) Insufficient deposits ii) Lack of capital
iii) Limited credit supply iv) All of the above

f) Problems of State Co-operative Banks are ______
i) Lack of capital ii) Rising arrears
iii) Limited deposits iv) All of the above

P.T.O.
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g) NABARD was established on _____

i) 12 July 1983 ii) 10 August 1983

iii) 15 May 1985 iv) 12 July 1980

h) For source of finance there are ______

i) Central Cooperative Banks

ii) State Cooperative Bank

iii) Primary Agricultural Credit Institutions

iv) All of the above

Q2) Define the credit. Explain various types of credit.  [14]

Q3) Explain the advantages and disadvantages of short-term credit. [14]

Q4) Explain the other non-agriculture credit societies.  [14]

Q5) Explain the Needs and Objectives of rural cooperative bank. [14]

Q6) Write short notes (any two)  [12]

a) Long-term credit

b) Advantages of Medium-Term Credit

c) Working of Urban cooperative societies

d) Sources of finance


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Total No. of Questions : 6]

[6319]-49
M.Com. - II

CO-OPERATION AND RURAL DEVELOPMENT
309 (D) : Co-operative Credit System

(2019 Pattern) (Semester - III) (Credit System)

(‘amR>r ê$nm§Va)
doi : 3 Vmg] [ EHy$U JwU : 60
gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H«$. 6 gmoS>{dUo A{Zdm¶© AmhoV.

2) àíZ H«$. 2 Vo àíZ H«$. 5 n¡H$s H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) ~hþn¶m©¶r àíZ. (H$moUVohr ghm) [6]
A) XrK© ‘wXVrÀ¶m H$Om©‘wio eoVH$è¶m§Zm eoVrgmR>r ..........IaoXr H$aVm ¶oV Zmhr.

i) Am¡fYo ii) AdOmao

iii) {~¶mUo iv) ‘Oya

~) H¥$fr H$Om©Mo ñÌmoV ........... AmhoV.

i) g§ñWmË‘H$ ñÌmoV ii) J¡ag§ñWmË‘H$ ñÌmoV

iii) ImOJr ñÌmoV iv) ¶mn¡H$s gd©

H$) ............ H$O© H$‘r doioV CnbãY hmoVo.

i) AënH$mbrZ ii) XrK©H$mbrZ

iii) ‘Ü¶‘H$mbrZ iv) H$moUVrhr Zmhr

S>) gdm©V OmñV ì¶mOXa ............ ¶m H$Om©da Úmdm bmJVmo.

i) AënH$mbrZ ii) XrK©H$mbrZ

iii) ‘Ü¶‘H$mbrZ iv) darbn¡H$s H$moUVrhr Zmhr

B) H¥$fr ghH$mar g§ñWoÀ¶m g‘ñ¶m ............ AmhoV.

i) Anwè¶m R>odr ii) ^m§S>dbmMr H$‘VaVm

iii) ‘¶m©{XV H$O©nwadR>m iv) darb gd©

’$) amÁ¶ ghH$mar ~±H$m§À¶m g‘ñ¶m ............ AmhoV.

i) ^m§S>dbmMr H$‘VaVm ii) dmT>Vr WH$~mH$s

iii) ‘¶m©{XV R>odr iv) darb gd©

PC4485
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¶) Zm~mS>© Mr ñWmnZm .............. amoOr H$aÊ¶mV Ambr.

i) 12 Owb¡ 1983 ii) 10 Am°JñQ> 1983

iii) 15 ‘o 1985 iv) 12 Owb¡ 1980

a) {dÎm nwadR>çmÀ¶m ñÌmoVmgmR>r .............. AmhoV.

i) H|$Ðr¶ ghH$mar ~±H$m ii) amÁ¶ ghH$mar ~±H$

iii) àmW{‘H$ H¥$fr nVg§ñWm iv) darb gd©

à.à.à.à.à.2) H$O© (nV) åhUOo H$m¶? H$Om©Mo {d{dY àH$ma ñnï> H$am. [14]

à.à.à.à.à.3) AënH$mbrZ H$Om©Mo ’$m¶Xo d VmoQ>o ñnï> H$am. [14]

à.à.à.à.à.4) BVa {~Ja H¥$fr nVg§ñWm ñnï> H$am. [14]

à.à.à.à.à.5) J«m‘rU ghH$mar ~±Ho$À¶m JaOm Am{U C{Ôï>o ñnï> H$am. [14]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]

A) XrK©H$mbrZ H$O©

~) ‘Ü¶H$mbrZ H$Om©Mo ’$m¶Xo

H$) ZmJar ghH$mar g§ñWm§Mo H$m‘H$mO

S>) {dÎm ñÌmoV


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[6319]-50
M.Com. (Part - II)

CO - OPERATION & RURAL  DEVELOPMENT
310 : CO - Operative Banking System

(2019 Pattern) (Credit System) (Semester - III) (Group - D)

Time : 3 Hours] [Max. Marks : 60
Instructions to the candidates:

1)  Q.No. 1 and Q.No. 6 are Compulsory.
2) Solve any three questions from Question No.2 to Question No.5.
3) Marks to the right indicate full marks.

PC4486 [Total No. of Pages : 4
SEAT No. :

Q1) Multiple Choice questions. (Any 6 Out of 8) [6]
a) A type of loan that is obtained to support a temporary requirement of

money for less than a year is known as _______
i) Term loan ii) Medium term loan
iii) Short term loan iv) Extended term loan

b) The Kisan Card Facility is primarily focused on _______ .
i) Business ii) Salaried person
iii) Service supplier iv) Farmer

c) ______ is the regulates the functioning of District Co-operative Banks in
India.
i) State Government ii) Central Government
iii) State Co-operative Banks iv) NABARD

d) The Cooperative Banks in India follow ______ organizational structure.
i) Centralized ii) Decentralized
iii) Federal iv) Unitary

e) _______ was the first Governor of RBI.
i) James Baried Tayler ii) Mihir Sen
iii) Nagendra Singh iv) Osborn Smith

P.T.O.
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f) The RBI controls the cooperative banks that falls under the _____ .
i) The Cooperative Credit Societies Act,1912
ii)  RBI Act, 1935
iii) Banking Regulation Act,1949
iv) Companies Act,1956

g) NABARD was established in the year of ______ by recommendations
of Shivaraman committee.
i) 1991 ii) 1982
iii) 1972 iv) 1998

h) KCC stands for ______ .
i) Kisan Credit Card
ii) Kendria Credit Card
iii) Krushi Credit Card
iv) Kisan Co-operative Credit  Card

Q2) Explain the procedure of advances given under Kisan credit card and state its
problems.  [14]

Q3) Critically examine the performance and Functions of Maharashtra State
Co-operative Bank.  [14]

Q4) Evaluate the performance of NABARD in Agricultural finance.  [14]
Q5) Describe the role of National Federation of State Co-Operative Banks in

Co-operative credit.  [14]

Q6) Write short notes on (any - 2 Out - 4)  [12]
a) Concept of NPA and its norms
b) RBI funding to Co-operative credit
c) Historical background of NABARD
d) Objectives of National Federation of State Co-operative Banks

… … …
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[6319]-50
M.Com. (Part - II)

CO - OPERATION & RURAL  DEVELOPMENT
310 : CO - Operative Banking System

(2019 Pattern) (Credit System) (Semester - III) (Group - D)
(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 60

gyMZm …- 1) àý H«$.1 Am{U àý H«$.6 A{Zdm¶© AmhoV.
2) àý H«$.2 Vo àý H«$.5 n¡H$s H$moUVohr VrZ àý gmoS>dm.
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PC4486

à.à.à.à.à.1) ~hþn¶m©¶r àíZ. (8 n¡H$s H$moUË¶mhr 6) [6]

A) EH$m dfm©nojm H$‘r H$mbmdYrgmR>r n¡em§À¶m VmËnwaË¶m JaOobm ghmæ¶ H$aÊ¶mgmR>r {‘idboë¶m
H$Om©Mm àH$ma .........

i) ‘wXV H$O© ii) ‘Ü¶‘ ‘wXVrMo H$O©

iii) Aën ‘wXVrMo H$O© iv) {dñVm[aV ‘wXVrMo H$O©

~) {H$gmZ H$mS>© gw{dYm àm‘w»¶mZo ......... da bj H|${ÐV H$aVo.

i) ì¶dgm¶ ii) nJmaXma ì¶{º$

iii) godm nyadR>mXma iv) eoVH$ar

H$) ............ ho ^maVmVrb {Oëhm ghH$mar ~±H$m§À¶m H$m‘H$mOmMo {Z¶‘Z H$aVo.

i) amÁ¶ gaH$ma ii) H|$Ð gaH$ma

iii) amÁ¶ ghH$mar ~±H$m iv) Zm~mS>©

S>) ^maVmVrb ghH$mar ~±H$m ......... g§KQ>ZmË‘H$ g§aMZoMo nmbZ H$aVmV.

i) H|$ÐrH¥$V ii) {dH|$ÐrH¥$V

iii) g§{K¶ iv) EH$mpË‘H$

B) .......... ho Ama. ~r. Am¶. Mo n{hbo JìhZ©a hmoVo.

i) Ooåg ~oarS> Q>oba ii) {‘{ha goZ

iii) ZmJ|Ð qgJ iv) Am°ñ~m°Z© pñ‘W
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’$) Ama. ~r. Am¶. ........... À¶m A§VJ©V ¶oUmè¶m ghH$mar ~±H$m§da {Z¶§ÌU R>odVo.

i) ghH$mar nVg§ñWm H$m¶Xm, 1912

ii) Ama. ~r. Am¶. H$m¶Xm, 1935

iii) ~±qH$J {Z¶‘Z H$m¶Xm, 1949

iv) H§$nZr H$m¶Xm, 1956

¶) {edam‘Z g{‘Vr ¶m§À¶m {e’$maetÛmao .......... ¶m dfu Zm~mS>©Mr ñWmnZm H$aÊ¶mV Ambr.

i) 1991 ii) 1982

iii) 1972 iv) 1998

a) KCC åhUOo ...........

i) {H$gmZ Ho«$S>rQ> H$mS>©

ii) H|$Ðr¶ H«o$S>rQ> H$mS>©

iii) H¥$fr H«o$S>rQ> H$mS>©

iv) {H$gmZ H$mo - AmonaoQ>rìh H«o$S>rQ> H$mS>©

à.à.à.à.à.2) {H$gmZ H«o$S>rQ> H$mS>© A§VJ©V XoÊ¶mV ¶oUmè¶m AJ«r‘m§Mr à{H«$¶m Am{U g‘ñ¶m ñnï> H$am. [14]

à.à.à.à.à.3) ‘hmamï´> amÁ¶ ghH$mar ~±Ho$À¶m H$m‘{Jar Am{U H$m¶m©Mo Q>rH$mË‘H$ narjU H$am. [14]

à.à.à.à.à.4) H¥$fr nVnwadR²>¶mV Zm~mS>©À¶m H$m‘{JarMo ‘yë¶‘mnZ H$am. [14]

à.à.à.à.à.5) ghH$mar nVnwadR²>¶m‘Ü¶o amÁ¶ ghH$mar ~±H$m§À¶m amï´>r¶ ‘hmg§KmÀ¶m ŷ{‘Ho$Mo dU©Z H$am. [14]

à.à.à.à.à.6) Q>rnm {bhm. (4 n¡H$s H$moUË¶mhr 2) [12]

A) EZ.nr.E. (NPA) g§H$ënZm d {Z¶‘

~) Ama.~r.Am¶. Mm ghH$mar {ZYr nwadR>m

H$) Zm~mS>© Mr Eo{Vhm{gH$ nmœ©̂ y‘r

S>) amÁ¶ ghH$mar ~±H$m§À¶m amï´>r¶ ‘hmg§KmMr C{Ôï>o

… … …
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Q1) Multiple Choice Questions. (Any 6 out of 8) [6]

a) __________ of these is not a type of entrepreneurship?

i) Small business entrepreneurship

ii) Scalable entrepreneurship

iii) Large scale entrepreneurship

iv) Intrapreneurship

b) The process of creating something new is called ________.

i) Creative flexibility ii) Management

iii) Business iv) Innovation

c) An individual who starts, creates, and manages a new business can be
called __________.

i) A leader ii) A manager

iii) A Professional iv) An entrepreneur

d) ________ is the process through which individuals perceive opportunities
without regard to the resources they possess.

i) Start-up Management ii) Entrepreneurship

iii) Financial Analysis iv) Feasibility Planning

e) The importance of entrepreneurship includes _________.

i) Economic and dynamic activities

ii) Innovation and profit potential

iii) Risk-bearing

iv) All of these

P.T.O.
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f) There are two components to the entrepreneurship process __________.

i) Idea generation and feasibility study

ii) Innovation generation and distribution channels

iii) Creativity and development

iv) Profit and Economic Development

g) In which year was the concept of entrepreneurship first established _____.

i) 1700 ii) 1900

iii) 1990 iv) 1980

h) _________ Problems faced by entrepreneurs in India while Starting their
businesses.

i) Planning ii) Financing

iii) Coordination iv) Controlling

Q2) What is entrepreneurship training? Explain the objectives of training and training
methodologies. [14]

Q3) Explain in detail the problems in entrepreneurship. [14]

Q4) What is boost training support? Explain the necessity and significance of boost
training support. [14]

Q5) What is a business opportunity? Explain the process of identifying and assessing
business opportunities. [14]

Q6) Write short notes on (any two out of four)  [12]

a) Entrepreneurial qualities.

b) Skills required for entrepreneurship.

c) Qualification of the trainer.

d) Market survey tools.


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Total No. of Questions : 6]

[6319]-51
M.Com. (Part - II)

BUSINESS PRACTICES & ENVIRONMENT
311 : Entrepreneurial Behaviour

(2019 Pattern) (Credit System) (Semester - III) (Group -E)
(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 60

gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H«$. 6 gmoS>{dUo A{Zdm¶© AmhoV.
2) àíZ H«$. 2 Vo àíZ H«$. 5 _Yrb H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) ~hþn`m©̀ r àíZ. (AmR> n¡H$s ghm) [6]

A) ................ `mn¡H$s H$moUVm àH$ma CX²`moOH$Vm Zmhr?

i) bhmZ ì`dgm` CX²̀ moOH$Vm ii) ñHoo$bo~b CX²̀ moOH$Vm

iii) _moR²>`m à_mUmda CX²̀ moOH$Vm iv) B§Q´>màoÝ ẁAa{en

~) H$mhrVar ZdrZ V`ma H$aÊ`mÀ`m à{H«$`obm ............... åhUVmV.

i) gO©Zerb bd{MH$Vm ii) ì`dñWmnZ

iii) ì`dgm` iv) ZmdrÝ`

H$) ZdrZ ì`dgm` gwé H$aUmar, {Z_m©U H$aUmar Am{U ì`dñWm{nV H$aUmar ì`º$s åhUOo ..............

i) EH$ ZoVm ii) EH$ ì`dñWmnH$

iii) EH$ ì`mdgm{`H$ iv) EH$ CX²̀ moOH$

S>) ................. hr Aer à{H«$`m Amho Á`mX²dmao ì`º$s Ë`m§À`mH$S>o Agboë`m g§gmYZm§Mm {dMma Z
H$aVm g§Yr AmoiIVmV.

i) ñQ>mQ>© - An ì`dñWmnZ ii) CX²`moOH$Vm

iii) Am{W©H$ {díbofU iv) ì`dhm ©̀Vm {Z`moOZ

B>) CX²̀ moOH$VoMo _hÎd .................. Amho.

i) Am{W©H$ Am{U J{V_mZ {H«$`mH$bmn

ii) ZdH$ënZm Am{U Z\$m j_Vm

iii) OmoIr_ nËH$aUo

iv) darbn¡H$s gd©
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\$) CX²`moOH$Vm à{H«$`oMo XmoZ KQ>H$ AmhoV .................

i) H$ënZm {Z{_©Vr Am{U ì`dhm ©̀Vm Aä`mg

ii) Zd{Z{_©Vr Am{U {dVaU dm{hÝ`m

iii) gO©ZerbVm Am{U {dH$mg

iv) Z\$m Am{U Am{W©H$ {dH$mg

`) CX²̀ moOH$Vm hr g§H$ënZm gd©àW_ H$moUË`m dfu ñWmnZ Pmbr .............

i) 1700 ii) 1900

iii) 1990 iv) 1980

a) ................. ^maVmVrb CX²̀ moOH$m§Zm Ë`m§Mm ì`dgm` gwé H$aVmZm òUmè`m g_ñ`m.

i) {Z`moOZ ii) {dÎmnwadR>m

iii) g_Ýd` iv) {Z §̀ÌU

à.à.à.à.à.2) CX²̀ moOH$Vm à«{ejU åhUOo H$m`? à{ejUmMr C{Ôï>o Am{U à{ejU nÕVr ñnï> H$am. [14]

à.à.à.à.à.3) CX²̀ moOH$mVrb g_ñ`m Vn{ebmda g_OmdyZ gm§Jm. [14]

à.à.à.à.à.4) ~«wñQ> à{ejU g_W©Z åhUOo H$m`? ~«wñQ> à{ejU g_W©ZmMr JaO Am{U _hÎd ñnï> H$am. [14]

à.à.à.à.à.5) ì`dgm` g§Yr åhUOo H$m`? ì`dgm` g§Yr AmoiIÊ`mMr Am{U _yë`m§H$Z H$aÊ`mMr à{H«$`m ñnï> H$am.
[14]

à.à.à.à.à.6) {Q>nm {bhm. (Mma n¡H$s XmoZ) [12]

A) CX²̀ moOH$Vm JwU

~) CX²̀ moOH$mgmR>r Amdí`H$ H$m¡eë`

H$) à{ejH$mMr nmÌVm

S>) ~mOma gd}jU gmYZo


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Q1) Multiple choice questions. (Any 6) [6]

a) Examination of project and association operation is known as ______ .

i) Ratio Analysis ii) Project Audit

iii) Project Analysis iv) Association audit

b) _______ provide SWOT analysis.

i) Project Report ii) Project Sheet

iii) Business Plan iv) Business Deal

c) _____ Organization is established for weaker section of society.

i) Bank ii) Co-operative Society

iii) Patpedhi iv) National

d) In ______ industries labour force consists of family members.

i) Small Scale ii) Large Scale

iii) Cottage iv) Medium Scale

e) The period between setting up of an Industry and its actual production is
called as _______

i) Registration ii) Starting

iii) Incorporation iv) Conclusion.

P.T.O.
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f) Any business dealing with consumable product must obtain ______
permit.

i) Transport ii) Health

iii) Vehicle iv) Food

g) Maharashtra Industrial Development Corporation (MIDC) was established
in the year ________ .

i) 1958 ii) 1960

iii) 1962 iv) 1964

h) ______ Plan provides an overview of the company’s physical
requirements.

i) Operating ii) Legal

iii) Physical iv) Management

Q2) What is the Meaning of ‘Entrepreneurship? Explain Role of Entrepreneur in
Developing new business.  [14]

Q3) What is ‘Small Industries Development Bank of India’ (SIDBI)? Explain in
detail Role of SIDBI in development of Small Industries. [14]

Q4) What is the Meaning of ‘Business Plan’? State Importance and Contents of
Business Plan.  [14]

Q5) Describe the Concept of ‘Creativity and Innovation’. How creativity helps in
Problem Solving?  [14]

Q6) Write Short Notes on: (Any - 2)  [12]

a) Small Industries Service Institutes.

b) Challenges of Enterpreneurship Development.

c) Maharashtra Industrial Technical Consultancy Organization.

d) Dot Com Entrepreneurship.

… … …
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Total No. of Questions : 6]

[6319]-52
M.Com. - II

BUSINESS  PRACTICES  &  ENVIRONMENT
312 : Entrepreneurship

(2019 Pattern) (Semester - III) (Credit System) (Group - E)
(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 60

gyMZm …- 1) àý H«$.1 d àíZ H«$‘m§H$ 6 gmoS>{dUo A{Zdm¶© Amho.
2) àý H«$. 2 Vo$5 ‘Yrb H$moUVohr VrZ àíZ gmoS>dm.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PC4488

à.à.à.à.à.1) ~hþn¶m©¶r àíZ. (H$moUË¶mhr 6) [6]

A) àH$ën Am{U g§KQ>Zm H$m¶} VnmgUr ............. åhUyZ AmoiIbr OmVo.

i) JwUmoÎma {díbofU ii) àH$ën boImnarjU

iii) àH$ën {díbofU iv) g§KQ>Z boImnarjm

~) ......... SWOT {díbofU àXmZ H$aVo.

i) àH$ën Ahdmb ii) àH$ën nÌH$

iii) ì¶dgm¶ ¶moOZm iv) ì¶dgm¶ H$ama

H$) ............ g§ñWoMr ñWmnZm g‘mOmVrb Xþ~©b KQ>H$m§gmR>r H$aÊ¶mV Ambr Amho.

i) ~±H$ ii) ghH$mar g§ñWm

iii) nVnoT>r iv) amï´>r¶

S>) ......... CX²¶moJm§‘Ü¶o H$m‘Jma eº$s Hw$Qw>§~mVrb gXñ¶m§Mm g‘mdoe hmoVmo.

i) bhmZ ii) ‘moR>o

iii) Hw$Q>ra CX²¶moJ iv) ‘Ü¶‘

B) CX²¶moJmMr ñWmnZm Am{U Ë¶mMo àË¶j CËnmXZ ¶m‘Yrb H$mbmdYrbm ......... Ago åhUVmV.

i) Zm|XUr ii) àma§^

iii) {ZJ‘Z iv) {ZîH$f©
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’$) Cn^mo½¶ CËnmXZmer g§~§[YV H$moUVmhr ì¶dgm¶mgmR>r ........ nadmZJr àmá H$aUo Amdí¶H$
Amho.

i) dmhVyH$ ii) Amamo½¶
iii) dmhZ iv) AÞ

¶) ‘hmamï´> Am¡X²¶mo{JH$ {dH$mg ‘hm‘§S>i (MIDC) Mr ñWmnZm ........... gmbr Pmbr.

i) 1958 ii) 1960

iii) 1962 iv) 1964

a) ........... ¶moOZm H§$nZrÀ¶m ^m¡{VH$ JaOm§Mo {dh§JmdbmoH$Z XoVo.

i)  g§MmbZ ii) H$m¶Xoera

iii) ^m¡{VH$ iv) ì¶dñWmnZ

à.à.à.à.à.2) ‘CX²¶moOH$Vm’ Mm AW© H$m¶ Amho? ZdrZ ì¶dgm¶ {dH${gV H$aÊ¶m‘Ü¶o CX²¶moOH$mMr ŷ{‘H$m ñnï>
H$am. [14]

à.à.à.à.à.3) ‘ñ‘m°b B§S>ñQ´>rO S>oìhbn‘|Q> ~±H$ Am°’$ B§{S>¶m’ (SIDBI) åhUOo H$m¶? bKw CX²¶moJm§À¶m {dH$mgmV
SIDBI Mr ŷ{‘H$m Vnerbdma gm§Jm. [14]

à.à.à.à.à.4) ‘ì¶dgm¶ ¶moOZm’ Mm AW© H$m¶ Amho? ‘ì¶dgm¶ ¶moOZoMo ‘hÎd Am{U KQ>H$ gm§Jm. [14]

à.à.à.à.à.5) ‘gO©ZerbVm Am{U ZdmonH«$‘’ ¶m g§H$ënZoMo dU©Z H$am. gO©ZerbVm g‘ñ¶m gmoS>dÊ¶mg H$er ‘XV
H$aVo? [14]

à.à.à.à.à.6) Q>rnm {bhm. (H$moUVrhr XmoZ) [12]

A) bKw CX²¶moJ godm g§ñWm

~) CX²¶moOH$Vm {dH$mgmMr AmìhmZo

H$) ‘hmamï´> Am¡X²¶mo{JH$ Vm§{ÌH$ g„mJma g§ñWm

S>) S>m°Q> H$m°‘ CX²¶moOH$Vm

… … …
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Q1) Multiple choice questions. [6]
a) The scope of human resource management does not include __________.

i) Retirement of employees ii) Manpower planning
iii) Employee training iv) Accounting maintenance

b) Human resource management is considered to be __________.
i) Reactive functions ii) Creative functions
iii) Auxiliary functions iv) Auxiliary reactive functions

c) The process of human resource planning is generally carried out in an
organization _________ times.
i) Consistent ii) Annually
iii) Biennial iv) Quarterly

d) Human Resource Planning includes the following aspects of ________
along with employee development.
i) Development ii) Training
iii) Recruitment iv) All of the above

e) The primary objective of HRM planning is _________.
i) Maximize Profits
ii) Minimize Cost
iii) Meet future workforce requirement
iv) All of the above

f) ________ is the purpose of evaluating HR training programs.
i) To determine employee’s job performance
ii) To identify areas for improvement in the training process
iii) To assess employee’s potential for promotion
iv) To assign grades to employees based on their training performance.

P.T.O.
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g) _________ best describes merit rating concerning promotions within an
organization.

i) Promotions are solely based on an employee’s tenure within the
company.

ii) Promotions are granted based on employee’s performance, skills,
and contributions.

iii) Promotions are decided by the HR department without considering
employee’s performance.

iv) Promotions are only given to employees who request them.

h) _________ is a characteristic of virtual work.

i) Physical presence in the workplace

ii) Limited reliance on technology

iii) Collaborative work through digital platforms

iv) Decreased use of communication tools

Q2) What is ‘Human Resource Management’? Explain the functions and approaches
of Human Resource Management. [14]

Q3) What is ‘Selection’? Explain the employee selection process and Assessment.
[14]

Q4) What is ‘Performance Appraisal’? State the methods of Performance Appraisal.
[14]

Q5) What are the recent trends in Human Resource Management after Covid-19?[14]

Q6) Write short notes on (any two)  [12]

a) Employee standards

b) Succession Planning

c) Importance of Training

d) Work from home


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M.Com. (Part - II)

313 : HUMAN RESOURCE MANAGEMENT
(2019 Pattern) (Credit System) (Semester - III)

(‘amR>r ê$nm§Va)
doi : 3 Vmg] [ EHy$U JwU : 60

gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H«$. 6 gmoS>{dUo A{Zdm¶© AmhoV.
2) àíZ H«$. 2 Vo àíZ H«$. 5 _Yrb H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) ~hþn`m©̀ r àíZ. (H$moUË`mhr ghm) [6]
A) _mZd g§gmYZ ì`dñWmnZmÀ`m ì`már_Ü ò ................. Mm g_mdoe hmoV Zmhr.

i) H$_©Mmè`m§Mr {Zd¥Îmr ii) _Zwî`~i {Z`moOZ
iii) H$_©Mmar à{ejU iv) boIm§H$Z XoI^mb

~) _mZd g§gmYZ ì`dñWmnZ ho .............. _mZbo OmVo.
i) à{V{H«$`mË_H$ H$m ©̀o ii) H¥${Verb H$m }̀
iii) ghmæ`H$ H$m }̀ iv) ghmæ`H$ à{V{H«$`mË_H$ H$m }̀

H$) g§KQ>Zo_Ü ò gmYmaUnUo ............... _mZd g§gmYZ {Z`moOZmMr à{H«$`m nma nmS>bo OmVo.
i) gmVË`nyU© ii) dm{f©H$
iii) {Ûdm{f©H$ iv) {V_mhr

S>) _mZd g§gmYZ {Z`moOZm_Ü ò H$_©Mmè`m§À`m {dH$mgm~amo~aM nwT>rbn¡H$s ............. ~m~tMm g_mdoe
hmoVmo.
i) {dH$mg ii) à{ejU
iii) ^aVr iv) darbn¡H$s gd©

B>) _mZd g§gmYZ ì`dñWmnZ {Z`moOZmMo àmW{_H$ .............. C{Ôï> Amho.
i) Z\$m dmT>{dUo
ii) IM© H$_r H$aUo
iii) ^{dî`mVrb H$m_Jmam§Mr Amdí`H$Vm nyU© H$aUo
iv) darbn¡H$s gd©

\$) _mZd g§gmYZ à{ejU H$m ©̀H«$_m§Mo _yë`_mnZ H$aÊ`mMm CÔoe ........................... Amho.
i) H$_©Mmè`m§Mr ZmoH$ar H$m_{Jar {ZpíMV H$aUo
ii) à{ejU à{H«$ òV gwYmaUm H$aÊ`mgmR>r joÌo AmoiIUo
iii) nXmoÝZVrgmR>r H$_©Mmè`m§À`m j_VoMo _yë`m§H$Z H$aUo
iv) H$_©Mmè`m§Zm Ë`m§À`m à{ejU H$m ©̀j_VoÀ`m AmYmamda J«oS> àXmZ H$aUo
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4[6319]-53

`) g§ñWoVrb nXmoÝZVt~m~V ................. JwUdÎmoMo gdm}Îm_ dU©Z H$aVo.

i) nXmoÝZVr Ho$di H§$nZrVrb H$_©Mmè`mÀ`m H$m ©̀H$mimda AmYm[aV AgVmV.
ii) H$_©Mmè`m§Mo H$m ©̀àXe©Z, H$m¡eë ò Am{U `moJXmZmda AmYm[aV nXmoÝZVr {Xbr OmVo.
iii) H$_©Mmè`m§À`m H$m_{JarMm {dMma Z H$aVm _Zwî`~i {d^mJmH$Sy>Z nXmoÝZVr R>adë`m OmVmV.
iv) nXmoÝZVr \$º$ Ë`m§Zm {dZ§Vr H$aUmè`m H$_©Mmè`m§ZmM {Xbr OmVo.

a) ................. ho Am^mgr H$m_mMo d¡{eîQ>²` Amho.
i) H$m_mÀ`m {R>H$mUr emar[aH$ CnpñWVr
ii) V§ÌkmZmda _`m©{XV Adb§~Z
iii) {S>{OQ>b ßb°Q>\$m°_©Ûmao gh`moJr H$m ©̀
iv) g§XoedhZmÀ`m gmYZm§Mm H$_r dmna

à.à.à.à.à.2) ‘_mZdr g§gmYZ ì`dñWmnZ’ åhUOo H$m`? _mZdr g§gmYZ ì`dñWmnZmMo H$m }̀ Am{U Ñ{ï>H$moZ ñnï>
H$am. [14]

à.à.à.à.à.3) ‘H$_©Mmar {ZdS>’ åhUOo H$m`? H$_©Mmar {ZdS> à{H«$`m Am{U _yë`m§H$ZmMr gmYZo ñnï> H$am. [14]

à.à.à.à.à.4) ‘H$m ©̀j_Vm _yë`m§H$Z’ åhUOo H$m`? H$m ©̀j_Vm _yë`m§H$ZmÀ`m nÕVr gm§Jm. [14]

à.à.à.à.à.5) H$mo{dS>-19 Z§Va _mZdr g§gmYZ ì`dñWmnZmVrb gX²ÚH$mbrZ àdmh H$m` AmhoV? [14]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]

A) H$_©Mmar à_mUHo$

~) CÎmam{YH$ma {Z`moOZ

H$) à{ejUmMo _hÎd

S>) KéZ H$m_ H$aUo


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Q1) Multiple Choice Questions : [6]
a) Organizational behavior is concerned with _____

i) Stock market fluctuations
ii) Historical events in industry
iii) Employee attitude, job satisfaction and firm’s culture

b) Organizational design does NOT refer to _____
i) Physical layout of office space
ii) Marketing strategies
iii) Both (i) and (ii)

c) The shared values, beliefs, and norms that guide behavior within an
organization is ______
i) Organizational culture
ii) Organizational design
iii) Organizational personality

d) ______ is concerned with employee motivation and performance
i) Vroom’s expectancy theory
ii) Employee’s Compensation
iii) Emotional Intelligence

e) Excessive workload and deadlines can lead to ______ in a workplace
among the employees.
i) Stress
ii) Competition
iii) Satisfaction

f) Effective communication, shared goals, and mutual accountability are the
features of ________.
i) High performance teams
ii) Low performance teams
iii) No performance teams

P.T.O.
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Q2) What is Organisational Behaviour? Explain the objectives and components of
Organisational Behaviour.  [14]

Q3) Explain in details Attitude and Attitude Change. [14]

Q4) What is motivation? State the types of motivation.  [14]

Q5) What is conflict? Explain the types of conflict. [14]

Q6) Write short notes. (any two)  [12]

a) Model of Organisational Behaviour

b) Measures to Change the Attitude

c) Primary Motives

d) Managing Stress


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Total No. of Questions : 6]

[6319]-54
M.Com. (Part - II)

314 : ORGANIZATIONAL BEHAVIOUR
(2019 Pattern) (Credit System) (Semester - III)

(‘amR>r ê$nm§Va)
doi : 3 Vmg] [ EHy$U JwU : 60
gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H«$. 6 gmoS>{dUo A{Zdm¶© AmhoV.

2) àíZ H«$. 2 Vo àíZ H«$. 5 ‘Yrb H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) ~hþ{dH$ënr¶ àíZ. [6]
A) g§KQ>ZmË‘H$ dV©Z ............... er g§~§{YV Amho.

i) eoAa ~mOmamVrb MT>CVma
ii) CÚmoJmVrb Eo{Vhm{gH$ KQ>Zm
iii) H$‘©Mmè¶m§Mr d¥Îmr, ZmoH$arVrb g‘mYmZ Am{U ’$‘©Mr g§ñH¥$Vr

~) g§KQ>ZmË‘H$ aMZm .................. ¶mMm g§X^© XoV Zmhr.
i) H$m¶m©b¶rZ OmJoMr ^m¡{VH$ ‘m§S>Ur
ii) {dnUZ YmoaUo
iii) (i) Am{U (ii) XmoÝhr

H$) EImÚm g§ñWoVrb dV©ZmMo ‘mJ©Xe©Z H$aUmar gm‘m{¶H$ ‘yë¶o, {dídmg Am{U ‘mZX§S>
åhUOo ...............
i) g§KQ>ZmË‘H$ g§ñH¥$Vr
ii) g§KQ>ZmË‘H$ aMZm
iii) g§KQ>ZmË‘H$ ì¶{º$‘Ëd

S>) ............. H$‘©Mmar àoaUm Am{U H$m‘{Jarer g§§~§{YV Amho.
i) d«w‘Mm AnojoMm {gÕm§V
ii) H$‘©Mmè¶m§Mr ^anmB©
iii) ^md{ZH$ ~w{Õ‘Îmm

B) H$m‘mÀ¶m {R>H$mUr OmñV H$m‘mMm ~moOm Am{U ‘wXVr‘wio H$‘©Mmè¶m§‘Ü¶o ..................... hmoD$
eH$Vo/eH$Vmo.
i) VmU
ii) ñnYm©
iii) g‘mYmZ

’$) à^mdr g§dmX, gm‘m{¶H$ C{Ôï>ço Am{U nañna CÎmaXm{¶Ëd hr ............... Mr d¡{eï>ço AmhoV.
i) Cƒ H$m‘{Jar H$aUmao g§K
ii) H$‘r H$m‘{Jar H$aUmao g§K
iii) H$moUVohr H$m¶©àXe©Z ZgUmao g§K

PC5137
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à.à.à.à.à.2) g§KQ>ZmË‘H$ dV©Z åhUOo H$m¶? g§KQ>ZmË‘H$ dV©ZmMo C{Ôï>o Am{U KQ>H$ ñnï> H$am. [14]

à.à.à.à.à.3) àd¥Îmr Am{U àd¥ÎmrVrb ~Xb g{dñVa ñnï> H$am. [14]

à.à.à.à.à.4) A{^àoaUm åhUOo H$m¶? A{^àoaUoMo àH$ma gm§Jm. [14]

à.à.à.à.à.5) g§Kf© åhUOo H$m¶? g§Kfm©Mo àH$ma ñnï> H$am. [14]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]

A) g§KQ>ZmË‘H$ dV©Zmda OmJ{VH$sH$aUmMm à^md

~) àd¥Îmr~Xb

H$) àmW{‘H$ A{^àoaUm

S>) VmU-VUmd ì¶dñWmnZ


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Q1) Multiple choice questions. (Any 6) [6]
i) _________ risk is also known as country risk.

a) Legal Risk b) Transfer Risk

c) Exchange Risk d) Operational Risk

ii) __________ was introduced in the year 1992.

a) FERA b) LERMS

c) FEMA d) FCNR

iii) The method of payment where the exporter relies on the undertaking of a
bank to pay is called __________.

a) Bank guarantee b) Letter of endorsement

c) Letter of credit d) None of the above

iv) EXIM bank was established on __________.

a) 1 January 1981 b) 2 February 1981

c) 1 January 1982 d) 2 January 1982

v) The increase in the value of foreign exchange rate which is done
intentionally by the government called __________.

a) Appreciation b) Revaluation

c) Depreciation d) Devaluation

vi) __________ is issued by the council of the importing country stationed
in the exporting country.

a) Certificate of Origin b) Consular Invoice

c) Bill of Lading d) Bill of exchange

P.T.O.
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vii) Every foreign currency related transaction is reported to the
__________.

a) Dealing room b) Central Bank

c) Risk room d) Government

viii) _______ is the standard model used for calculating the price of a
foreign exchange option.

a) Cobb-Douglas b) Garman-kohlagen

c) Leontief’s Model d) Black -Schooles

Q2) What is mean by Spot Market? Explain the features of Spot Market. [14]

Q3) What is Foreign Exchange Management Act 2000? Explain its objectives and
features. [14]

Q4) Define Foreign Trade. Explain the financing of Foreign Trade.  [14]

Q5) What is meant by ECGC? Explain the features of ECGC in detail. [14]

Q6) Write short notes on (any two)  [12]

a) Foreign Exchange Options

b) Foreign Currency Non-resident Account (FCNR)

c) Bill of Lading

d) Post Shipment Credit


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Total No. of Questions : 6]

[6319]-55
S.Y.M.Com.

 BANKING AND FINANCE
315 : Foreign Exchange

(2019 Pattern) (Credit System) (Semester - III)
(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 60

gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H«$. 6 gmoS>{dUo A{Zdm¶© AmhoV.
2) àíZ H«$. 2 Vo àíZ H«$. 5 _Yrb H$moUVohr VrZ àíZ gmoS>dmdoV.
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) ~hþn`m©̀ r àíZ. (H$moUË`mhr ghm) [6]

i) ............... OmoIr_, Xoe OmoIr_ åhUyZ XoIrb AmoiIbr OmVo.
A) H$m`Xm{df`H$ OmoIr_ ~) hñVm§VaU OmoIr_
H$) {d{Z_` Xa Omo{I_ S>) X¡Z§{XZ ì`dhmamVrb OmoIr_

ii) ............... nÕVr 1992 gmbr CX`mg Ambr.
A) FERA ~) LERMS

H$) FEMA S>) FCNR

iii) .............. Ûmao Xò nÕVr _Ü ò {Z`m©VXma n¡go XoUmè`m ~±Ho$À`m CnH«$_mda Adb§~yZ AgVmo.
A) ~±H$ h_r ~) AZw_moXZ nÌ
H$) nW nÌ S>) darbn¡H$s H$mhrhr Zmhr

iv) EXIM  ~±Ho$Mr ñWmnZm .............. amoOr Pmbr.
A) 1 OmZodmar 1981 ~) 2 \o$~«wdmar 1981

H$) 1 OmZodmar 1982 S>) 2 OmZodmar 1982

v) gaH$maÛmao hoVwnyd©H$ Ho$bobr naH$s` MbZ dmT>rbm ............. åhUVmV.
A) A{Y_wë`Z ~) nwZ_w©ë`m§H$Z
H$) _wë`amg S>) Ad_yë`Z

vi) ............... {Z`m©V H$aUmè`m XoemV pñWV Am`mV H$aUmè`m XoemÀ`m H$m¡pÝgbÛmao Omar Ho$bm
OmVmo.
A) _yi à_mUnÌ ~) dm{UÁ`XþVr` ~rOH$
H$) Zm¡̂ aU nÌ S>) {d{Z_`mMr nmdVr

PC4490
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vii) àË òH$ {dXoer MbZmer g§~§{YV ì`dhma ................. bm H$idbm OmVmo.

A) S>rqbJ é_ ~) g|Q´>b ~±H$
H$) OmoIr_ Imobr S>) gaH$ma

viii) ............... ho naH$s` MbZ n`m©̀ mMr qH$_V _moOÊ`mgmR>r dmnabobo _mZH$ _m°S>ob Amho.
A) H$mo~-S>½bg ~) Jma_Z-H$mohbJoZ
H$) {bAmoZQ>r\$Mo _m°S>ob S>) ãbmH$-ñMybg

à.à.à.à.à.2) hOa ~mOma åhUOo H$m`? hOa ~mOmamMr d¡{eï²> ò ñnï> H$am. [14]

à.à.à.à.à.3) naH$s` MbZ ì`dñWmnZ H$m`Xm 2000 åhUOo H$m`? ̀ m H$m`ÚmMo C{Xï>o Am{U d¡{eï>o ñnï> H$am.[14]

à.à.à.à.à.4) naH$s` ì`mnma åhUOo H$m`? naH$s` ì`mnmamMm {dÎmnwadR>m ñnï> H$am. [14]

à.à.à.à.à.5) {Z`m©V nV h_r _§S>i (ECGC) åhUOo H$m`? ECGC Mo d¡{eð>o ñnï> H$am. [14]

à.à.à.à.à.6) WmoS>Š`mV {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]

A) naH$s` {d{Z_` Am°neZ

~) naH$s` MbZ A{Zdmgr ImVo

H$) Zm¡̂ aU nÌ

S>) Zm¡̂ aU CVa {dÎmnwadR>m


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Q1) Multiple Choice questions. (Any Six) [6]
a) The benefits of offshore banking is _______

i) Exemption from minimum Reserve Requirement
ii) Freedom from control on interest rate
iii) Low taxes and levies
iv) All of above

b) A ‘Swiss bank account’ is an example of _______
i) Subsidiaries Banks ii) Correspondent banks
iii) Bank account iv) Offshore banking

c) Eurobonds are issued for first time in financial markets in ______
i) 1963 ii) 1953
iii) 1983 iv) 1962

d) Floating rate Eurobonds become popular: ________
i) When interest rates are very volatile
ii) When exchange rates are very volatile
iii) When investors are particularly concerned about income risk
iv) During crises in the newly emerging markets

e) India’s foreign exchange rate system is ______
i) Free float ii) Managed float
iii) Fixed float iv) None of these

P.T.O.
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f) The current system of international finance is a ______

i) Gold standard

ii) Fixed exchange rate system

iii) Floating exchange rate system

iv) Managed float exchange rate system

g) _____ is the official name of the World Bank.

i) International Monetary Fund

ii) International Bank

iii) Bank for international settlements

iv) International Bank for Recontruction and Development

h) International Finance Corporation was established by World Bank Group
in ______

i) 1954 ii) 1955

iii) 1956 iv) 1960

Q2) What is meant by International Money Market? Explain instruments of
International Money Market  [14]

Q3) What is ADR and GDR? Explain the procedure of issue of ADR and GDR.[14]

Q4) What is the Exchange Rate? Explain the Fixed Exchange Rate System. [14]

Q5) Explain Objectives and Functions of International Monetary Fund.  [14]

Q6) Write Short Notes (Any Two)  [12]

a) Bank For International Settlements

b) Procedure for issue Foreign Bonds

c) Floating exchange rate

d) SWIFT

… … …
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Total No. of Questions : 6]

[6319]-56
M.Com. - II

ADVANCED BANKING  AND FINANCE
316 : International Finance

(2019 Pattern) (Credit System) (Semester - III)  (Group - G)
(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 60

gyMZm …- 1) àý H«$‘m§H$ 1 Am{U àý H«$‘m§H$ 6 A{Zdm¶© AmhoV.
2) àý H«$. 2 nmgyZ àý H«$. 5 n¶ªV H$moUVohr VrZ àý gmoS>dm.
3) COì¶m ~mOyMo A§H$ nyU© JwU Xe©{dVmV.

PC4491

à.à.à.à.à.1) ~hþn¶m©¶r àíZ. (H$moUË¶mhr ghm) [6]
A) ............ Am°’$emoAa ~±qH$JMo ’$m¶Xo AmhoV.

i) Ý¶yZV‘ amIrd {ZYr nmgyZ gyQ> ii) ì¶mOXamdarb {Z¶§ÌUmVyZ gyQ>

iii) H$a Am{U ewëH$ ¶m§Mo AË¶ën à‘mU iv) darbn¡H$s gd©

~) pñdg ~±H$ ImVo ho ............ Mo CXmhaU Amho.

i) gb¾ ~±H$m ii) àm{V{Z{YH$ ~±H$m

iii) ^maVr¶ ~±H$ ImVo iv) Am°’$emoAa ~±qH$J

H$) ............ ¶m dfu ¶wamo~m°ÝS²>g àW‘M {dÎmr¶ ~mOmamV Omar Ho$bo Jobo.

i) 1963 ii) 1953
iii) 1983 iv) 1962

S>) ......... Voìhm ~XbVm Xa ¶wamo~m°ÝS> (~§YnÌo) A{YH$ bmoH${à¶ hmoVmV.

i) O§oìhm ì¶mO Xa Iyn ApñWa AgVmV

ii) O§oìhm {d{Z‘¶ Xa Iyn ApñWa AgVmV

iii) O§oìhm Jw§VdUyH$Xmam§Zm {deofV… CËnÞmÀ¶m OmoI‘r~Ôb qMVm AgVo

iv) Zì¶mZo CX¶moÝ‘wI ~mOmanoR>oVrb g§H$Q>m§À¶m doir

B>) ^maVmMr naH$s¶ MbZ Xa àUmbr .......... ¶m àH$maMr Amho.

i) ‘wº$ ~XbVm Xa ii) ì¶dñWm{nV ~XbVm Xa

iii) pñWa ~XbVm Xa iv) ¶mn¡H$s Zmhr
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’$) ............ hr Am§Vaamï´>r¶ {dÎmnwadR²>¶mMr gÜ¶mMr ì¶dñWm Amho.

i) gwdU© n[a‘mU

ii) {Z{üV {d{Z‘¶ Xa àUmbr

iii) ~XbVm {d{Z‘¶ Xa àUmbr

iv) ì¶dñWm{nV ~XbVm {d{Z‘¶ Xa àUmbr

¶) OmJ{VH$ ~±Ho$Mo A{YH¥$V Zmd ......... Amho.

i) Am§Vaamï´>r¶ ZmUo{ZYr

ii) Am§Vaamï´>r¶ ~±H$

iii) Am§Vaamï´>r¶ VS>OmoS>{df¶H$ ~±H$

iv) Am§Vaamï´>r¶ nwZ{Z©‘m©U d {dH$mg ~±H$

a) OmJ{VH$ ~±H$ g‘yhmÛmao Am§Vaamï´>r¶ {dÎm ‘hm‘§S>imMr ñWmnZm ......... gmbr H$aÊ¶mV Ambr.

i) 1954 ii) 1955

iii) 1956 iv) 1960

à.à.à.à.à.2) Am§Vaamï´>r¶ ZmUo~mOma åhUOo H$m¶? Am§Vaamï´>r¶ ZmUo~mOmamMr gmYZo ñnï> H$am. [14]

à.à.à.à.à.3) ADR Am{U  GDR åhUOo H$m¶?  ADR Am{U  GDR {ZJ©{‘V H$aÊ¶mMr à{H«$¶m ñnï> H$am.[14]

à.à.à.à.à.4) {d{Z‘¶ Xa åhUOo H$m¶? pñWa {d{Z‘¶ Xa àUmbr ñnï> H$am. [14]

à.à.à.à.à.5) Am§Vaamï´>r¶ ZmUo{ZYrMr C{Ôï>o Am{U H$m¶} ñnï> H$am. [14]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]

A) Am§Vaamï´>r¶ VS>OmoS>{df¶H$ ~±H$

~) {dXoer ~m±S²>g (~§YnÌo) {ZJ©{‘V H$aÊ¶mMr à{H«$¶m

H$) ~XbVm {d{Z‘¶ Xa

S>) pñdâQ>

… … …



Q1) Fill in the blank selecting suitable choice (any six). [6]
i) Which of the following is included in demographic indices related to

International Marketing?
a) Total Population b) Density of population
c) Increase rate of population d) All of the above

ii) On which basis normally the market is distributed?
a) Demographic base b) Economic base
c) Political base d) All of the above

iii) _______ is a part of Internal international marketing environment.
a) Political b) Legal
c) Product Development d) Economical

iv) Out of the following is not social factors which factor affects the
international marketing.
a) Culture b) Language
c) Standard of living d) Exchange rate

v) Market segmentation means -
a) Dividing the selling staff is small size
b) Dividing the territory is small size
c) To divide the target group into small size
d) All the above

Total No. of Questions : 6]

[Total No. of Pages : 4
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vi) Establishment of RBI
a) 1 March 1937 b) 1 April 1935
c) 1 March 1935 d) 1 May 1936

vii) The present distribution system includes :
a) Advertisement on NET b) Trade on NET
c) Trade through E-Mail d) All of the above

viii) How do the majority of services enter a foreign market?
a) Joint venture b) Exporting
c) Franchising d) All of the above

Q2) What is International marketing? Explain the challenges & opportunities of
International Marketing. [14]

Q3) Explain the Macro factors affecting to the international Marketing environment.
[14]

Q4) Explain the Problems of International Market Segmentations. [14]

Q5) Discuss the Foreign Exchange facilities provides by RBI and EXIM Bank?
[14]

Q6) Write a Short Note (Any 2) : [12]
a) Social Environment.
b) Financial Incentives.
c) International Distribution system.
d) Objectives of International Marketing.





Total No. of Questions : 6]

[6319]-57
M.Com. (Part - II)

317(H) : INTERNATIONAL MARKETING
(2019 Pattern) (CBCS) (Semester - III)

(_amR>r ê$nm§Va)
doi : 3 Vmg     ] [ EHy$U JwU : 60
gyMZm : 1) àý H«$_m§H$ 1Am{U àý H«$_m§H$ 6 A{Zdm ©̀ AmhoV.

2) àý H«$_m§H$ 2 Vo 5 _Yrb H$moUVohr VrZ àý gmoS>dm.
3) àýn{ÌHo$Vrb COdrH$S>rb g§»`m nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r _yi B§J«Or àýn{ÌH$m nhmdr.

PC-4492

àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s EH$ n`m©̀  {ZdS>m (H$moUVohr ghm) [6]
i) Am§Vaamï´>r` {dnUZmer g§~§{YV bmoH$g§»`memór` {ZX}em§H$m§_Ü ò Imbrbn¡H$s H$moUË`mhr

KQ>H$m§Mm hmoVmo.

A) EHy$U bmoH$g§»`m ~) bmoH$g§» òMr KZVm

H$) bmoH$g§» òMm dmT>rMm Xa S>) darb gd©

ii) ~mOmamMo {dVaU gmYmaUnUo H$moUË`m AmYmamda Ho$bo OmVo?

A) bmoH$g§»`m AmYma ~) Am{W©H$ AmYma

H$) amOH$s` AmYma S>) darb gd©

iii) ........ hm A§VJ©V Am§Vaamï´>r` {dnUZ n`m©daUmMm EH$ ^mJ Amho.

A) amOH$s` ~) H$m`Xoera

H$) CËnmXZ {dH$mg S>) Am{W©H$

iv) Imbrb gm_m{OH$ KQ>H$mn¡H$s Am§Vaamï´>r` {dnUZmda H$moUVm KQ>H$ n[aUm_ H$aV Zmhr.

A) g§ñH¥$Vr ~) ^mfm

H$) amhUr_mZ S>) {d{Z_` Xa

v) ~mOmamMo {d^mOZ åhUOo -

A) {dH«$s H$_©Mmè`m§Mr {d^mJUr H$aUo bhmZ AmH$maMo Amho

~) joÌmMo {d^mOZ H$aUo bhmZ AmH$mamMo Amho

H$) bú` JQ>mbm bhmZ AmH$mamV {d^mJUo

S>) darb gd©

3 P.T.O.
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vi) Ama~rAm` Mr ñWmnZm ....... Pmbr.

A) 1 _mM© 1937 ~) 1 E{àb 1935

H$) 1 _mM© 1935 S>) 1 _o 1936

vii) gÜ`mÀ`m {dVaU àUmbr_Ü ò ........g_m{dï> Amho.

A) NET da Om{hamV ~) NET da ì`mnma

H$) B©-_obÛmao ì`mnma S>) darb gd©

viii) ~hþg§»` godm naXoer ~mOmanoR>oV H$em àdoe H$aVmV?

A) g§`wŠV CnH«$_ ~) {Z`m©V H$aUo

H$) \«|$Mm`qPJ S>) darb gd©

àíZ àíZ àíZ àíZ àíZ 2) Am§Vaamï´>r` {dnUZ åhUOo H$m`? Am§Vaamï´>r` {dnUZmVrb AmìhmZo Am{U g§Yr ñnï> H$am.[14]

àíZ àíZ àíZ àíZ àíZ 3) Am§Vaamï´>r` {dnUZ n`m©daUmda n[aUm_ H$aUmao ñWyb KQ>H$ ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 4) Am§Vaamï´>r` ~mOma {d^mJUrVrb g_ñ`m ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 5) Ama~rAm` Am{U EpŠP_ ~±Ho$Zo nwadboë`m naH$s` MbZ gw{dYm§Mr MMm© H$am? [14]

àíZ àíZ àíZ àíZ àíZ 6) WmoS>Š`mV {Q>nm {bhm. (H$moUVrhr 2) [12]

A) gm_m{OH$ n`m©daU.

~) {dÎmr` àmoËgmhZ.

H$) Am§Vaamï´>r` {dVaU àUmbr.

S>) Am§Vaamï´>r` {dnUZmMr C{Ôï>o.





Q1) Fill in the blanks by selecting suitable choice (Any 6) : [6]
i) _______ is the fiist stage of the marketing research process.

a) Definition of research objectives
b) Writing the research brief
c) Recognition of a marketing management problem

ii) _______ is not a part of the marketing mix.
a) Product
b) Purpose
c) Place

iii) _________ is a systematic attempt to get information useful in solving
marketing problems.
a) Marketing Research
b) Social Research
c) Research and Development

iv) A research conducted to improve the effectiveness of advertisement is
known as _________.
a) Copied research
b) Pricing research
c) Advertising research
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v) _______ is the method of primary data collection.
a) Reference Books
b) Observation and Interview
c) Annual report

vi) ________ is the data that is collected for the first time through personal
experiences or evidence, particularly for research.
a) Primary Data
b) Secondary data
c) Previous data

vii)  ________ is the process of marketing accomplished or facilitated via
the use of Internet technologies.
a) Internet marketing
b) Search marketing
c) E-marketing

viii) In marketing research process, primary data can be collected by _______
method.
a) Printed report
b) Annual report
c) Interview

Q2) Define the Marketing Research? Explain the factors of marketing research.
[14]

Q3) What is Marketing Decision Support System (MDSS)? Explain its Scope and of
Characteristics. [14]

Q4) What is Market Information? State the Importance and Sources of Collecting
Marketing Information. [14]

Q5) Define the Web Based Marketing Research? Explain the Advantages &
Disadvantages of Web Based Marketing Research. [14]

Q6) Write Short Notes (Any Two) : [2 × 6 = 12]
a) Ethics in Marketing Research
b) Advertising research
c) Secondary Data Sources
d) Primary data collection through internet


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àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s `mo½` n`m©̀ m§Mr {ZdS> H$ê$Z [aH$må`m OmJm ^am (H$moUVohr ghm) … [6]
i) .............. {dnUZ g§emoYZ à{H«$ òMm n{hbm Q>ßnm Amho.

A) g§emoYZ C{Ôï>m§Mr ì`m»`m
~) g§emoYZ g§{já boIZ
H$) {dnUZ ì`dñWmnZ g_ñ òMr AmoiI

ii) .............. hm {dnUZ {_lUmMm ^mJ Zmhr.
A) CËnmXZ
~) CÔoe
H$) {R>H$mU

iii) ........... hm {dnUZ g_ñ`m gmoS>dÊ`mgmR>r Cn ẁº$ _m{hVr {_idÊ`mMm nÕVera à`ËZ
Amho.
A) {dnUZ g§emoYZ
~) gm_m{OH$ g§emoYZ
H$) g§emoYZ Am{U {dH$mg

iv) Om{hamVrMr H$m ©̀j_Vm gwYmaÊ`mgmR>r Ho$bo OmUmao g§emoYZ åhUOoM ............... hmò .
A) H$m°nr Ho$bobo g§emoYZ
~) qH$_V g§emoYZ
H$) Om{hamV g§emoYZ

P.T.O.
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v) ............... hr àmW{_H$ _m{hVr g§H$bZmMr nÕV Amho.

A) g§X^© nwñVHo$
~) {ZarjU Am{U _wbmIV
H$) dm{f©H$ Ahdmb

vi) ............... åhUOo d¡̀ {º$H$ AZŵ d qH$dm nwamì`m§Ûmao, {deofV… g§emoYZmgmR>r àW_M
Jmoim Ho$bobr _m{hVr hmò .
A) àmW{_H$ _m{hVr
~) Xþæ`_ _m{hVr
H$) _mJrb _m{hVr

vii) ............... hr B§Q>aZoQ> V§ÌkmZmÀ`m dmnamÛmao nyU© Ho$bobr qH$dm gwb^ Ho$bobr {dnUZ
à{H«$`m Amho.
A) B§Q>aZoQ> {dnUZ
~) emoY {dnUZ
H$) B©-{dnUZ

viii) {dnUZ g§emoYZ à{H«$ òV, àmW{_H$ _m{hVr ............... nÕVrZo Jmoim Ho$br OmD$ eH$Vo.
A) N>mnrb Ahdmb
~) dm{f©H$ Ahdmb
H$) _wbmIV

àíZ àíZ àíZ àíZ àíZ 2) {dnUZ g§emoYZmMr ì`m»`m gm§JyZ. {dnUZ g§emoYZmMo KQ>H$ ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 3) {dnUZ {ZU©̀  g_W©Z àUmbr (MDSS) åhUOo H$m`? Ë`mMr ì`már Am{U d¡{eï>ço ñnï> H$am.
[14]

àíZ àíZ àíZ àíZ àíZ 4) ~mOmanoR> _m{hVr åhUOo H$m`? Vo gm§JyZ V`mMo _hÎd Am{U òmoV gm§Jm. [14]

àíZ àíZ àíZ àíZ àíZ 5) do~ AmYm[aV {dnUZ g§emoYZ åhUOo H$m`? do~ AmYm[aV {dnUZ g§emoYZmMo \$m`Xo Am{U VmoQ>o
ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm (H$moUË`mhr XmoZ) … [2 × 6 = 12]
A) {dnUZ g§emoYZmVrb Z¡{VH$Vm
~) Om{hamV g§emoYZ
H$) Xþæ`_ _m{hVr òmoV
S>) B§Q>aZoQ>Ûmao àmW{_H$ _m{hVrMo g§H$bZ





Q1) Fill in the blanks by selecting suitable choice (Any six) [6]
i)  _____ controls the capital market in India.

a) SEBI b) RBI
c) IRDA d) NABARD

ii) Industrial Finance corportation of India Established in _______.
a) 1950 b) 1948
c) 1947 d) 1951

iii) ______ TERM does not belong to the stock exchange.
a) NAV b) NSE
c) IPO d) KPO

iv) The Nifty consists of _______
a) 30 stocks b) 25 stocks
c) 50 stocks d) 100 stocks

v) ______ of the following is not a credit rating agency.
a) CRISIL b) ICRA
c) NIKKEI d) CARE

vi) Financial _______ are mainly used for hedging risk.
a) Derivatives b) Speculators
c) Investors d) None of the above
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vii) SEBI Act was passed in ________
a) 1988 b) 1990
c) 1989 d) 1992

viii) _____ appoints the chairman of SEBI.
a) Central Government b) Stock Exchange
c) IRDA d) Investors

Q2) What is 'Secondary Market'? Describe in detail the objectives and functions
of Secondary Market. [14]

Q3) What is Mutual fund? Explain the variouses types of Mutual Funds. [14]

Q4) What is Merchant Banking? Describe the functions and various services
rendered by Merchant Banker. [14]

Q5) What is Securities and Exchange Board of India (SEBI)? Explain the powers
and fucntions of SEBI. [14]

Q6) Write short notes (any two out of four) [12]
a) Futures contracts
b) Bombay stock Exchange
c) Foreign Direct Investment
d) Establishment of SEBI

♦♦♦



Total No. of Questions : 6]

[6319]-61
M.Com. (Part - II)

 401 : CAPITAL MARKET AND FINANCIAL SERVICES
(2019 Pattern) (CBCS) (Semester - IV)

(_amR>r ê$nm§Va)
doi : 3 Vmg ]                      [EHy$U JwU : 60
gyMZm : 1) àíZ H«$. 1 Am{U àíZ H«$. 6 A{Zdm ©̀ AmhoV.

2) àíZ H«$. 2 nmgyZ àíZ H«$. 5 n ª̀V H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb ~mOyMo AmH$S>o nyU© JwU Xe©dVmV.

àíZ 1) `mo½` n`m©̀  {ZdSy>Z [aŠV OmJm ^am. (H$moUVohr  6) [6]

i) .......... ^maVmVrb ^m§S>db ~mOma {Z §̀{ÌV H$aVo.

A) godr ~) Ama ~r Am`

H$) Am` Ama S>rE S>) Zm~mS>©

ii) ^maVr` Am¡Xçmo{JH$ {dÎm _hm_§S>imMr ñWmnZm ....... _Ü ò Pmbr.

A) 1950 ~) 1948

H$) 1947 S>) 1951

iii) .......... g§H$ënZm amoIo ~mOmamer g§~{YV Zmht

A) EZEìhr ~) EZEgB©

H$) Am`nrAmo S>) Ho$nrAmo

iv) {ZâQ>r_Ü ò ................ H§$nÝ`m§Mm g_mdoe hmoVmo.

A) 30 amoIo ~) 25 amoIo

H$) 50 amoIo S>) 100 amoIo

v) Imbrbn¡H$s .......... nV_yë`m§H$Z g§ñWm Zmhr.

A) {H«${gb ~) Am`grAmaE

H$) EZAm`Ho$Ho$B©Am` S>) grEAmaB©

P.T.O.
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vi) {dÎmr` ............... dmna _w»`V: hoqOJ OmoI_rgmR>r Ho$bm OmVmo.

A) AZwOmV ~) gQ²>Q>o²~mO

H$) Jw§VdUyH$Xma S>) `mn¡H$s Zmhr

vii) godr H$m`Xm .......... _Ü`o g_§V Pmbm.

A) 1988 ~) 1990
H$) 1989 S>) 1992

viii) go~rÀ`m AÜ`jm§Mr {Z ẁŠVr .............. H$aVo.

A) H|$Ð gaH$ma ~) amoIo ~mOma

H$) Am`AmaS>rE S>) Jw§VdUyH$Xma

àíZ 2) "Xþæ`_ ~mOma' åhUOo H$m`? Xþæ`_ ~mOmamMr C{Ôï>ço Am{U H$m ©̀ g{dñVanUo dU©Z H$am.[14]

àíZ 3) nañna {ZYr (å ẁÀ ẁAb \§$S>) åhUOo H$m`? nañna {ZYrMo {d{dY àH$ma ñnï> H$am. [14]

àíZ 4) _MªQ> ~±qH$J åhUOo H$m`? _MªQ>~±Ho$Mr H$m ©̀ Am{U _MªQ> ~±H$aH$Sy>Z nwa{dÊ`mV òUmè`m {d{dY
godm§Mo dU©Z H$am. [14]

àíZ 5) ^maVr` à{V ŷ{V d {d{Z_` _hm_§S>i (SEBI) åhUOo H$m`? (SEBI) Mo A{YH$ma Am{U H$m ©̀
ñnîQ> H$am. [14]

àíZ 6) WmoS>Š`mV {Q>nm {bhm (Mma n¡H$s H$moUË`mhr XmoZ) [12]
A>) ^{dî`H$mbrZ H$ama

~>) _w§~B© eoAa ~mOma

H$) WoQ> naH$s` Jw§VdUyH$

S>) go~rMr ñWmnZm

♦♦♦



Q1) Fill in the blanks by suitable choice (any 5) : [5]
i) Marine-based industries are based on _______

a) Minerals b) Forest product
c) Agriculture product d) Ocenic product

ii) Which of the following industries is not a heavy industry?
a) Cotton Textile b) Cement
c) Iron and Steel d) Ship building

iii) _______ is a political factor affecting the economic environment.
a) Type of Economy b) Infrastructure
c) The role of bureaucracy d) Banking Facility

iv) The Import-Export policy of ______ introduced a scheme to promote
SEZs with a view to increasing exports in India.
a) 1992-1997 b) 2002-2007
c) 1997-2002 d) 2007-2012

v) From the following ________ is major organized industry in India.
a) Iron and Steel Industry b) Automobile Industry
c) Cotton Textile d) Small Scale Industry

vi)  _________ industry laid the foundation of India's industrial economy.
a) The Automobile b) Process
c) The Textile d) Cement

vii) Multinational companies have their headquarters in  _________.
a) America b) Every Country
c) Their own country d) Other country
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Q2) Which are the factors affecting on economic environment? [15]

Q3) Discuss in detail about the problem of small scale industry. [15]

Q4) Discuss in detail about the Impact of the Industrial Policy, 1991. [15]

Q5) Explain in detail about the problem of Cotton Industry. [15]

Q6) Write short notes (any Four) : [20]

a) Classification of Industry
b) Causes of Industrial Imbalance
c) Role of Public Sector Industry
d) Problem of steel industry
e) Problem of special Economic Zone
f) Tourism Industry.


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àíZ àíZ àíZ àíZ àíZ 1) ¶mo½¶ n¶m©¶ {ZdSy>Z [aH$må¶m OmJm ^am. (H$moUVohr nmM) [5]
i) gmJar CÚmoJ ............. da AYm[aV Amho.

A) I{ZOo ~) dZ CËnmXZ
H$) H¥$fr CËnmXZ S>) gmJar CËnmXZ

ii) Imbrbn¡H$s H$moUVm CÚmoJ OS> CÚmoJ Zmhr.
A) H$mnS> CÚmoJ ~) {g‘|Q> CÚmoJ
H$) bmoI§S> Am{U nmobmX CÚmoJ S>) OhmO ~m§YUr CÚmoJ

iii) .............. hm Am{W©H$ n¶m©daUmda n[aUm‘ H$aUmam amOH$s¶ KQ>H$ Amho.
A) AW©ì¶dñWoMm àH$ma ~) nm¶m ŷV gw{dYm
H$) ZmoH$aemhrMr ^y{‘H$m S>) ~±H$ gw{dYm

iv) ^maVmV {Z¶m©V dmT>rbm àmoËgmhZ XoÊ¶mgmR>r Am¶mV-{Z¶m©V YmoaUmZo goPMr ñWmnZm H$Yr
H$aÊ¶mV Ambr.
A) 1992 - 1997 ~) 2002 - 2007
H$) 1997 - 2002 S>) 2007 - 2012

v) Imbrbn¡H$s .............. hm ^maVmVrb à‘wI g§KQ>rV CÚmoJ Amho.
A) bmoI§S> d nmobmX ~) Am°Q>mo‘mo~mB©b CÚmoJ
H$) H$mnS> CÚmoJ S>) bKw CÚmoJ

vi) ............. CÚmoJmZo ^maVmVrb Am¡Úmo{JH$ ì¶dñWoMm nm¶m KmVbm.
A) Am°Q>mo‘mo~mB©b ~) à{H«$¶m
H$) H$mnS> S>) {g‘|Q>

vii) ~hþamï´>r¶ H§$nÝ¶m§Mo ‘w»¶mb¶ ............. AgVo.
A) A‘o[aHo$‘Ü¶o ~) àË¶oH$ XoemV
H$) ñdVmÀ¶m XoemV S>) Xþgè¶mÀ¶m XoemV

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) Am{W©H$ n¶m©daUmda n[aUm‘ H$aUmao KQ>H$ H$moUVo AmhoV. [15]

àíZ àíZ àíZ àíZ àíZ 3) bKwCÚmoJmÀ¶m g‘ñ¶m§~m~V g{dñVa MMm© H$am. [15]

àíZ àíZ àíZ àíZ àíZ 4) 1991 À¶m Am¡Úmo{JH$ YmoaUmÀ¶m n[aUm‘mMr Vnerbdma MMm© H$am. [15]

àíZ àíZ àíZ àíZ àíZ 5) H$mnyg CÚmoJmÀ¶m g‘ñ¶o~Ôb g{dñVa ‘m{hVr Úm. [15]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm. (H$moUË`mhr Mma) [20]
A) CÚmoJmMo dJuH$aU
~) Am¡ÚmoJrH$ Ag§VwbZmMr H$maUo
H$) gmd©O{ZH$ joÌmVrb CÚmoJmMr ŷ{‘H$m
S>) nmobmX CÚmoJmMr g‘ñ¶m
B) {deof Am{W©H$ joÌmÀ¶m g‘ñ¶m
’$) n¶©Q>Z CÚmoJ


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Q1) Fill in the blanks by selecting suitable choice (any 6): [6]
i) If the value of the game is zero then the game is called as _______

a) Fair b) Unfair
c) Optimal game d) None of the above

ii) A game with two players in which the gain of one player equals the loss to
the other player is known as _________
a) Two-person zero sum game
b) Two persons with non-zero-sum game
c) Unfair game
d) None of the above

iii) Key elements are also known as __________
a) Slack b) Surplus
c) Artificial d) Pivot

iv) A constraint in a Linear Programming Model restricts
a) Value of the objective function
b) Value of decision variable
c) Use of available resource
d) All the above

v) The assignment matrix is always a
a) Rectangular Matrix b) Square Matrix
c) Identity Matrix d) None of the above

vi) Activities lying on critical path are called as _______
a) Dummy activities b) Critical activities
c) Non - Critical activities d) Initial activities

SEAT No. :

P.T.O.
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vii) The solution to a transportation problem with m-rows and n-columns is
feasible if number of positive allocations are
a) m+n b) m*n
c) m+n-1 d) m+n+l

viii) The difference between total and free float is _________
a) Total b) Independent
c) Initial activity d) Interference

Q2) Attempt any two of the following : [14]
a) Solve the following L.P.P. by graphical method

Maximize Z = 8000 x1 + 7000 x2
Subject to conditions
3x1 + x2 < 66
x1 + x2 < 45
x1 < 20
x2 < 40
x1, x2 > 0

b) Write the step-by-step procedure to solve Two Person Zero Sum Game.
c) Find Initial Basic Feasible Solution of the following Transportation

Problem using Vogels Approximation Method. Also find the transportation
cost.
Warehouse-- W1 W2 W3 W4 Capacity

Factory
F1 19 30 50 10 7
F2 70 30 40 60 9
F3 40 8 70 20 18
Requirement 5 8 7 14 34

Q3) Attempt any two of the following : [14]
a) Write the dual of the following L.P.P.

Maximize Z= 40 x1 + 50 x2
Subject to conditions
2x1+3x2 < 3
8x1+4x2 < 5
xl, x2 > 0
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b) Find Initial Basic Feasible Solution of the following Transportation Problem
using North West Corner Rule. Also find the transportation cost.
Destination-- D1 D2 D3 D4 Capacity

Origin
O1 5 3 6 2 18
O2 4 7 9 1 27
O3 3 4 7 5 35
Requirement 15 16 34 25

c) A project consists of a series or tasks labelled A ______ B, H, I with the
following relationship (W<X, Y means X and Y cannot start until W is
completed; X, Y< W cannot start until both X and Y are completed) With
this notation construct the network diagram having the following
constraints;
A<D,E;B,D<F; C<G;B<H;F, G<I

Q4) Attempt any two of the following: [14]
a) Solve the following assignment problem to minimise the total cost

1 2 3 4 5
I 8 4 2 6 1
II 0 9 5 5 4
III 3 8 9 2 6
IV 4 3 1 0 3
V 9 5 8 9 5

 
 
 
 
 
 
  

b) Write the Johnsons procedure for determining an optimal sequence for n
jobs on two machines.

c) Solve the following 2 persons 2 × 2 mixed strategy game
d) Purchase and sales Budget.

Player B
Player A 5 10

12 2
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Q5) Attempt any two of the following : [14]
a) Define the following term :

i) Loop
ii) Forward Pass
iii) Backward Pass

b) Solve the following LPP by simplex method
Maximize Z = 3x1 + 2x2
Subject to conditions

x1 + x2 < 4
x1 – x2 < 2
x1, x2 > 0

c) Obtain an optimal solution for the following transportation problem :
Destination  D1 D2 D3 Capacity

Sources
S1 2 7 4 5
S2 3 3 1 8
S3 5 4 7 7
S4 1 6 2 14
Requirement 7 9 18

Q6) Attempt any two of the following : [12]
a) Define the following term

i) Optimum Solution
ii) Basic Solution

b) Shade the feasible region for the following linear inequalities
x + 2y > 6
3x + y > 9
x + y < 7
x,y > 0

c) Explain the following term
i) Optimistic time
ii) Pessimistic Time
iii) Most likely time

d) Write the standard form of LPP for the following LPP
Maximize Z =  10x1 + 15x2
Subject to conditions

x1 + 2x2 < 10
2x1 + 3x2 = 12
xl + x2 > 3
x1, x2 > 0

♦♦♦



Q1) Fill in the  Blanks by Selecting suitable choice (any 6 out of 8): [6]
i) ESOP stands for _____

a) Employee Service Ownership  Plan
b) Employee Stock Ownership Plan
c) Employee Stock Option Plan
d) Employee Stock Open Plan.

ii) The GST is applicable on the _______ of all goods and service.
a) Scrap b) Dividend
c) Return d) Supply

iii) Blockchain is a type of ________ database.
a) Limited b) Practical
c) Shared d) Fixed

iv) _____ is the Process of identifying and reporting investments made in
the human resources of an organosation.
a) Human resource accounting
b) Cost accounting
c) Management accounting
d) Inflation accounting.

v) ______ is the objective of creative accounting.

a) To increase the accuracy of financial statements.

b) To make a company appear more profitable and successful than it
actually is

c) To ensure compliance with accounting standards.

d) To verify the financial position of the organization.
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vi) _____ is a method of accounting that takes into account the effects of
inflation on a company's financial statements.

a) Inflation accounting
b) Forensic accounting
c) Financial accounting
d) Management accounting.

vii) Intellectual Property (IP) is _____ asset.
a) Tangible b) Fixed
c) Recurring d) Intangible

viii) Which of the following is a component of Artificial Intelligence?
a) Learning b) Training
c) Designing d) Puzzling

Q2) What is Block Chain Accounting? Explain in brief the role of Artificial
Intelligence in the Accounting. [14]

Q3) What is Corporate Tax? Explain in detail advantages and disadvantags
and corporate tax. [14]

Q4) What is 'Human Resource Accounting'? Explain the advantages and
limitations of human resourse accounting in detail. [14]

Q5) Define Inflation Accounting. Explain in detail the various methods of
Inflation Accounting. [14]

Q6) Write short note (Any 2): [12]

a) Forensic Accounting

b) Creative Accounting

c) Lean Accounting

d) Cloud Accounting.





Q1) Fill in the Blanks by selecting suitable choice (any 6 out of 8) : [6]
i) As per The Competition Act, 2002, "_______" means the sale of goods

or provision of services, at a price which is below the cost, as may be
determined by regulations, of production of the goods or provision of
services, with a view to reduce competition or eliminate the competitors.

a) Selling Price b) Predatory price

c) Dominant position d) Control

ii) As per The Competition Act. 2002 “goods” means goods as defined in
the ________.

a) Sale of Goods Act, 1930

b) Indian Contract Act, 1872

c) Consumer Protection Act, 1986

d) GST Act, 2017

iii) As per The Special Economic Zones Act, 2005, “manufacture” include
processes such as _______, cutting, polishing, blending, repair, remaking,
re-engineering.

a) Refrigeration b) Evaporation

c) Decomposition d) Composition
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iv) "________" means a Special Economic Zone wherein mainly trading
and warehousing and other activities related thereto are carried on.

a) Special Economic Zone

b) Special Export Zone

c) Free Trade and Warehousing Zone

d) Existing unit

v) As per the provisions of The Securitization and Reconstruction of
Financial Assets and Enforcement of Security Interest Act, 2002, any
asset reconstruction company registered under section 3 may act as an
agent for any _________ for the purpose of recovering their dues from
the borrower.

a) Any Person b) Bank only

c) Financial institution only d) Bank or financial institution

vi) As per The Securitization and Reconstruction of Financial Assets and
Enforcement of Security Interest Act, 2002, the ______ may, by
notification, define the territorial limits within which an office of the Central
Registry may exercise its functions.

a) Central Government b) State Government

c) Local Self Government d) RBI

vii) As per provisions of Recovery of Debts due to Banks and Financial
Institutions Act, 1993, the Chairperson of an Appellate Tribunal shall
hold office for a term of ______ years from the date on which he enters
upon his office.

a) Three b) Four

c) Five d) Six

viii) As per the provisions of The Recovery of Debts Due to Banks and
Financial Institutions Act, 1993, A person shall not be qualified for
appointment as the Presiding Officer of a Tribunal unless he is, or has
been, or is qualified to be, a ________.

a) District Judge b) Judge of High Court

c) Judge of Supreme Court d) RBI Governor
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Q2) State the provisions of the Competition Act, 2002 relating to duties, powers
and functions of The Competition Commission of India. [14]

Q3) Explain the provisions relating to constitution, powers and functions of
Approval Committee under The Special Economic Zones Act, 2005. [14]

Q4) Explain the provisions relating to Registration of asset reconstruction companies
under The Securitization and Reconstruction of Financial Assets and
Enforcement of Security Interest Act, 2002. [14]

Q5) Explain the provisions relating to Establishment of Tribunal and Appellate
Tribunal under The Recovery of Debts Due to Banks and Financial Institutions
Act, 1993. [14]

Q6) Write Short Notes (Any 2 out of 4) : [2 × 6 = 12]
a) Definition of the terms Consumer, Enterprise and Service under the

Competition Act, 2002.

b) Provisions relating to Cancellation of letter of approval to entrepreneur
under The Special Economic Zones Act, 2005

c) Provisions relating to Central Registry under The Securitization and
Reconstruction of Financial Assets and Enforcement of Security Interest
Act, 2002.

d) Procedure and Powers of Tribunals under The Recovery of Debts Due
to Bank and Financial Institution Act, 1993.


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àíZ àíZ àíZ àíZ àíZ 1) `mo½` n`m©̀  {ZdSy>Z [aº$ OmJm ^am (8 n¡H$s 6) [6]

i) H$m°pån{Q>eZ E°ŠQ>, 2002 À`m VaVwXr Zwgma ""................'' åhUOo ñnYm© H$_r H$aÊ`mÀ`m
qH$dm à{VñnYm©̀ m§Zm Xÿa H$aÊ`mÀ`m Ñ{ï>H$moZmVyZ dñVy§Mr {dH«$s qH$dm godm§Mr VaVyX hr
{ZYm©[aV qH$_Vrnojm H$_r Agboë`m {H$_Vrbm H$aUo.

A) {dH«$s qH$_V ~) {àS>oQ>ar qH$_V

H$) à~i pñWVr S>) {Z §̀ÌU

ii) H$m°pån{Q>eZ E°ŠQ>, 2002 Zwgma ""dñVy'' åhUOo .............. _Ü ò n[a^m{fV Ho$ë`mà_mUo
dñVy

A) dñVy {dH«$s H$m`Xm, 1930 ~) ^maVr` H$ama H$m`Xm, 1872

H$) J«mhH$ g§ajU H$m`Xm, 1986 S>) GST H$m`Xm, 2017

iii) {deof Am{W©H$ joÌ H$m`Xm, 2005 Zwgma, ""CËnmXZ'' _Ü`o ..........., H$qQ>J, nm°{bqeJ,
ãb|qS>J, [anoAa, [a_oqH$J, ar-B§{O{ZA[a¨J `mgma»`m à{H«$`m§Mm g_mdoe hmoVmo.

A) ao{\«$OaoeZ ~) ~mînr^dZ

H$) Hw$OUo S>) aMZm (H$m°ånmo{geZ)

P.T.O.
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iv) ""..............'' åhUOo {deof Am{W©H$ joÌ (SEZ) Á`m_Ü`o _w»`V… ì`mnma Am{U
H$moR>ma Am{U Ë`mÀ`mer g§~§{YV BVa H$m }̀ Ho$br OmVmV.

A) {deof Am{W©H$ joÌ ~) {deof {Z`m©V joÌ

H$) _wº$ ì`mnma Am{U H$moR>ma joÌ S>) {dÚ_mZ ẁ{ZQ>

v) {gŠ ẁ[aQ>m`PoeZ A±S> [aH$ÝñQ´>ŠeZ Am°\$ \$m`ZmpÝe`b A°goQ²>g A±S> BZ\$mog©_|Q> Am°\$
{gŠ ẁ[aQ>r B§Q>aoñQ> A°ŠQ>, 2002 À`m VaVwXtZwgma H$b_ 3 A§VJ©V Zm|XUrH¥$V H$moUVrhr
_mb_Îmm nwZa©MZm H§$nZr H$O©XmamH$Sy>Z Ë`m§Mr XoUr dgyb H$aÊ`mÀ`m hoVyZo H$moUË`mhr
................... gmR>r EO§Q> åhUyZ H$m_ H$ê$ eH$Vo.

A) H$moUVrhr ì`º$s ~) \$º$ ~±H$

H$) \$º$ Am{W©H$ g§ñWm S>) ~±H$ qH$dm {dÎmr` g§ñWm

vi) {gŠ ẁ[aQ>m`PoeZ A±S> [aH$ÝñQ´>ŠeZ Am°\$ \$m`ZmpÝe`b A°goQ²>g A±S> BZ\$mog©_|Q> Am°\$
{gŠ ẁ[aQ>r B§Q>aoñQ> A°ŠQ>, 2002 À`m VaVwXtZwgma .............. A{YgyMZoÛmao àmXo{eH$
_`m©Xm n[a^m{fV H$ê$ eH$VmV Á`m_Ü ò g|Q´>b a{OñQ´>r H$m`m©b` Ë`mMo H$m ©̀ H$ê$ eH$Vo.

A) H|$Ð gaH$ma ~) amÁ` gaH$ma

H$) ñWm{ZH$ ñdamÁ` g§ñWm S>) Ama ~r Am`

vii) X [aH$ìhar Am°\$ S>oQ²>g S>çy Qy> ~±Šg A±S> \$m`ZmpÝg`b BpÝñQ>Q>çyeÝg A°ŠQ>, 1993
Anrbr` Ý`m`m{YH$aUmMo AÜ`j nXmda {Z ẁº$s Pmë`m VmaIonmgyZ ............ dfm©À`m
H$mbmdYrgmR>r nXmda amhVrb.

A) VrZ ~) Mma

H$) nmM S>) ghm

viii) X [aH$ìhar Am°\$ S>oQ²>g S>çy Qy> ~±Šg A±S> \$m`ZmpÝg`b BpÝñQ>Q>çyeZ A°ŠQ>, 1993 _Yrb
VaVwXrZwgma EImXr ì`º$s Ý`m`m{YH$aUmMm nrR>mgrZ A{YH$mar åhUyZ {Z ẁº$sgmR>r nmÌ
R>aUma Zmhr, Omon ª̀V Vmo .................. Amho, qH$dm hmoÊ`mg nmÌ Amho.

A) {Oëhm Ý`m`mYre

~) Cƒ Ý`m`mb`mMo Ý`m`mYre

H$) gdm}ƒ Ý`m`mb`mMo Ý`m`mYre

S>) RBI JìhZ©a
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àíZ àíZ àíZ àíZ àíZ 2) H$m°pån{Q>eZ E°ŠQ>, 2002 _Yrb VaVwXrZwgma ^maVr` ñnYm© Am`moJmMr H$V©ì ò, A{YH$ma Am{U
H$m }̀ ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 3) AZw_moXZ g{_VrMr (Aàydhb g{_Vr) KQ>Zm, A{YH$ma Am{U H$m }̀ `mg§~§Yr {deof Am{W©H$ joÌ
(SEZ) A°ŠQ>, 2005 _Yrb VaVwXr ñnîQ> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 4) {gŠ ẁ[aQ>m`PoeZ A±S> [aH$ÝñQ´>ŠeZ Am°\$ \$m`ZmpÝe`b A°goQ²>g A±S> BZ\$mog©_|Q> Am°\$ {gŠ ẁ[aQ>r
B§Q>aoñQ> A°ŠQ>, 2002 A§VJ©V _mb_Îmm nwZa©MZm H§$nÝ`m§À`m Zm|XUrer g§~§{YV VaVwXr ñnï> H$am.

[14]

àíZ àíZ àíZ àíZ àíZ 5) X [aH$ìhar Am°\$ S>oQ²>g S>çy Qy> ~°Šg A±S> \$m`ZmpÝg`b BpÝñQ>Q>çyeÝg A°ŠQ>, 1993 _Yrb
VaVwXrZwgma Ý`m`m{YH$aU Am{U Anrbr` Ý`m`m{YH$aUmÀ`m ñWmnZoer g§~§{YV VaVwXr ñnï>
H$am. [14]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm (4 n¡H$s H$moUË`mhr 2) … [2 × 6 = 12]
A) H$m°pån{Q>eZ E°ŠQ>, 2002 A§VJ©V J«mhH$, CnH«$_ Am{U godm `m eãXm§Mr ì`m»`m.

~) {deof Am{W©H$ joÌ (SEZ) H$m`Xm, 2005 A§VJ©V CÚmoOH$m§Zm _§Oyar nÌ aÔ
H$aÊ`mg§~§YrÀ`m VaVwXr.

H$) {gŠ ẁ[aQ>m`PoeZ A±S> [aH$ÝñQ´>ŠeZ Am°\$ \$m`ZmpÝe`b A°goQ²>g A±S> BZ\$mog©_|Q> Am°\$
{gŠ ẁ[aQ>r B§Q>aoñQ> A°ŠQ>, 2002 _Yrb H|$Ðr` Zm|oXUrer (g|Q´>b a{OñQ´>r) g§~§{YV VaVwXr.

S>) X [aH$ìhar Am°\$ S>oQ²>g S>çy Qy> ~±Šg A±S> \$m`ZmpÝg`b BpÝñQ>Q>çyeÝg A°ŠQ>, 1993
_Yrb VaVwXrZwgma Ý`m`m{YH$aUmMr à{H«$`m Am{U A{YH$ma.


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Q1) Fill in the blanks by selecting a suitable choice. (any 6) : [6]
a) Cost Accounting standard issued by ______

i) ICAI
ii) ICA
iii) ICMA

b) How many types of VAT Audit
i) One
ii) Two
iii) Three

c) Cost Accounting standard on “Packing material cost” is dealt in.
i) CAS-5
ii) CAS-8
iii) CAS-09

b) The event is commonly represented by _____in network diagram.
i) Nodes
ii) Arrow
iii) Triangle

SEAT No. :

P.T.O.
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e) What is at the heart of any ERP system?
i) Integrated information
ii) Employees
iii) Customer

f) The process mapping is a _________diagram.
i) Data flow
ii) Work flow
iii) Circular

g) Total Quality Management (TQM) focuses on ________
i) Employee
ii) Customer
iii) Both (i) & (ii)

h) Expenses relating to manufacture of a product or rendering a service
which can be identified or link with the cost of object other than direct
material cost & direct employee cost in known as _____
i) National cost
ii) Imputed cost
iii) Direct expenses

Q2) Explain in brief the nature and scope of CAS of “Administrative overheads”
(11) “Repairs & maintenance of cost” (12) and “Capacity determination and
Deprecation Accounting” [14]

Q3) What is the meaning of Productivity Audit? Explain the features and scope of
Productivity Audit. [14]

Q4) Define the term “Enterprise Resource Planning”? Explain the benefits and
limitations of Enterprise Resources Planning? [14]

Q5) Explain the Kaizen Technique in details with example? [14]

Q6) Write short Notes (any 2 out of 4) [12]
a) CAS 5: Cost of Transportation.
b) Benefits of GST Audit
c) Scope of ERP
d) Business Process Re-Engineering

          



Q1) Fill in the blanks by selecting suitable choice (any 6) : [6]
i) _______ is social responsibility of cooperative institute.

a) Profit Maximization b) Social Welfare
c) Social Development d) Community Development

ii) Due to globalization production cost of cooperative institutes ______.
a) Increased b) Decreased
c) Constant d) Not Changed

iii) _________ state in India has maximum farmers suicide.
a) Kerala b) Maharashtra
c) Karnataka d) Bihar

iv) Self Help Group bank linkage programme was first launch by _______
a) RRB b) NABARD
c) RBI d) SBI

v) ________ was the chairman of All India Rural fund supply survey
committee.
a) Gadgil b) Sureiyya
c) Gorwala d) Thakurdas

vi) _________ committee suggested the formation of National Level
Cooperative Bank.
a) Khushro committee b) Saraiya committee
c) Planning commission d) None of the above
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vii) The principal followed in a Cooperative society is _______.
a) No vote b) One man One Vote
c) Multiple votes d) One share One vote

viii) Cooperatives in India follow this type of organisation structures ______.
a) Centralized structure b) Decentralized structure
c) Unitary structure d) Federal structure

Q2) Explain the Theory and Practice of Cooperative Principles. [14]

Q3) Explain the impact of Globalization on Cooperative Institutions. [14]

Q4) Explain the types of micro finance and role of Self Help groups in developing
Micro Finance. [14]

Q5) State the measures suggested by various committees regarding farmers suicide.
[14]

Q6) Write Short Notes (any 2) : [12]

a) Social responsibility of Cooperative institutions
b) Six Sigma
c) Self Help Group
d) Sustainable Rural Development


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àíZ àíZ àíZ àíZ àíZ 1) ¶mo½¶ n¶m©¶ {ZdSy>Z [a³V OmJm ^am. (H$moUVohr 6) [6]

i) ............... hr ghH$mar g§ñWoMr gm‘m{OH$ O~m~Xmar Amho.
A) Z’$m dmT>dUo ~) g‘mOH$ë¶mU
H$) gm‘m{OH$ {dH$mg S>) g‘wXm¶ {dH$mg

ii) OmJ{VH$sH$aUm‘wio ghH$mar g§ñWm§Mm CËnmXZ IM© .............
A) dmT>Vmo ~) KQ>Vmo
H$) pñWa amhVmo S>) ~Xbbobo Zmhr

iii) ^maVmV gdm©{YH$ eoVH$ar AmË‘hË¶m ............... amÁ¶mV AmhoV.
A) Ho$ai ~) ‘hmamï´>
H$) H$Zm©Q>H$ S>) {~hma

iv) goë’$ hoën J«wn ~±H$ qbHo$O àmoJ«m‘ àW‘ ............
A) AmaAma~r ~) Zm~mS>©
H$) Ama~rAm¶ S>) Eg~rAm¶

v) ............. A{Ib ^maVr¶ J«m‘rU {ZYr nwadR>m gd}jU g{‘VrMo AÜ¶j hmoVo.
A) JmS>Jri ~) gwaoæ¶m
H$) Jmoadmbm S>) R>mHy$aXmg

vi) ............. g{‘VrZo amï´>r¶ ñVamdarb ghH$mar ~±Ho$À¶m ñWmnZoMr gyMZm Ho$br.
A) Iweamo g{‘Vr ~) ga¡æ¶m g{‘Vr
H$) {Z¶moOZ Am¶moJ S>) darbn¡H$s H$mhrhr Zmhr

3 P.T.O.
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vii) ghH$mar g§ñWo‘Ü¶o nmibo OmUmao VËd .................

A) ‘V Zmhr ~) EH$ ì¶³Vr EH$ ‘V

H$) AZoH$ ‘Vo S>) EH$ dmQ>m EH$ ‘V

viii) ^maVmVrb ghH$mar g§ñWm ........... àH$maÀ¶m g§ñWm g§aMZm§Mo nmbZ H$aVmV.

A) H|$ÐrH¥$V aMZm ~) {dH|$ÐrH¥$V aMZm

H$) EH$mË‘H$ aMZm S>) g§KamÁ¶ g§aMZm

àíZ àíZ àíZ àíZ àíZ 2) ghH$mar VÎdm§Mm {gÕm§V Am{U gamd ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 3) OmJ{VH$sH$aUmMm ghH$mar g§ñWm§da hmoUmam n[aUm‘ ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 4) ‘m¶H«$mo ’$m¶ZmÝgMo àH$ma Am{U ‘m¶H«$mo ’$m¶ZmÝg {dH${gV H$aÊ¶mV ~MV JQ>m§Mr ŷ{‘H$m ñnï>
H$am. [14]

àíZ àíZ àíZ àíZ àíZ 5) eoVH$ar AmË‘hË¶o~m~V {d{dY g{‘Ë¶m§Zr gwM{dboë¶m Cnm¶¶moOZm gm§Jm. [14]

àíZ àíZ àíZ àíZ àíZ 6) WmoS>³¶mV {Q>nm {bhm. (H$moUË`mhr 2) [12]

A) ghH$mar g§ñWm§Mr gm‘m{OH$ O~m~Xmar

~) ghm {g½‘m

H$) ~MV JQ>

S>) emœV J«m‘rU {dH$mg





Q1) Fill in the blanks [6]
i) Agriculture is the major occupation in ________

a) Rural b) Remote
c) Urban d) None of These

ii) ___________ not a part of industrial policy.
a) Tariff reduction b) Subsidies to Industry
c) Change in the corporate tax regim d) All of the Above

iii) __________ year, Government of India adopt New Economic Policy.
a) 1970 b) 1980
c) 1985 d) 1991

iv) The role Government in Business to show _______
a) Possitive b) Negative
c) Neutral d) None of Above

v) Shareholder is _______________ of a company.
a) Partner b) Employee
c) Owner d) Creditor

vi) Indian economy is known as _______ economy.
a) Capital Intensive b) Agrarian
c) Mix d) None of These
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Q2) State the recent development in Corporate Goverance in India. [14]

Q3) Expected introduction Environmental Audit
Goal, necessities and importance of Environmental Audit.

[14]

Q4) State the Agro processing policy of Maharashtra. [14]

Q5) Explain the concept of Gram-Udhyog Vasahat and Urban Haat. [14]

Q6) Write short notes (Any Two) [12]
a) Retail Policy
b) Pradhanmantri Mudra Yojana 2015
c) Environmental Audit
d) Marketing Assistant

♦♦♦
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[6319]-68
M.Com. (Part - II)

411 : BUSINESS PRACTICES AND ENVIRONMENT
Recent Advances in Business Practices and Environment

(2019 Pattern) (CBCS) (Semester - IV) (Special Paper - VII)
(_amR>r ê$nm§Va)

doi : 3 Vmg ]                      [EHy$U JwU : 60
gyMZm : 1) àíZ H«$_m§H$ 1 Am{U àíZ H«$_m§H$ 6 A{Zdm ©̀.

2) àíZ H«$_m§H$ 2 Vo àíZ H«$_m§H$ 5 n ª̀V H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb AmH$S>o nyU© JwU Xe©dVmV.

àíZ 1) [aŠV OmJm ^am. [6]
i) ......... _Ü ò eoVr hm à_wI ì`dgm` Amho.

A>) J«m_rU ~) [a_moQ>
H$) ehar S>) `mn¡H$s H$mhrhr Zmhr

ii) ........... Am¡X²̀ mo{JH$ YmoaUmMm ^mJ Zmht.
A>) Xa H$nmV ~>) CX²̀ moJm§Zm AZwXmZo
H$) H$m°nm}aoQ> H$a àUmbr_Ü`o ~Xb S>>) darb gd©

iii) .......... df©, ^maV gaH$maZo ZdrZ Am{W©H$ YmoaU ñdrH$mabo.
A>) 1970 ~) 1980
H$) 1985 S>) 1991

iv) ì`dgm`mV gaH$maMr ŷ{_H$m ............. Xe©dÊ`mgmR>r.
A>) gH$mamË_H$ ~) ZH$mamË_H$
H$) Ý ỳQ´>b S>) darbn¡H$s H$mhrhr Zmhr

v) ^mJYmaH$ hm H§$nZrMm ........... AgVmo.
A>) ^mJrXma ~>) H$_©Mmar
H$) _mbH$ S>) H$O©Xma

vi) ^maVr` AW©ì`dñWm .............. AW©ì`dñWm åhUyZ AmoiIbr OmVo.

A>) ^m§S>db àYmZ ~>) H¥$fràYmZ

H$) {_{lV S>) `mn¡H$s H$mhrhr Zmhr

P.T.O.
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àíZ 2) ^maVmVrb H$m°nm}aoQ> JìhZ©Ýg_Yrb AbrH$S>rb {dH$mg gm§Jm. [14]

àíZ 3) n`m©daUr` boImnarjUmMo C{Ôï>, Amdí`H$Vm Am{U _hÎd ñnï> H$am. [14]

àíZ 4) _hmamï´>mMo H¥$fr à{H«$`m YmoaU gm§Jm. [14]

àíZ 5) J«m_-CX²̀ moJ dgmhV Am{U ZmJar hmQ> `m g§H$ënZm ñnï> H$am. [14]

àíZ 6) {Q>nm {bhm. (H$moUË`mhr XmoZ) [12]

A>) {H$aH$moi YmoaU

~>) àYmZ_§Ìr _wÐm `moOZm 2015

H$) n`m©daUr` boImnarjU

S>) {dnUZ ghmæ`H$

♦♦♦
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Q1) Multiple Choice Questions. (any six) [6]
i) Change management is essential for organizations to  ________ to

evolving market conditions.
a) resist b) adapt
c) ignore d) stagnate

ii) The significance of change management is evident in its ability to minimize
_______ and disruptions during transitions.
a) resistance b) innovation
c) imitation d) stagnation

iii) A customer -centric approach focuses on meeting the ________ of both
internal and external customers.
a) resistance b) needs
c) imitation d) stagnation

iv) Implementing strategies for a customer-centric approach requires a deep
understanding of ________ behaviors.
a) Stagnant b) Customer
c) resistant d) imitation

v) _________ is the significance of a global management system in
multinational organizations.
a) Fragmentation b) Centralization
c) Decentralization d) Resistance

vi) Acquisitions and mergers play a significant role in _________ market
share and expanding business portfolios.
a) diminishing b) stagnating
c) increasing d) resisting

P.T.O.
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vii) Succeful change management often involves addressing both ______
and external factors.

a) internal b) external

c) resistant d) stagnant

viii) Key steps in innovation management include systematic idea generation
and ________.

a) resistance b) favorable

c) imitation d) evaluation

Q2) What is ‘Change Management’? Explain its importance in organizational
success. [14]

Q3) What is the meaning of Customer-Centric Approach? Describe in detial the
challenges of becoming a Customer-Centric Company. [14]

Q4) What are the challenges in cross-cultural management, and how can
organizations effectively face them?  [14]

Q5) What is the meaning of Innovation? Explain in detail the significance and
advantages of Innovation. [14]

Q6) Write short notes on (any two)  [12]

a) Principles of Change Management

b) Strategies for Becoming Customer -Centric

c) Current Trends in Acquisitions & Mergers

d) Role of Governement in Promoting Innovation


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Total No. of Questions : 6]

[6319]-69
M.Com. (Part - II)

413 : RECENT ADVANCES IN BUSINESS ADMINISTRATION
(2019 Pattern) (Semester - IV) (Credit System)

(‘amR>r ê$nm§Va)
doi : 3 Vmg] [ EHy$U JwU : 60

gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H«$. 6 gmoS>{dUo A{Zdm¶© AmhoV.
2) àíZ H«$. 2 Vo àíZ H«$. 5 _Yrb H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) ~hþn`m©̀ r àíZ. (H$moUË`mhr ghm) [6]
i) ~XbË`m ~mOmanoR>oÀ`m n[apñWVrer g§ñWm§Zm .............. H$aÊ`mgmR>r ~Xb ì`dñWmnZ Amdí`H$

Amho.
A) à{VH$ma H$aUo ~) OwidyZ KoUo
H$) Xþb©j H$aUo S>) ñW¡̀ ©

ii) n[adV©Z ì`dñWmnZmMo _hÎd g§H«$_UmXaå`mZ ............... Am{U ì`Ë`` H$_r H$aÊ`mÀ`m
j_VoV ñnï> hmoVo.
A) à{VH$ma ~) ZmdrÝ`
H$) AZwH$aU S>) ñW¡̀ ©

iii) J«mhH$ - H|${ÐV Ñ{ï>H$moZ A§VJ©V Am{U ~mø XmoÝhr J«mhH$m§À`m ............... nyU© H$aÊ`mda bj
H|${ÐV H$aVmo.
A) à{VH$ma ~) JaOm
H$) AZwH$aU S>) ñW¡̀ ©

iv) J«mhH$ -H|${ÐV Ñ{ï>H$moZmgmR>r YmoaUo A§_bmV AmUÊ`mgmR>r ............. dV©Zm§Mo gImob AmH$bZ
Amdí`H$ Amho.
A) pñWa ~) J«mhH$
H$) à{VamoYH$ S>) AZwH$aU

v) ~hþamï´>r` g§ñWm§_Ü ò OmJ{VH$ ì`dñWmnZ àUmbrMo _hÎd ............ Amho.
A) {dI§S>Z ~) H|$ÐrH$aU
H$) {dH|$ÐrH$aU S>) à{VH$ma

vi) A{YJ«hU Am{U {dbrZrH$aU ~mOmamVrb {hñgm ............... Am{U ì`dgm` nmoQ>©\$mo{bAmo
dmT>{dÊ`mV _hÎdnyU© ̂ y{_H$m ~OmdVmV.
A) H$_r hmoUo ~) pñWa hmoUo
H$) dmT>Uo S>) à{VH$ma H$aUo

PC4502
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vii) `eñdr ~Xb ì`dñWmnZmV ~è`mMXm .............. Am{U ~mø XmoÝhr KQ>H$m§H$S>o bj XoUo g_m{dï>
AgVo.

A) A§VJ©V ~) ~mø
H$) à{VamoYH$ S>) pñWa

viii) ZdmonH«$_ ì`dñWmnZm_Yrb _hÎdmÀ`m Q>ßß`m§_Ü ò nÕVera H$ënZm {Z{_©Vr Am{U ..............
`m§Mm g_mdoe Amho.
A) à{VH$ma ~) AZwHy$b

H$) AZwH$aU S>) _yë`_mnZ

à.à.à.à.à.2) ~Xb ì`dñWmnZ åhUOo H$m`? g§KQ>ZmË_H$ `emV Ë`mMo _hÎd ñnï> H$am. [14]

à.à.à.à.à.3) J«mhH$ - H|${ÐV Ñ{ï>H$moZmMm AW© H$m`? J«mhH$ H|${ÐV H§$nZr ~ZÊ`mMm AmìhmZm§Mo Vnerbdma dU©Z
H$am. [14]

à.à.à.à.à.4) {^ÝZ - g§ñH¥$Vr ì`dñWmnZm_Yrb AmìhmZo H$moUVr AmhoV Am{U g§ñWm Ë`m§Zm à^mdrnUo H$go gm_moao
OmD$ eH$VmV? [14]

à.à.à.à.à.5) ZdmonH«$_mMm AW© H$m` Amho? ZdmonH«$_mMo _hÎd Am{U \$m`Xo Vnerbdma g_OmdyZ ñnï> H$am.[14]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]

A) ~Xb ì`dñWmnZmMr VÎdo

~) J«mhH$ - H|${ÐV ~ZÊ`mMr ì ẁhaMZm

H$) A{YJ«hU Am{U {dbrZrH$aUmVrb gÚH$brZ àdmh

S>) ZdmonH«$_mbm MmbZm XoÊ`mgmR>r gaH$maMr ŷ{_H$m


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Q1) Multiple choice questions. (any six) [6]

i) The maximum term of appointment of Banking ombudsman is  _______

a) 3 years b) 3 months

c) 6 years d) 1 year

ii)  _______ has a positive effect on customer relationship management.

a) Customer education b) Rich customer

c) Poor customer d) All of above

iii)  _______ is the examples of technological development of banks.

a) Core banking b) Net banking

c) RTGS d) All of the above

iv) Green shoe option was introduced by __________

a) Finance minister b) Every company

c) SEBI d) NSE

v) Capital market is a market for ________.

a) Long term capital b) Short term capital

c) Fixed capital d) Working capital

vi) A ________ system is back-end system that processes daily banking
transactions and posts updates to accounts and other financial records.

a) Core banking b) Branch banking

c) Internet banking d) Unit banking

P.T.O.
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vii) Money market is a market for ________

a) Fixed capital b) Working capital

c) Long term capital d) Short term capital

viii) ________ can be exercised only on the expiration date by holder of the
option.

a) American option b) European option

c) Futures d) Derivatives

Q2) What is meant by NPAs? Discuss the legal and non-legal Recovery measures
for NPAs.  [14]

Q3) What is meant by core banking? Explain benefits of core banking. [14]

Q4) Describe the advantages and disadvantages of commercial paper.  [14]

Q5) Distinguish between BSE and NSE. Explain the functions and services by
recognized stock exchanges. [14]

Q6) Write short notes on. (any two)  [12]

a) Non-Performing Assets (NPA)

b) Internet Banking

c) Treasury Bills

d) SEBI


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Total No. of Questions : 6]

[6319]-70
M.Com. (Part - II)

 ADVANCED BANKING AND FINANCE
415 : Recent Advances in Banking and Finance
(2019 Pattern) (Credit System) (Semester - IV)

(‘amR>r ê$nm§Va)
doi : 3 Vmg] [ EHy$U JwU : 60

gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H«$. 6 gmoS>{dUo A{Zdm¶© AmhoV.
2) àíZ H«$. 2 nmgyZ àíZ H«$. 5 n §̀©V H$moUVohr VrZ àíZ gmoS>dm.
3) COì`m ~mOyMo A§H$ nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) ~hþn`m©̀ r àíZ. (H$moUË`mhr ghm) [6]

i) ~§¡qH$J bmoH$nmb {Z ẁº$sMr H$_mb _wXV .............. AgVo.
A) 3 df} ~) 3 _{hZo
H$) 6 df} S>) 1 df©

ii) ................ `m KQ>H$mMm J«mhH$ g§~§Y ì`dñWmnZmda gH$mamË_H$ n[aUm_ hmoVmo.
A) J«mhH$ {ejU ~) lr_§V J«mhH$
H$) Jar~ J«mhH$ S>) darb gd©

iii) ................ ho ~±H$m§À`m V§ÌkmZ{df`H$ {dH$mgmMo CXmhaU Amho.
A) H$moAa ~±H$s¨J ~) ZoQ> ~±H$s¨J
H$) AmaQ>rOrEg S>) darb gd©

iv) J«rZ ey {dH$ën hr gw{dYm ................ H$Sy>Z gwé H$aÊ`mV Ambr.
A) {dÎm _§Ìr ~) àË`oH$ H§$nZr
H$) go~r S>) amï´>r` amoIo ~mOma

v) ^m§S>db ~mOma ho ............. gmR>rMm ~mOma Amho.
A) XrK©H$mbrZ ^m§S>db ~) Aën _wXVrMo ^m§S>db
H$) pñWa ^m§S>db S>) H$m ©̀aV ^m§S>db

vi) .............. àUmbr hr ~±H$ A°ÊS> àUmbr Amho Or X¡Z§{XZ ~±qH$J ì`dhmam§da à{H«$`m H$aVo
Am{U ImVr d BVa Am{W©H$ Zm|X AÜ`mdV H$aVo.

A) H$moAa ~±qH$J ~) emIm ~±qH$J
H$) B§Q>aZoQ> ~±qH$J S>) ỳ{ZQ> ~±qH$J

PC4503
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vii) _Zr _mH}$Q> hm ........... gmR>r ~mOma Amho.

A) pñWa ^m§S>db ~) IoiVo ̂ m§S>db
H$) XrK©H$mbrZ ^m§S>db S>) AënH$mbrZ ^m§S>db

viii) .............. Mm dmna Ho$di Am°ßeZ YmaH$mÛmao H$mb~møZm VmaIobm Ho$bm OmD$ eH$Vmo.
A) A_o[aH$Z Am°ßeZ ~) ẁamo{n`Z Am°ßeZ
H$) â ẁMg© S>) S>oarìho{Q>ìh

à.à.à.à.à.2) EZ.nr.E. åhUOo H$m`? EZ. nr. E. dgybrgmR>r H$m`Xoera Am{U ~oH$m`Xoera Cnm`m§Mr MMm© H$am.[14]

à.à.à.à.à.3) H$moAa ~±qH$J åhUOo H$m`? H$moAa ~±qH$J Mo \$m`Xo ñnï> H$am. [14]

à.à.à.à.à.4) H$_{e©̀ b nonaMo \$m`Xo Am{U VmoQ>o gm§Jm. [14]

à.à.à.à.à.5) _w§~B© eoAa ~mOma Am{U amï´>r` eoAa ~mOma `m_Yrb \$aH$ gm§Jm. _mÝ`Vmàmá ñQ>m°H$ EŠgM|O Ûmao XoD$
Ho$bobr H$m }̀ Am{U godm ñnï> H$am. [14]

à.à.à.à.à.6) WmoS>Š`mV {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]

A) Zm°Z-na\$m°{_ªJ A°goQ²>g (NPA)

~) B§Q>aZoQ> ~±qH$J

H$) Q>óPar {~b

S>) SEBI


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Q1) Multiple Choice Questions : (Any 6) [6]

a) Poverty has an _______ effect on the environment and sustainable
development.

i) Adverse ii) Directionless

iii) Variable iv) Friendly

b) Marketing is a process which aims at _______

i) Production

ii) Profit making

iii) The satisfication of customer needs

iv) Selling products

c) The term digital marketing was first used in which

i) 1990 ii) 1920

iii) 1991 iv) 1910

d) The father of digital marketing is _______

i) Philip Kother ii) Justin Holl

iii) Peter Drucker iv) Bruce clay

e) ______ this is not an e-marketing webside.

i) Alibaba ii) Flipkart

iii) Wikipedia iv) Ebay
P.T.O.
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f) ______ strategy has the goal of increasing sales.
i) Purchasing ii) Promoting
iii) Marketing iv) Advertising

g) WWW.Flipkart.Com is example of _______
i) C2C E-Commerce, E-Business Model
ii) B2C E-Commerce, E-Business Model
iii) C2B E-Commerce, E-Business Model
iv) B2G E-Commerce, E-Business Model

h) The term sustainable was first used in which
i) 1972 ii) 1971
iii) 1970 iv) 1969

Q2) What is sustainable marketing? Describe the principles of sustainable marketing.
[14]

Q3) What do you mean by marketing strategy? Explain the various types of
marketing. [14]

Q4) What is digital marketing? Explain its importance.  [14]

Q5) What is retail trade? Explain its importance. [14]

Q6) Write short notes (any two)  [12]
a) Explain the difference between global & local marketing strategy.
b) Importance of sustainable development
c) Types of E-commerce
d) Advantages of digital marketing


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Total No. of Questions : 6]

[6319]-71
M.Com. (Part - II)

417 : RECENT ADVANCES IN MARKETING
Advanced Marketing - VII

(2019 Pattern) (Credit System) (Semester - IV)

(‘amR>r ê$nm§Va)
doi : 3 Vmg] [ EHy$U JwU : 60
gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H«$. 6 gmoS>{dUo A{Zdm¶© AmhoV.

2) àíZ H«$. 2 Vo àíZ H«$. 5 ¶m àíZm§n¡H$s H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌHo$Mm dmna H$amdm.

à.à.à.à.à.1) Imbrb n¶m©¶mn¡H$s EH$ n¶m©¶ {ZdS>m. (H$moUVohr 6) [6]

A) Jar~rMm n¶m©daUmda Am{U emídV {dH$mgmda .......... n[aUm‘ hmoVmo.

i) à{VHy$b ii) {XemhrZ

iii) n[adV©Zerb iv) ‘¡ÌrnyU©

~) {dnUZ hr EH$ à{H«$¶m Amho Á¶mMo CÔrï> ................... Amho.

i) CËnmXZ ii) Z’$m {‘i{dUo

iii) J«mhH$m§À¶m JaOm§Mo g‘mYmZ iv) CËnmXZ {dH«$s

H$) {S>OrQ>b ‘mH}$qQ>J hr g§km gd©àW‘ H$moUË¶m dfu dmnaÊ¶mV Ambr?

i) 1990 ii) 1920

iii) 1991 iv) 1910

S>) {S>OrQ>b {dnUZmMo OZH$ .............. AmhoV.

i) {’${bn H$moQ>ba ii) OpñQ>Z hm°b

iii) nrQ>a S´>H$a iv) ~«wg ³bo

B) ............ ho B©-{dnUZ g§Ho$VñWi Zmhr.

i) A{b~m~m ii) pâbnH$mQ>©

iii) {dH$snr{S>¶m iv) B©~o

PC4504
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’$) .............. YmoaUmV {dH«$s dmT>{dÊ¶mMo C{Ôï> Amho.

i) IaoXr ii) àMma

iii) {dnUZ iv) Om{hamV
¶) WWW.Flipkart.Com ho H$emMo CXmhaU Amho?

i) gr Qy> gr - H$m°‘g©, B©-{~PZog ‘m°S>ob ii) ~r Qy> gr - H$m°‘g©, B©-{~PZog ‘m°S>ob

iii) gr Qy> ~r - H$m°‘g©, B©-{~PZog ‘m°S>ob iv) ~r Qy> Or - H$m°‘g©, B©-{~PZog ‘m°S>ob

a) emídV hr g§km gd©àW‘ H$moUË¶m dfu dmnaÊ¶mV Ambr?

i) 1972 ii) 1971

iii) 1970 iv) 1969

à.à.à.à.à.2) emídV {dnUZ åhUOo H$m¶? emídV {dnUZmÀ¶m VËdm§Mo dU©Z H$am. [14]

à.à.à.à.à.3) {dnUZ YmoaU/ì¶whaMZm åhUOo H$m¶? {dnUZ YmoaUmMo/ì¶whaMZoMo {d{dY àH$ma ñnï> H$am. [14]

à.à.à.à.à.4) {S>{OQ>b {dnUZ åhUOo H$m¶? {S>{OQ>b {dnUZmMo ‘hÎd ñnï> H$am. [14]

à.à.à.à.à.5) {H$aH$moi ì¶mnma åhUOo H$m¶? {H$aH$moi ì¶mnmamMo ‘hÎd ñnï> H$am. [14]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]

A) OmJ{VH$ Am{U ñWm{ZH$ {dnUZ ì¶yhaMZm ’$aH$ ñnï> H$am.

~) emídV {dH$mgmMo ‘hËd

H$) B©-H$m°‘g© Mo àH$ma

S>) {S>{OQ>b ‘mH}$qQ>JMo ’$m¶Xo


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